___ EEEAG 2022/7/12
BRERH XM E—o%
XM EAid® - = ZED V1114 | gyalm %
RRCHE)=2d [EZ(CRA) F[A@GERH;)| JAL [JTA/RAC| HNDOKA | OKAMMY| 28,100 63% | F:28,300, £:29,000, £:31,700, H:27,400
BH% |78 (%) |[JTA/RAC| __JAL | MMYOKA| OKAHND | 28,100 63% 27,900, £:26,100, H:30,300
HECRAE) =R ["RECAE)X|FE G| JAL |ITA/RAC| HNDOKA | OKAISG 28,800 65% 32,300, H:27,900
KB (BETE)| JAL JTA | HNDKIX | KIXISG 40,800 56%
AiE% |48 (IBH) [JTA/RAC|  JAL | ISGOKA | OKAHND| 27,400 67% . :26.000, H:30.300
KB (B =% Rl | KBR (B 6 [Rm (RE) | JAL JAL | ITMHND [HNDMMB| 29,100 65%
RGHFR) | JAL JAL | ITMSPK [ SPKMMB| 32,900 60%
Zimpl% [EERCEA)| JAL JAL _|MMBHND| HNDITM 29,300 65% : £:29,400, 1:25,900, H:30,300
ROHFR) | JAL JAL__|MMBSPK]| SPKITM 34,100 58% 7:33.800. £:33,400, 1:33,100, H:35.800
KB (B#E) =% Rl | KRR (BS#E) ¢ [Rm (RE) | JAL JAL | KIXHND |[HNDMMB| 26,600 68% 8,400, H:27,800
ROHFR) | JAL JAL | KIXSPK [SPKMMB| 30,800 62% 430,100, £:32,300, H:30,400
Zimpl% [EERCEA)| JAL JAL | MMBHND| HNDKIX 28,200 66% . £:28,500, £:26,500, H:31,300
IRGHFR) | JAL JAL | MMBSPK]| SPKKIX 29,200 64% :28,900, %:29,600, £:30,100, H:30,400
KB (A1) =181l | KR (R % FIE) | JAL JAL [ ITMHND | HNDAKJ 28,000 66% |£:29.900, +:32,000, H:30,400
JENTE: )| JAL JAL | AKJHND | HNDITM 27,900 66% | A€+ H:28,000
KBx (BEFE) =B)II | KRR (B8FE) 5 )| JAL JAL | KIXHND | HNDAKJ 28,000 66% |£:29.900, +:32,000, H:30,400
[ JAL JAL | AKJHND | HNDKIX 27,500 66% <+ H:28,000
KB () =8k )| JAL JAL | ITMHND | HNDKUH 26,800 67% | A:27.300, £:27,700, +:29,100, H:29,300
[ JAL JAL | KUHHND | HNDITM 28,100 65% | :28,300, £:30,200, 1:27,100, H:29,900
KBz (BEE) =8I )| JAL JAL | KIXHND | HNDKUH 25,700 68% 3 A#£:26,100, 1:28,500. H:29,000
[ JAL JAL | KUHHND | HNDKIX 27,000 67% |£::29,300, £:27,600, H:30.900
KR () =% L )| JAL JAL | ITMHND [HNDOBO| 29,200 64% | A:29,600, £:30,100, £:29.000, H:29,300
)| uAL JAL | OBOHND| HNDITM 27,100 66% |A:27.300, £:28,600, £ H:28,000
KBz (B§EE) =5 )| JAL JAL | KIXHND [HNDOBO| 26,100 67% | A AK#£:26,500, £:27,800, H:29,000
[ JAL JAL | OBOHND| HNDKIX 26,000 68% |4::27.700, £:28.400, H:29.000
KB (571 =it ) JAL JAL | ITMHND | HNDHKD 27,000 62% | +:27.800, H:27.700
)| uAL JAL | HKDHND | HNDITM 27,900 61% |4 30,300, +:25,000, H:30,400
KBz (BSTE) =BKEE )| JAL JAL | KIXHND [ HNDHKD 25,800 64% 26,400, H:27,400
)| uAL JAL | HKDHND | HNDKIX 26,800 63% |2 25,400, H:31,400
K (7FH ==iR | KR (FFH | )| JAL JAL [ ITMHND | HNDMSJ 24,200 65% |4 22,500, H:22,400
ZR%E )| uAL JAL | MSJUHND [ HNDITM 24,300 65% |4 %::25,800, & H:23,200
AR (BfE) ==iR | KB (BiF8) 5 )| JAL JAL | KIXHND | HNDMSJ|  21.400 69% % H:21,800, £:22,000
ZR% )| uAL JAL | MSJHND | HNDKIX 23,200 67% | %::24,900, +:23,000, H:24,200
KR () =12 [ KBR (5 % JAL JAL | ITMIZO | IZOOKI 18,500 54% KA+ H:18,100. £:18,700
ECE JAL JAL | OKIZO [ 1ZOITM 19,000 53% :19,600, +:19,900
KB (A =18F & [ KR (FFD % JAL JAL | ITMKOJ | KOJTNE 21,600 58% A1:22,100, 7K:21,100, £:22.200
BIER JAL JAL | TNEKOJ [ KOJITM 22,000 57% | FsKkA:21,000, £:22,900, £:22 400, H:24,000
KR (FFH =28 (KRG8 GE)|  JAL [JTA/RAC| ITMOKA [OKAMMY| 30,100 56% | F:30,200, £:31,500, £:32,700. H:27,600
Eo%E | BFE) [JTA/RAC]  JAL |MMYOKA[ OKAITM 30,100 56% | H £:30,200, £:29,500, H:32,900
Kk (BEf) ==& | XMk (B9FE) &|F#E(FF)| JTA [ITA/RAC| KIXOKA |OKAMMY| 33,300 51%
E=o%E | F@GRE) |[JTA/RAC]  JTA [MMYOKA| OKAKIX 33,300 51%
KB (FFFH) =F1E (KRG R[4 FH)|[  JAL _[JTA/RAC| ITMOKA | OKAISG 29,800 60% | £:31.200, +:32,300, H:27.100
AiE% [0 |JTA/RAC| JAL | ISGOKA | OKAITM 27,700 63% | £:27.300, H:30,500
Kk (BET8) =RiE [ XMk (ESFE) F|FE(FF)| JTA [ITA/RAC| KIXOKA | OKAISG 33,800 55%
AiEH P48 (BFR)[JTA/RAC| JTA [ ISGOKA | OKAKIX 33,100 56% |H <+ H:33,800
2HE (FH) =%E5 REFTR|  JAL JAL | NGOSPK|SPKMMB| 32,900 57%
JAL JAL__|MMBSPK|SPKNGO| 27,800 64% :27,000. :28,500, £:30,000, 1:28,200. H:29,700
AHE(PE) =% JTA _|JTA/RAC|NGOOKA|OKAMMY| 34,300 53% :34,800, JK7K:34,400., £:34.900, £:35,100, H:34.600
JTA/RAC| JTA |MMYOKA|OKANGO| 17,500 76% :35,100, 7K:34,800, A:34,600, £:34,900, H:35,200
ZEE(FE) =HIE|[&H! JTA _|[JTA/RAG|NGOOKA[ OKAISG 34,500 57% > 9:34.900, 1:35.100
JTA/RAC| JTA | ISGOKA [ OKANGO| 18,300 77% H:22,000, £:21,000, £:20,800
FLIR (B FaR) = /M2 [4LIR (31 F %) 5 JAL JAL | SPKHND [ HNDKMQ| 26,900 63% A . #:27,300, 1:25,600, H:31,000
MR FE ) JAL JAL _|KMQHND | HNDSPK | 27,300 63%
ARFTR) —AROE[ILEFHTH R )| uAL JAL | SPKHND [HNDSHM| 31,500 62% & :31,800
BT RS )| JAL JAL | SHMHND | HNDSPK| 31,100 62% |A: . £:31,700
FLIR R F %) =FELL | 4LIR G F %) % )| JAL JAL | SPKHND | HNDOKJ 31,000 63% | A:31.400, £:31,300, £:29.000. H:32,300
[SIIE:S )| JAL JAL [ OKJHND | HNDSPK 28,300 66% 3 7k:27,900, A:28,700, £:29,700, +:31,300, H:29,100
IR GRFRR) = LS [ALIRGTTR) )| JAL JAL | SPKHND | HNDHIJ 31,800 62% | £:32,200, +:31,600, H:33.100
INEES )| uAL JAL | HIJHND | HNDSPK| 31,700 63% | H7k:31,200, A:32,000, % +:33,100, H:31,300
AREFTR) = IWOFH[LEFHTFH R )| uAL JAL | SPKHND [ HNDUBJ| 28,500 68% |£::28,400, +:26,800, H:34,700
WOFEFE )| JAL JAL__| UBJHND [ HNDSPK| 30,100 66% | /:30,800, £:33,800, 1:34,700, H:30,000
IR G F ) =HE AR FTHR) # )| JAL JAL | SPKHND | HNDIZO 31,000 62%
HER )| JAL JAL | IZOHND | HNDSPK 31,000 62%
IR GRFRR) =B ARG TR % )| JAL JAL | SPKHND | HNDTKS 32,200 61% 28,100
| uAL JAL | TKSHND [ HNDSPK| 32,200 61% 31,200, H:29,300
IR FFR) =2 )| JAL JAL | SPKHND | HNDTAK | 33,000 60% | +:30.500
)| uAL JAL | TAKHND [ HNDSPK| 33,000 60% | 7k:30,600, A:31,400
HIREFTFR) =2 )| JAL JAL | SPKHND | HNDKCZ |  34.200 60% | +:29.600
)| uAL JAL | KCZHND [ HNDSPK| 31,600 63% | Hk:31,100, A:31,900. £:33,900, + H:34,200
FLIR (B Fm) =il )| JAL JAL | SPKHND [ HNDMYJ| 34,700 60% | £:35.400, 1:34.400, H:36.200
)| uAL JAL | MYJHND | HNDSPK| 35,400 59% | 7K:34,700, A:35,500. % +:36,200, H:35,300
ALIR (FF ) =4t Am )| JAL JAL | SPKHND | HNDKKJ 34,700 62% | £:33.000
)| JAL JAL | KKJHND [ HNDSPK| 33,000 64% | 33,800, £ T H:34.700
HIRFFR) =KD )| JAL JAL | SPKHND | HNDOIT 32,100 65% | F:32.900, 7K:32,500, 7:33.000, £:34,200, H:34,700
)| uAL JAL | OITHND [ HNDSPK| 33,300 63% | F:33,700, 7K:34,100, A:34,400, 34,700
FLIR R FaR) = RIS ARG TR % )| JAL JAL | SPKHND [ HNDNGS| 32,200 66% | F:32,600, A:33,000, £:33,800. 1:34,500. H:36.400
RIG% )| JAL JAL__|NGSHND | HNDSPK| 33,700 64% |/:34,400, % +:36,400, H:33,900
FLIR (B FaR) =B [ALIR (3 F i) 5 )| JAL JAL | SPKHND | HNDKMJ 31,900 65% | F:32,700, 7K:32,300, A 1:33,300, £:34.200. H:35.600
AR )| JAL JAL | KMJHND | HNDSPK| 32,900 64% | H:33.300. A:33,200, % +:35,600, H:32,500
FLIR (BT FaR) =B [4LIR (31 Fi%) 5 )| JAL JAL | SPKHND | HNDKMI 31,700 65% | F:32.100, A:32,500, £:32,600. H:36.400
EIGF HCEE)] JAL JAL | KMIHND [ HNDSPK| 32,900 64% _|7K:33.300, A:33,600, % 1:36,400, H:32.400
AR (FHFR) =FERB[4LR TR R RFCAH)| JAL JAL | SPKHND [ HNDKOJ 32,600 66% | A 7A:33,800, 7kK:30,200, £:33,600, +:34,600. H:39.600
BERES ROEE)| JAL JAL | KOJHND [ HNDSPK| 33,700 64% |7K:32,900, A:33,600, %:37,400, +:39,200, H:34,100
AR TR = B8 [ AL (F F3%) R[RR CHE) | JAL JAL | SPKHND [ HNDOKA| 34,900 64% | /:35,100, £:37,300, 1:39,600, H:41,800
KER(EFH | JAL JAL | SPKITM | ITMOKA 21,900 78% | A:22,300, £:24,000, H:23,400
AEE(PE)|  JAL JTA | SPKNGO |NGOOKA| 33,300 66% | F:34.400, A:39.300, £:37,100. £:36.600, H:41,800
12 JAL JTA | SPKFUK | FUKOKA | 36,600 64% |t H:38,300
hHE(RER) SR CREA) | JAL JAL | OKAHND | HNDSPK| 34,400 64% |A:35.200, £:36,000, £:37.100. H:39,300
KRER(EFH|  JAL JAL | OKAITM | ITMSPK 21,900 78% | A:22,300, £:23,400, H:26,000
ABR (BiFE) [ JTA JAL | OKAKIX | KIXSPK 24,500 75% K A%#:24.400. £:26,300, H:27.400
aEE(PE)|  JTA JAL__|OKANGO|NGOSPK| 29,700 70% _[H:31,000, 7k K:28,600, £:29,100, :29,200, H:32,400
12 [E JTA JAL | OKAFUK | FUKSPK 36.600 64% 37,700 38,300
IR (FFR) =H1E 4R G T % RE CHE) [ JAL JAL [ SPKHND | HNDISG 42,100 65% 41,500, +:43,900, H:45,400
RIEH R CHE) | JAL JAL | ISGHND | HNDSPK 40,500 66% 41,300, £:41,500, 1:45,000, H:45,300
[BEERE] JTA JAL [ ISGNGO [NGOSPK| 47,500 59% 47,600, +:48,800, H:49,800




FLIE (B TR) == [4LIR G T | RS2 (hh) | JAL JTA | SPKNGO |[NGOMMY| 46,500 59%
128 =23 Rl (RS R CHE)| JAL JAL | FUKHND [HNDMMB| 36,900 64%
FFR)|  JAL JAL | FUKSPK | SPKMMB| 33,500 64%
ZiGRlFE ([RE(CRE)|  JAL JAL _|MMBHND | HNDFUK 36.200 64%
FFR)|  JAL JAL__|MMBSPK| SPKFUK | 28,700 70% | F:28,100, £::30,600, £:30,100, H:29,800
2R =1l L E RCHE)|  JAL JAL | FUKHND | HNDAKJ 36,900 63%
JENES FCHA)|  JAL JAL | AKJHND | HNDFUK 33,200 67% | FA:33,400, £ H:36,900, 1:36,200
(R FH)|  JAL JAL | FUKHND | HNDKUH 34,600 65% | A:35.100, £:35.400, + H:36.400
| uAL JAL | KUHHND [ HNDFUK | 35,000 65% | /:35,400, % H:36,400
B =%k )| JAL JAL | FUKHND [HNDOBO| 36,000 63%
)| uAL JAL | OBOHND| HNDFUK | 34,000 65% | A:34,400, £ H:36,000, F:35800
[HEEET )| JAL JAL | FUKHND | HNDHKD 34,600 61% |£:36.200, £:35.800, H:38,100
| JAL JAL | FUKITM [ ITMHKD 30,800 62% K H:31,000, £:33,500, £:32,100
)| JAL JAL | HKDHND | HNDFUK | 33,800 62% |4::37.200, £:33,200, H:38,700
[ JAL JAL | HKDITM [ ITMFUK 28,500 65% | 4::30,900, H:29,500
EE=5F% )| JAL JAL | FUKHND | HNDAOJ| 23,000 74% |1 H:23.800
[ JAL JAL | FUKITM [ ITMAOJ 24,300 69% |/:24,700, £:28,000, £:25500, H:25,400
[ JAL JAL | AOJHND | HNDFUK | 23,000 74% &+ H:23.800
[ JAL JAL | AOJITM | ITMFUK 25,000 68% |£::29,500, +:26,100, H:27.500
)| uAL JAL | FUKHND [ HNDMSJ| 21,000 76% |4
)| JAL JAL | MSUHND | HNDFUK | 21,000 76% |4 21,
)| JAL JAL | MSJITM | ITMFUK 32,100 59% 7K A:29.000, £:32,300, H:33,100
=R =MA )| JAL JAL | FUKHND | HNDAXT | 32,400 60% |£:32,300, +:25.800, H:26,900
)| JAL JAL | AXTHND | HNDFUK 31,300 61% | A:31.700, £:35.000, 1:27.400. H:28,000
| uAL JAL | AXTITM [ ITMFUK 24,600 66% | H kA:23,600., %:28,300, +:25,900, H:26,900
&=L )| JAL JAL | FUKHND | HNDGAJ 24,900 65% | £:26.400, +:25100, H:27.900
| uAL JAL | FUKITM [ ITMGAJ 30,500 58% | £:29,900, H:28,000
)| JAL JAL | GAJHND [ HNDFUK | 24,100 66% | :25,600, £:27,100, +:27,200, H:23,700
[ JAL JAL | GAJITM | ITMFUK 28,400 61% | AH:30,500, £:31,300, +:29.600
2R = /MR )| JAL JAL | FUKHND [ HNDKMQ| 25,600 67% | F+:26,400, £ H:26,700
JAL JAL _|KMQHND| HNDFUK | 26,700 66%
EE=2% JTA _|JTA/RAC| FUKOKA [ OKAMMY| 26,400 56%
JTA/RAC| JTA |MMYOKA| OKAFUK| 26,400 56%
BRI =H1E JTA _|JTA/RAG| FUKOKA | OKAISG 26.600 60%
JTA/RAC| JTA | ISGOKA | OKAFUK| 26,600 60%
XiGR =1E% )| JAL JAL | MMBSPK| SPKHNA|  27.300 56%
JAL JAL__| HNASPK [ SPKMMB| 27,300 56%
iRl =Il& JAL JAL | MMBSPK | SPKSDJ 25,100 62%
JAL JAL | SDJSPK [ SPKMMB| 25,100 62%
iR =i i JAL JAL | MMBSPK| SPKKIJ 26,300 61%
B JAL JAL | KIJSPK | SPKMMB| 26,300 61%
ESHTEINA ) HHE) | JAL JAL _|MMBHND|HNDKMQ| 26,400 68% | A A:26,800, £:25.800, 1:25,700. H:28.900
I RCRE)| JAL JAL _|KMQHND|HNDMMB| 27,300 67% |£::28,200, £:28,900, H:29.000
i A =&l ESEES FCRME)| JAL JAL _|MMBHND | HNDOKJ 30,800 67% | F:31,200, A:31,600, £:30,900. +:27,500. H:32,900
[GIIE:S RCPHE)|  JAL JAL [ OKJHND [HNDMMB| 31,100 67% | £:30,700, +:33,300, H:30,800
SR ESEGES FCRME)| JAL JAL _|MMBHND| HNDHIJ 31,200 67% | A A:31,600, £:31,400, £:29.000, H:33.600
L&% FCRE)| JAL JAL | HIJHND [HNDMMB| 31,700 66% |2 H:32,600, 1:33,300
PRHTFR) | JAL JAL | HIJSPK | SPKMMB 30,700 65% | 7K:30.400, A:31.100, £:32,100, 1:32.400
Zimpl=tHE ESTEES HCHAE)|  JAL JAL _[MMBHND| HNDIZO 35,900 61%
HER HCHE)| JAL JAL | IZOHND [HNDMMB| 35,900 61%
ZimAl =40 STk RCRHE)|  JAL JAL _|MMBHND | HNDMYJ 34,500 64% | A K:34,900, £:35,000, +:31,600, H:37,200
NI RCRA)|  JAL JAL | MYJHND [HNDMMB| 34,600 64% | A KA:33.100, £:34,000, 1:34,700, H:36,000
ZimBl=FH1E ESEES RCRHE)|  JAL JAL _|MMBHND| HNDISG 44,200 66% | A K:44,600, £:43600, 1:44 500, H:46.400
RIEH RCEE)| JAL JAL | ISGHND [HNDMMB| 42,800 67% |%:43,700, +:45.400, H:47.000
TR =/ JENIE: RCRHE)|  JAL JAL | AKUHND [HNDKMQ| 26,100 68% | £:26,600, +:28 400, H:28,600
AN FE RCPE)|[ JAL JAL | KMQHND | HNDAKJ 29,400 64% | H:29.800, A€ H:29.900, £:32,000
BII=FkaE JENIE:S RCRHE)|  JAL JAL | AKJHND | HNDSHM 26,500 70% | H:27.300, 7K A:25,800, £:29,200, 1:28,900. H:30,300
BfCEESR [RECHA)| JAL JAL | SHMHND | HNDAKJ 34,400 62% | F:35.000, A 35,400, £:36,000, H:36,600
TNI=REl JENIES RCRHE)|[  JAL JAL | AKJHND | HNDOKJ 28,300 69% [H:29.100, 30,700, H:32,800
[EES RCEE)| JAL JAL | OKJHND | HNDAKJ | 31,800 65% |7k:31,400, K: :33,500, £:36,000. H:33,900
BIN=HE ENIE:3 HCRA)| JAL JAL | AKJHND | HNDIZO 35,900 60%
HE RCHE)| JAL JAL | IZOHND | HNDAKJ 35,900 60%
FEIN=H21L JENES ROEE)| JAL JAL | AKJHND [ HNDMYJ| 31,700 66% | F:31,500, 7kK:31,300, £:35,100, +:34,100, H:37,800
[N RCRA)|  JAL JAL | MYJHND | HNDAKJ 37.100 60% :35,600, A:36.400, £:37.700, 1:39,400, H:35.400
JENTEE =R JENIE: FCHA)| JAL JAL [ AKJHND | HNDISG 43,900 65% 47,000, H:46,100
RIEHE RCRA)|  JAL JAL | ISGHND | HNDAKJ 44,600 65% :44,700, £:45,600, 1:46,800, H:46.400
Sipg =/ a El e HCHA)|  JAL JAL [ KUHHND [HNDKMQ| 25,200 69% |£:26,600, +:27,000, H:28,500
IS ROHHE)|  JAL JAL | KMQHND [ HNDKUH 25,000 69% | A%:25500, £:27,800, H:30.200
I5% =Rl L FlEE RCPHE)|  JAL JAL | KUHHND | HNDOKJ 29,600 67%  [A:30,000, £:31,700, 1:28,800, H:33,500
[N RCHE)| JAL JAL | OKJHND | HNDKUH 28,800 68% |4 . £:28,000, 1:32,200, H:32.500
SIR=1L58 SIER 5 HCHEA)|  JAL JAL [ KUHHND | HNDHIJ 30,000 67% £:30,200, H:33,500
LE% RCRE)| JAL JAL | HIJHND | HNDKUH 29,400 68% |A:29,900, £:30,800, £:32,200. H:33,800
S =HhE FlE e HCEE)|  JAL JAL [ KUHHND | HNDIZO 35,900 60%
HE RCHE)| JAL JAL | IZOHND | HNDKUH 35,900 60%
gpg =42l FlE e FCRE)| JAL JAL | KUHHND [ HNDMYJ| 33,300 64% | £:353800, 1:32,900, H:38,500
[N HCHE)| JAL JAL | MYJHND | HNDKUH 32,300 65% | F7K:30,800, A£:31,300, £:33.600, H:37.200
gik=5h18 FlEE HCHEA)| JAL JAL [ KUHHND | HNDISG 42,800 66% | £:43600, +:45800, H:45.400
RIESH RCEE)| JAL JAL | ISGHND [HNDKUH| 41,500 67% | A£:42,100, +:45.400, H:48200
HE=/MR LS RCPHE)|[  JAL JAL | OBOHND|HNDKMQ| 24,600 69% |$::25400, £:27,800, H:26,600
IS HCER)| JAL JAL _|KMQHND|HNDOBO|  26.600 67% | HA%£:26,800, £:28.300, H:30.200
HIE=FEL HLFE FCHA)|  JAL JAL [ OBOHND| HNDOKJ 28,600 68% |/:29,000, £:30,100, £:30,000, H:31,600
FELL % HCER)| JAL JAL | OKJHND [HNDOBO|  30.400 66% | £:29.100, +:31,000, H:31.200
HLE=HE BILFE FCHA)|  JAL JAL _[OBOHND| HNDIZO 35,900 59%
HE HCRE)| JAL JAL | IZOHND [HNDOBO| 35,900 59%
FLE=H1L LS RCRHE)|  JAL JAL | OBOHND | HNDMYJ 32,300 65% | £:34,200, +:33,700, H:36,600
[N RCRE)|  JAL JAL | MYJHND [HNDOBO| 34,100 63% | F A£:33,000, 7K:32,600, H:37.200
HLE=F1E HLSE FCHA)|  JAL JAL _[OBOHND| HNDISG 42,400 66% 3,200, 1+:46,600, H:44,200
RIEH RCRA)|  JAL JAL | ISGHND [HNDOBO| 43,200 66% 4,200, F:48,200
BAE=/MA BEEF FCHA)|  JAL JAL [ HKDHND [HNDKMQ| 25,000 65% 6,700, +:
INRFE ROHHE)|  JAL JAL | KMQHND [ HNDHKD 25,800 64%  [£:27.800,
AR =FE Ll BAESE FCHA)|  JAL JAL | HKDHND | HNDOKJ 28,900 64% |£:30.600
FELL % RCRE)| JAL JAL | OKJHND [ HNDHKD | 28,800 65% | £:29.200, 1
BHEE=LE8 BRAESE FCRE)| JAL JAL [ HKDHND | HNDHIJ 29,800 64% | £:32300, t:
LB HCER)| JAL JAL | HIJHND [ HNDHKD| 29,400 64% | £:31.700, £
EHEE=HE S HCHA)| JAL JAL [ HKDHND | HNDIZO 34,800 56%
ABR(RF | JAL JAL | HKDITM | ITMIZO 26,600 65% |£:26.800, H:27.100
HE HCHA)| JAL JAL | IZOHND | HNDHKD 34,800 56%
ABRFFD]  JAL JAL | 1ZOITM [ ITMHKD 29,600 61% | FAAH:29.800. %:30,900, 1:30.800




BEE =L S HCHA)|  JAL JAL | HKDHND | HNDMYJ| 33,100 60% :35,900, £:30,700, H:38,800
ABRRFD | JAL JAL | HKDITM | ITMMYJ 26,000 65% | F:26.400
PATTES HCHEA)| JAL JAL | MYJHND | HNDHKD 32,300 61% | A7KA:30,800, £:32,500, 1:32,600, H:35,600
ABR(RF | JAL JAL | MYJITM | ITMHKD 29,000 61% | FAAH:29.200. %:30,100, 1:30.600
EEE=dt M EAER |HS(PHE)| JAL JAL [ HKDHND | HNDKKJ 28,100 69%
dAMSE [RRCHE)| JAL JAL | KKJHND | HNDHKD 28,100 69%
HEE=K5 WEX [EECHE)| JAL JAL [ HKDHND | HNDOIT 21,900 75% &+ H:22,500
ABR(RF | JAL JAL | HKDITM | ITMOIT 30.600 60% | HKAE:29,300, £:30,500
K5 HCHA)| JAL JAL | OITHND | HNDHKD 21,900 75% &+ H:22,500
ABR(RF | JAL JAL OITITM | ITMHKD 32,400 58% 31,300, 7K:31,100. £+ H:33.400
HE=RI& EWEER [EZE(PE)| JAL JAL [ HKDHND | HNDNGS| 22,400 76% :23,000
ABR(RF | JAL JAL | HKDITM [ ITMNGS 30,800 64% 00, 7k A £:29,300, H:32,000
RIGSE HCHEAE)| JAL JAL | NGSHND | HNDHKD 22,400 76% ,000
ABR(RF | JAL JAL | NGSITM | ITMHKD 33,800 60% ,500, 7K:32,300, £:34.400, £:34,700
EWEER [EZE(PE)| JAL JAL | HKDHND | HNDKMJ 22,400 75% :23,000
ABR(RF | JAL JAL | HKDITM | ITMKMJ 29,300 64% )E! :29.800, JKA:29,500, £:30,200. £:27,500. H:29.700
A% |[EmR@EE)| JAL JAL [ KMJHND [ HNDHKD | 22,400 75% %+ H:23,000
ABR(RF | JAL JAL | KMJITM | ITMHKD 32,300 61% )E! B: 32 100, 7K:31,100, A:31,300, £:33,800, £:33,900
=215 EWEER [EZE(PE)| JAL JAL [ HKDHND | HNDKMI 22,400 75% H:23,000
ABR(RFD | JAL JAL | HKDITM | ITMKMI 32,100 61% A+£:30.100, H:31.300
=R  |[ER(PE)| JAL JAL [ KMIHND [ HNDHKD | 22,400 75% 3,000
ABR(RF | JAL JAL | KMITM | ITMHKD 34,600 58% ,900., 7K:32,700, 1:34,500
HE=ERS EWEER [EZE(PE)| JAL JAL [ HKDHND | HNDKOJ 22,400 76% ,000
AR (R | JAL JAL | HKDITM | ITMKOJ 29,600 66% 7k:28.600. 1:28.500. H:30.900
B% [EZ(CRE)] JAL JAL | KOJHND [ HNDHKD | 22,400 76% %+ H:23000
AR JAL JAL | KOJITM [ ITMHKD 32,100 63% | FA:31,300, JK:31,100, £:33,700, +:32,700, H:31,700
EHEE=FA1E BAESE RCEE)| JAL JAL__| HKDHND | HNDISG | 42,100 64% | :42,400, 1:43,600, H:43,400
RIEHE ROHHE)|  JAL JAL | ISGHND | HNDHKD 43,200 63%  |£:44.400, £:45,000, H:46,600
FHE=/IM F* HCHA)| JAL JAL | AOJHND | HNDKMQ 14,800 79% 4
IS ROHE)|  JAL JAL | KMQHND [ HNDAOJ 15,300 78% |&tH:
EH=mkAE Ei HCHA)| JAL JAL | AOJHND | HNDSHM 26,900 66% % H:27.600. £.28.400
BfCEER [RECHA)| JAL JAL | SHMHND [ HNDAOJ|  27.800 64% % H:29.600
HFHE=RL % ROEE)| JAL JAL__| AOJHND | HNDOKJ| 24,600 69% | /:25,000, £:25:800, 1:23,600, H:26,100
FELLF RCRE)| JAL JAL | OKJHND [ HNDAOJ| 24,000 70% % H:24,300, £:24,600
BEHR=LB R ROEE)| JAL JAL | AOJHND | HNDHIJ 26,300 67% | A%£:26,700, £:25400, H:25900
LB RCHE)| JAL JAL | HIJHND | HNDAOJ|  26.100 68% | A JKAK:25.400, £:28,200, £:25,000, H:26.900
EHR=LOFH % ROEE)| JAL JAL__| AOJHND | HNDUBJ| 22,200 74% _|%:23,100, +:22,900, H:24,600
WOFAR%E [RR(CHE)|  JAL JAL | UBJHND | HNDAOJ 23,100 73%  |£:24.700, H:25,600
FH=HE EHER = )| JAL JAL | AOJHND | HNDIZO 29,600 62%
[ JAL JAL | AOJITM | ITMIZO 23,100 68% |£::25.400, £:24,200, H:25.100
HER FE)|  JAL JAL | IZOHND | HNDAOJ 29,600 62%
x D[ JAL JAL | 1ZOITM [ ITMAOJ 23,100 68% | A:23 00 425,400, £:24,200. H:25,500
EH=E HHE  [EmEE)| JAL JAL [ AOJHND | HNDTKS 20,300 74%
#me® |ER(CRHE)| JAL JAL | TKSHND [ HNDAOJ| 20,300 74%
BEHR=mh % |HECHEA)| JAL JAL | AOJHND | HNDTAK 20,200 74%
ER% |[ERCHE)| JAL JAL | TAKHND | HNDAOJ|  20.200 74%
BEHR=BH % |[Em(EE)| JAL JAL | AOJHND | HNDKCZ| 20,300 75% 21,300, T 24,100
BHE |[HR(CRE)| JAL JAL | KCZHND | HNDAOJ| 20,300 75% %1 H:24,000
FHER=m1L HHERE X )| uAL JAL | AOJHND [ HNDMYJ| 20,000 76% £+ H:20,500
PN [ JAL JAL | AOJITM [ ITMMYJ 22,500 69% |4
PATTES TCRE)| JAL JAL | MYJHND | HNDAOJ 20,000 76%
RER(RFD|  JAL JAL | MYJITM | ITMAOJ 22,500 69%
HHxR=dAM RERCEE)|[ JAL JAL | AOJHND | HNDKKJ | 21,800 75%
dAMSE [RRCHE)| JAL JAL | KKJHND | HNDAOJ 21,800 75%
BEHR=KS BEHRFE  [EEE)] JAL JAL__| AOJHND [ HNDOIT | 21,700 75%
ABRGRFD|  JAL JAL | AOJITM | ITMOIT 27,100 64% 800, 20,100 £:26.900. H28:600
K5 HCHA)| JAL JAL | OITHND | HNDAOJ 21,700 75% 500
ABRRF | JAL JAL OITITM | ITMAOJ 26,700 64% 400, £:28,700, £:27.900, H:29,200
BEHR=RE BEHRFE  [EEE)|] JAL JAL | AOJHND [HNDNGS| 23,200 74% H:24,000
ABR(RF | JAL JAL | AOJITM | ITMNGS 27.300 67% 400, 7K KR:25,800, £:29.400, 1:26.900, H:30.000
RiE% |[EZR(PE)| JAL JAL [ NGSHND | HNDAOJ 23,200 74% H:24,000
ABR(RF | JAL JAL | NGSITM | ITMAOJ 27.300 67% 25,800, 7:26,200, £:28,900, 1:28,800, H:27.000
BEHR=EX EHER RCEE)| JAL JAL | AOJHND [ HNDKMJ| 21,800 75% H:22,600
| JAL JAL | AQJITM | ITMKMJ 25,800 68% 26,300, 7K A:26,000, £:28,800, £:26.400, H:27.500
)| uAL JAL__| KMJHND | HNDAOJ| 21,800 75% &+ H:22,600
)| uAL JAL | KMJITM [ ITMAOJ 25,800 68% | F:25,400, 7K:24,600, 7:25,000, £:28,700, +:27,300, H:27,600
)| uAL JAL__| AOJHND [ HNDKMI | 21,800 75% H:22,600
)| JAL JAL | AOJITM | ITMKMI 28,600 64% |l 7k 26,600, £::30,700, £:28,100, H:29,300
[ JAL JAL | KMIHND [ HNDAOJ| 21,800 75% &+ H:22,600
| uAL JAL | KMITM | ITMAOJ 29,000 64% | H7kA:27,000, %:30,300, +:28,400, H:29,700
[ JAL JAL__| AOJHND [ HNDKOJ| 23,200 74% &+ H:24000
| uAL JAL | AOJITM | ITMKOJ 26,100 69% :25,100, %::28,200, £:26,500, H:27,900
)| uAL JAL | KOJHND [ HNDAOJ| 23,200 74% =+ H:24,000
)| uAL JAL | KOJITM [ 1ITMAOJ 25,600 69% | F7k:24,600. K:25,000, £:28,200, 1:26,100, H:27,400
)| uAL JAL | AOJHND [ HNDISG 38,000 67% | £:38,700, + H:40,500
FE) | JAL JAL | ISGHND | HNDAOJ| 38,000 67% 39,800, H:41,300
[ JAL JAL | MSUHND [HNDKMQ| 14,800 79% &+ H:15500
)| JAL JAL__|KMQHND| HNDMSJ| 15,300 78% £+ H:16,500
[ JAL JAL | MSUHND [ HNDOKJ| 25,800 67% | /:26,200, £:27,300, 1:24,000, H:26,800
)| uAL JAL | OKJHND [ HNDMSJ| 23,800 70% 7k K:23,400. £ H:24,000, £:24,200
[ JAL JAL | MSJUHND | HNDHIJ 26,200 67% |4::27.800, £:25,500, H:26.800
)| uAL JAL | HIJHND [ HNDMSJ| 26,200 67%
)| uAL JAL | MSUHND [ HNDUBJ| 23,400 72%
)| uAL JAL__| UBJHND [ HNDMSJ| 23,800 72% |%:24,400.
)| uAL JAL | MSUHND [ HNDIZO 29,600 62%
)| uAL JAL | IZOHND | HNDMSJ| 29,600 62%
)| JAL JAL | 1ZOITM [ ITMMSJ 29,600 60% 00, H:33.100
RED|  JAL JAL | MSUHND | HNDTKS| 19,300 75% 0,300
)| uAL JAL | TKSHND [ HNDMSJ| 19,300 75% ,300
)| uAL JAL | MSUHND | HNDTAK| 19,200 75% 500
[ JAL JAL | TAKHND [ HNDMSJ| 19,200 75% |4 500
)| JAL JAL | MSJHND | HNDKCZ | 19,300 76% |4 00. * H23.100
[ JAL JAL__| KCZHND [ HNDMSJ| 19,300 76% |4 3,000
FRED|  JAL JAL | MSUHND [ HNDMYJ| 19,000 77% 500
[ JAL JAL__| MYJHND [ HNDMSJ| 19,000 7% % 500
| uAL JAL | MYJITM | ITMMSJ 29,600 59% :31,800, £:27.400, £:30,000, H:33,300
; [ JAL JAL | MSUHND [ HNDKKJ | 19,800 77% &+ H:20,600
JEhms EEEER)| JAL JAL | KKJHND | HNDMSJ 19,800 77% %+ H:20,600




ZiR=K% HECHA)|  JAL JAL | MSJHND | HNDOIT 19,700 77% + H:20,500
HRECHE)| JAL JAL | OITHND | HNDMSJ 19,700 77% t F:20.500
ABRRFD|  JAL JAL OITITM | ITMMSJ 33,000 56% 3,900, 7K A:31,700, £:31,500, H:34,100
ZiR=K& HECHE)| JAL JAL | MSJUHND [ HNDNGS|  21.200 76% H:22,000
RCEE)| JAL JAL__|NGSHND | HNDMSJ| 21,200 76% &+ H:22,000
ABR(RF | JAL JAL | NGSITM | ITMMSJ 34,400 59% | H:33.900, /KA:31,700, %:30,700, +£:34.800, H:35.900
ZIR=KEX RRCHE)|  JAL JAL | MSUHND | HNDKMJ| 19,800 77% %1 H:20,600
HRECHE)| JAL JAL | KMJHND | HNDMSJ 19,800 77% %1 H:20,600
ABRRFD | JAL JAL [ KMJITM | ITMMSJ 33,000 59% | F:34.400, /K A:32,200, £:31,500, £:32,500, H:35.900
ZIR==5 HRECHE)| JAL JAL | MSJHND | HNDKMI 19,800 77% &1 H:22.600
ABRRFD | JAL JAL [ MSJITM | ITMKMI 35,300 56% | A7KA:30,300, £:33,500, 1:33,400, H:35,700
HRECHE)| JAL JAL | KMIHND | HNDMSJ 19,800 77% t H:22,600
ABRRFD | JAL JAL | KMITM | ITMMSJ 35,900 56% 4,100, %£:33,100, 1:34,400
HRECHE)| JAL JAL | MSJHND | HNDKOJ 21,200 76% |1 H:22,000
ABRRFD | JAL JAL [ MSJITM | ITMKOJ 33,700 60% 3 JKA:29,800, £:32,200., 1:32,900. H:34,600
HRECHE)| JAL JAL | KOJHND [ HNDMSJ|  21.200 76% |1 H:22.000
ABRRFD | JAL JAL [ KOJITM | ITMMSJ 32,700 62% | F:33,900, /K A:31,700, £:31,000, +:33,100, B:37.100
ZiR=%AE ROHHE)|  JAL JAL | MSJHND | HNDISG 39,200 66% |+ H:41.000
FCRE)| JAL JAL | ISGHND | HNDMSJ| 39,200 66% |t H:41,000
FRE =/ RCRME)| JAL JAL | AXTHND [ HNDKMQ|  17.200 73% %1 H:18.300
FCEE)|  JAL JAL _|KMQHND| HNDAXT| 17,100 73% &t A:
MHE=mREE RCHE)|  JAL JAL | AXTHND [ HNDSHM| 26,300 63%
ROEE)| JAL JAL | SHMHND | HNDAXT | 26,300 63% :
FhE =FE L FCRME)| JAL JAL | AXTHND [ HNDOKJ 25,900 64% | A%:26,300, £:19,600, H:22.400
ROEE)| JAL JAL | OKJHND [ HNDAXT | 24,300 67% | FskA:23,900, +:19.800, H:19.600
MBE=LE FCRME)| JAL JAL | AXTHND | HNDHIJ 28,000 62% | £:22,500, H:22.200
RHCRE)| JAL JAL | HIJHND | HNDAXT | 25,900 65% JK:25,400. £:28,000. F:20,600, H:21,000
ME=LAFEH FCRME)| JAL JAL | AXTHND | HNDUBJ 23,700 70% 2:25,500, £:19,000, H:20.900
ROEE)| JAL JAL__| UBJHND [ HNDAXT | 24,300 69% 5,100, +:19,400, H:19,700
ME=HE [EZCHE)| JAL JAL | AXTHND | HNDIZO 26.300 63% z H:27.300
ABRRFD | JAL JAL | AXTITM | ITMIZO 23,500 66% 7k A:22,500, £:24,700, +:25,000, H:24,500
HE HRECHE)| JAL JAL | IZOHND | HNDAXT |  27.600 61%
KRER(EFD|  JAL JAL 1ZOITM | ITMAXT 22,700 67% 7k A:21,700, £:24.200, + H:24,000
ME=fS A% |HERCHME)| JAL JAL | AXTHND | HNDTKS 20,200 72%
BmEXE |[FFCAAE)| JAL JAL [ TKSHND | HNDAXT | 20,200 72%
ME=51k #MEH |HERCHME)| JAL JAL | AXTHND | HNDTAK |  20.200 72%
BR%  [ER(CEE)| JAL JAL | TAKHND [ HNDAXT | 20,200 72%
ME=5 A% |[HERCEME)| JAL JAL | AXTHND | HNDKCZ | 20,300 73%
BH%E |[EFCHE)| JAL JAL | KCZHND | HNDAXT 20,300 73%
FE=1L MEH [EZR(CEE)| JAL JAL | AXTHND [ HNDMYJ| 20,400 73% 20,900
ABRRFD|  JAL JAL | AXTITM | ITMMYJ 22,100 67% 7k A:21,100, £+:23 400, H:23.800
W% [ERCRE)| JAL JAL | MYJHND | HNDAXT | 20.400 73% %1 H:20,900
ABR(RFD | JAL JAL [ MYJITM | ITMAXT 22,100 67% | AsKA:21.100, £ H:23,400, £:23.800
FE=4LAM MEE [HRCRE)| JAL JAL | AXTHND | HNDKKJ 30,500 62% | +:25.600, H:28.800
JEhmS [HRCEAE)| JAL JAL [ KKJHND | HNDAXT | 29,000 64% | £:30,500, +:25,300, H:25,600
MBE=X% MEZX [EEREH)| JAL JAL | AXTHND | HNDOIT 27,100 66% | F A:27,900, 7K:27,500, £:30,500. £ H:23,400
KRER(EFH|  JAL JAL [ AXTITM | ITMOIT 26,700 62% | FsKAK:24.400, £:27,900, H:28000
AoFE ([EEEEH)| JAL JAL | OITHND | HNDAXT| 27,500 65% | B A:27,900, 7K:28,300, %:29,100, £:23.000, H:23.400
KRER(EFH|  JAL JAL OITITM | ITMAXT 27,100 61% | F7KAK:24,800, £:28,200, 1:27,700, H:30,400
ME=RIZ MEX [EREREH)| JAL JAL | AXTHND [ HNDNGS|  27.100 68% | H:27.500, 7K:27,200, A:27.900. £:30,900, £:23,000, H:24,600
KIR(RFHD | JAL JAL | AXTITM [ ITMNGS 26,900 65% | F:25,000, 7KAK:24,400, £:28,200, £:26,700, B:29,400
RiE% |[ER(PE)| JAL JAL | NGSHND | HNDAXT 27,900 67% :29,900, +:23,800, H:24,600
ABR(RF | JAL JAL | NGSITM | ITMAXT 26,900 65% | F7KA:23.200, £:26,700, 1£:28,600, H:25,500
ME=fEX MERE [EZEE)| JAL JAL | AXTHND [ HNDKMJ| 27,600 66% | H:28,000, A:28,800, £:31,700, £:24,200, H:23,800
ABR(RF | JAL JAL | AXTITM | ITMKMJ 25,600 66% | F:24.900, 7K AK:24,600, %:28,100, £:27.200, H:27.100
A% |[EmR(@EE)| JAL JAL | KMJHND [ HNDAXT | 27,100 67% | H:27.500, K:26,700, £:27,900, +:23,400, H:22,600
ABR(RF | JAL JAL | KMJITM | ITMAXT 26,200 65% | F7KA:24,000, £:28,200, 1£:26,900, H:28,800
ME==1 MEX [EECH)]| JAL JAL [ AXTHND | HNDKMI 26,300 67% |F:27,100, A:27,500, £:29.700, £ H:23,000
ABR(RFD | JAL JAL | AXTITM | ITMKMI 29,400 61% | A IKA:26.400, £:30,400, 1£:28,900, H:28,700
=R |[ER(PE)| JAL JAL | KMIHND | HNDAXT 27,100 67% 7k:27,500., £:27,900, +:23,400, H:23,000
ABR(RF | JAL JAL | KMITM | ITMAXT 29,400 61% | A 7KA:26.400, £:29.800, 1:28,800, H:30,900
ME=ERS MEX [EEH)]| JAL JAL [ AXTHND | HNDKOJ 19,700 76% |+ H:20,800
ABR(RF | JAL JAL | AXTITM | ITMKOJ 26,800 66% | AKA:24,800, £:27,500, £:27,300, H:28,300
ERBR [EzH)| JAL JAL | KOJHND [ HNDAXT 19,700 76% &+ H:20,800
ABR(RF | JAL JAL | KOJITM | ITMAXT 26,000 67% | AIKA:25,000, £:29,000, £:29,100, H:31,600
ME=RE |__#m@E% [Em(RE)| JAL JAL [ AXTHND | HNDISG 37,200 66% 9,200, 1 H:36,600
EiE% [WECHE)| JAL JAL | ISGHND | HNDAXT |  37.200 66% 36,600
TEE=HE ABR (FFD| JAL JAL | HNAITM | ITMIZO 28,900 59% 9,100, £:30,500, + H:32,500
KR (B[ JAL JAL IZOITM | ITMHNA 33,700 53% 9,100, £:31,300, H:32.500
EE=L KBR (FFD| JAL JAL [ HNAITM | ITMMYJ 27,600 60% 0,000, H:28,000
KR (B[ JAL JAL | MYJITM | ITMHNA 28,300 59% 3 £ B:32,500. £:30.000
EE=KS ABRGED| AL JAL [ HNAITM | ITMOIT 31,700 56% | A A:31,000, 7k:33,700, 1:33,700
KR (B[ JAL JAL OITITM | ITMHNA 33,700 54% | A£:31,700. H:32,500
EE=RIK ABRRFD | JAL JAL [ HNAITM | ITMNGS 32,400 60% | F:31,500, 7K:34,100, &:31,000, % +:34,100. H:33,600
ABR(EFD| JAL JAL | NGSITM | ITMHNA 33,100 59% A+ H:34.100, 7kA:30,400, %:33,300
TEE=FEX ABRRFD | JAL JAL [ HNAITM | ITMKMJ 31,600 59% | F:32,100, 7K:33,700, &:31,800. % H:32,900. 1:33,700
KR (B[ JAL JAL | KMJITM | ITMHNA 33,700 57% | A:32,100, £:32,900, H:38,600
EE=21% ABRGE[ AL JAL [ HNAITM | ITMKMI 32,900 58% 7k:33,700, £:33,700
12HE JAL JAL | HNAFUK | FUKKMI 29,600 65% | B £:34,300, 7K:29,100, &:31,600, %:32.900, H:32.500
=R [ XBRED] JAL JAL | KMITM | ITMHNA 33,700 57% | A£:32,900. H:38600
1268 JAL JAL | KMIFUK | FUKHNA 29,900 65% | B +£:34,300, £:30,200, H:35400
EE=KRS EEFK | KREFD| JAL JAL [ HNAITM | ITMKOJ 32,400 60% | F7K:31,600, A:33700, £+ H:34,100
BREH [KR(EFEF| JAL JAL | KOJITM | ITMHNA 34,100 58% |A:33,500, H:38,600
Wife =Mz Z3 RCPHE)|[  JAL JAL | GAJHND | HNDKMQ 16,800 68% 7,100, +:17,600, H:17,200
IS RCEHE)| JAL JAL | KMQHND [ HNDGAJ 16.800 68% 8,000, 1+:17,200, H:18.400
Wi =M ;%3 RCPHE)|[  JAL JAL | GAJHND | HNDOKJ 18,800 70% + §:19.400
B RCEE)| JAL JAL | OKJHND [ HNDGAJ| 18,800 70% t §:19.400
W =IE5 Wi % HCHEA)|  JAL JAL [ GAJHND | HNDHIJ 23,000 64% | +:22300, H:21,200
L& RCEE)| JAL JAL | HIJHND | HNDGAJ| 21,600 66% |4::23,300, H:22,000
Wi=1LaFE ;23 RCRHE)|[  JAL JAL | GAJHND | HNDUBJ 18,500 73% |4 H:19,000, 1:18,.800
WAFEE ["RCEA)| JAL JAL__| UBJHND [ HNDGAJ| 18,800 72% 419,800, £:19,000, H:20.700
Wik=HE [il}; RCRHE)|  JAL JAL | GAJHND | HNDIZO 27,900 54%
)| JAL JAL | GAJITM | ITMIZO 27.900 58% | F:26.000, 7k:26.800, A:25.900. H:26.800
HER )| JAL JAL | IZOHND | HNDGAJ 27,900 54%
PN D[ JAL JAL | 1Z0ITM [ ITMGAJ 27,900 58% |4::27.300, H:29.400
W =#5 W% ["ECHEE)| JAL JAL | GAJHND [ HNDTKS 21,500 65% | £:23000, +:19.200
#me% |EFCEE)| JAL JAL | TKSHND | HNDGAJ 21,700 65% :20,200
Wi == W% ["ECHEA)| JAL JAL [ GAJHND | HNDTAK| 21,600 65% | F7KA:20,400, £ +:21,200, H:20,800
minE  [EERGEHE)| JAL JAL | TAKHND [ HNDGAJ 22,400 64% | FskA:21,900, +:22,000, H:24,000




Wi =41l W% |"ECHEA)| JAL JAL | GAJHND | HNDMYJ 22,400 66% | A7 +:23,500, H:23,000
ABRRFD | JAL JAL | GAJITM | ITMMYJ 26.300 60% | A4 24,500, H:25,800
W% [EREE)| JAL JAL | MYJHND | HNDGAJ 22,200 66% | A JKAK:21,700, :22,700, £:22.900, H:25.400
ABR(RF | JAL JAL | MYJITM | ITMGAJ 26.300 60% | F:26.200
w=xX% Wk [ERERER)| JAL JAL | GAJHND | HNDOIT 21,600 69% | AH:22,000, £:223800, 1:23,200
ABR(RFD | JAL JAL | GAJITM | ITMOIT 29,600 57% | H:28.700, 7k AR 1:27.800
R H HCHAE)| JAL JAL | OITHND | HNDGAJ 22,400 68% | FH:23.200, A£:223800, H:24.000
RER(RFD|  JAL JAL OITITM | ITMGAJ 29,600 57%
Wi =Rk Wk [ERRERER)| JAL JAL [ GAJHND [ HNDNGS| 21,600 71% | FAskA:22,000, £ B:22400, +:22,800
ABR(RFD | JAL JAL | GAJITM [ ITMNGS 32,200 58% | /:29.300, /KA:27,800, H:31.400
RIGSE HCHAE)| JAL JAL [ NGSHND | HNDGAJ 24,300 67% | A H:24,800, K:24,500, £:25200, +:24,400
ABR(RF | JAL JAL | NGSITM | ITMGAJ 32,200 58%  |£:30.800
Wi =geX Wk [ERREA)| JAL JAL [ GAJHND [ HNDKMJ| 22,400 68% | F:22,800, A%:23,600, £:24,000
ABR(RF | JAL JAL | GAJITM | ITMKMJ 30,500 59% |H:29.200, JKAK:
A% |[EmR@EE)| JAL JAL [ KMJHND | HNDGAJ 22,400 68% 7K:22.800, A&
RER(RFD|  JAL JAL | KMJITM | ITMGAJ 30,500 59%
Wi ==k Wk [EREEA)| JAL JAL [ GAJHND | HNDKMI 21,600 70% | +:22,.800
ABR(RF | JAL JAL | GAJITM | ITMKMI 30,500 59% | F7A:29.800
=R  |[ER(PEH)| JAL JAL | KMIHND | HNDGAJ 21,600 70% |£:22,400, £:22,000, B:23200
RER(RFD|  JAL JAL KMITM | ITMGAJ 30,500 59%
Wk=ERS Wk [ERERER)| JAL JAL | GAJHND [ HNDKOJ 22,000 70% | F H:24,000, £:24,900
ABR(RF | JAL JAL | GAJITM | ITMKOJ 32,200 59% | H:29.200, 7k:29,900, H:32,100
ERBR [EzH)| JAL JAL | KOJHND | HNDGAJ 22,800 69% [H:23,600, £:25,200, 1:24,000, H:24,800
ABR(RF | JAL JAL | KOJITM | ITMGAJ 32,200 59% |7KA:31,300, £:31.400, £:31.700
Wik=x18 W% [RRCEAE)| JAL JAL | GAJHND | HNDISG 34,600 65%
RIEE |[HRCRE)| JAL JAL | ISGHND | HNDGAJ 34,600 65%
i =H=E e [KBREFF|] JAL JAL | SDJITM | ITMIZO 26,300 60%
HER | ARUEEM| JAL JAL | IZOITM | ITMSDJ 26,300 60%
A =#0 Wwask | ARGEED] JAL JAL | SDJITM [ ITMMYJ 25,300 61% | 7K:24,100, A:25,000, £:28,000, £:27,500, H:27,000
BE KR JAL JAL | MYJITM | ITMSDJ 26.900 58% | AJKHE:24,500, A&:24,900, £:26,500, 1:28,000
it =K% e [ KEREPEF|  JAL JAL | SDJITM | ITMOIT 29,600 56% | F:28,600, 7k:26,500, AK:29,400
AoFE |RREED| JAL JAL | OITITM | ITMSDJ 29,600 56% | F:27.400, 7K A:25.600 .
W&E=K& e [KBREFF| JAL JAL | SDJITM | ITMNGS 30,700 59% | F:29.600, 7k A:27,000, £:29,700., £:31,400. H:31,900
RgE [ RKRED|  JAL JAL | NGSITM | ITMSDJ 31,700 58% | F:27.900, 7kA:27,800, £:30,900. £ H:32,200
& =X e  [KEREFF| JAL JAL | SDJITM | ITMKMJ 28,600 60% | F:29.800, 7K:26,700, &:30,000. % +:30,500. H:30,300
A% |KREED| JAL JAL | KMJITM | ITMSDJ 30,300 58% | F:30,200, 7kA:29,400, £ +:30,500. H:27.600
W&E==1% ek [RKRAEFD| JAL JAL | SDJITM | ITMKMI 32,200 55% | A H:30,700, 7k:28,500, A:28,900
EEE | RKREED|  JAL JAL | KMITM | ITMSDJ 32,200 55% | F7KA:30,700
E=kR e  [KERGFF| JAL JAL | SDJITM | ITMKOJ 29,800 61% | F:29.400, 7K:26,600, &:27,200, %:31,700, +:32,200, H:30.800
AR R | JAL JAL | KOJITM | ITMSDJ 31,600 59% | F7K:29.400, A:30400, &+ H:32,.200
FR=HE KBR (R JAL JAL KIJITM | ITMIZO 23,800 63% |H:23,500
KR (B[ JAL JAL IZOITM | ITMKIJ 23,800 63%
FR=HL KRR JAL JAL | KUITM [ ITMMYJ 21,900 65% | H kA 1:20,900, £:22,400, H:22,800
AR R | JAL JAL | MYJITM | ITMKIJ 21,900 65% | A7KA:20.900, £:22,400, 1£:22,600, H:20,800
HR=K5 b ABRRFD | JAL JAL KIJITM | ITMOIT 26,500 59% | AIKA+:24.200. £: B
AoFE |RKRED| JAL JAL | OITITM | ITMKIJ 26,100 60% | F7kA:23,800, £: B
FR=FK i KRER(RFD | JAL JAL KIJITM | ITMNGS 25,300 65% | AKA+:23000, £:
RBE [ KREED|  JAL JAL | NGSITM | ITMKIJ 26,700 63% | F:26.100, 7kA:23.800, £:
HR=FEA B%E KRR JAL JAL | KIUITM [ ITMKMJ 25,200 64% | F:24,700, 7KA:24,400, %:26. 123, :25,900
BEAE |KREED| JAL JAL | KMJITM | ITMKIJ 26,000 63% | F:24.800, 7k A:23,800, £:28, +:25, 125,400
FR=215 F;RE |(KRUEFD| JAL JAL KIJITM | ITMKMI 28,400 59% | FsKA+:25400. £:28900, H:27.700
BEE | RKREFD|  JAL JAL | KMITM | ITMKIJ 29,200 58% A K:26,200, £:29.600, 1:27,000. H:27,500
FR=KR FRE |KRUEFD| JAL JAL KIJITM | ITMKOJ 25,800 65% | A 100, +:25,100, H:27,300
BREH [KR(EFEF| JAL JAL | KOJITM | ITMKIJ 25,800 65% |71 ,200, H:28,200
M =FE L IMRFE RCPHE)|[  JAL JAL | KMQHND | HNDOKJ 20,200 71% _ [A:20,600, £:22,100, £:20,000, H:23,200
[ RCEE)| JAL JAL | OKJHND [HNDKMQ| 20,600 70% | A:21,000, £:22,300, :21,400, H:21,100
MA=IEE [ MR ROEE)| JAL JAL | KMQHND| HNDHIJ 22,700 68% | A:23,100, +:21,800, H:22,800
LB RCRE)| JAL JAL | HIJHND [HNDKMQ| 22,500 68% 7KA:21.800, £:23.800, +:21,400, H:21,500
MA=ILOFE | MRS RCPHE)|  JAL JAL | KMQHND | HNDUBJ 17,800 76% |$:19,200, £:18,200, H:21,300
OF&% [RRCAHE)| JAL JAL [ UBJHND | HNDKMQ 18,200 76%  |£:18,800, £:19,000, H:20,100
IME=HE IMRFE RCPHE)|  JAL JAL | KMQHND| HNDIZO 27,100 60% % H:27.300
HE RCEE)| JAL JAL | IZOHND [HNDKMQ| 27,600 59%
IMA=TES IMRFE FCRE)| JAL JAL _|KMQHND|HNDTKS| 21,900 68% |£::23,600, +:18,600, H:23.900
BER FCRE)| JAL JAL | TKSHND [ HNDKMQ| 23,400 66% | £:20,500, H:19.600
IMA=FR MR FE HCHA)|  JAL JAL | KMQHND | HNDTAK 23,300 66% | A JKA:22,600 :24,400, 1:23000
EINFE RCEE)| JAL JAL | TAKHND [HNDKMQ| 24,300 65% | FkA:23.200. % H:24,400. 1:23,700
M= MR FE HCHA)| JAL JAL | KMQHND | HNDKCZ 20,900 71% | FJK7K:20,200, %:23,800, £:21,800, H:25,200
EEFE FCRME)| JAL JAL | KCZHND [ HNDKMQ| 22,800 68% | FIKA:22,300. %:23200, £:23700, B
M=l MR FE HCHA)| JAL JAL | KMQHND | HNDMYJ 24,100 66% | FIKA: 25,100, 1:24,900, H:26,000
[N FCRE)| JAL JAL | MYJHND [ HNDKMQ| 24,800 66% | HskA:24.100, H:25,900
=3t INRFE RCPHE)|[  JAL JAL | KMQHND | HNDKKJ 26,000 67% | %:27,600, +:24,800, H:28,600
EZRES ROHHE)|  JAL JAL | KKJHND [HNDKMQ| 25,000 68% |£:27,300, £:25,600, H:25,700
IME=K5 IMRFE RCPHE)|  JAL JAL | KMQHND| HNDOIT 21,400 72% | F A:22,200, 7K:21,800, £:25,000, £:22,600, B:24.200
PN FCRE)| JAL JAL | OITHND [HNDKMQ|  21.800 71% | H:22.200, 7k A $:22,600, £:25.100, H:23.900
IMNE=FIF | /MRS RCPHE)|  JAL JAL | KMQHND | HNDNGS 23,800 70% | H:23,000, 7k:23,400, K:24,200., £ + H:25,000
RIBH RCRE)| JAL JAL | NGSHND [ HNDKMQ| 23,400 71% | A $:23,800, A:23.900, £:25500, H:24.200
IMR=FER MR FCRE)| JAL JAL _|KMQHND| HNDKMJ| 21,800 72% | H:22,200, A:23,000, &
REAR RCRE)| JAL JAL | KMJHND [ HNDKMQ|  22.200 71% | A7K:23,000, A:23.400
INE =T IR RCEE)| JAL JAL _|KMQHND| HNDKMI | 21,000 73% | H:21,800, AK:21,400, 3 23]
HIER RCRE)| JAL JAL | KMIHND [HNDKMQ| 21,000 73% | F:22,200, 7K:21,400, A:21,800. £:22,700, £:21,400, H:23000
IMA=FR IMRFE RCPHE)|[  JAL JAL | KMQHND | HNDKOJ 17,500 78% &+ H:19.700
BEREE®E [HR(PHA)| JAL JAL [ KOJHND | HNDKMQ 18,500 77% |+ H:20,500
IMA=ETH M [HEGRE)| JTA [JTA/RAC|KMQOKA|OKAMMY|  33.800 55% | H:34,100, A% 1:38,700
EEH% [P GEH) [JTA/RAC| JTA |MMYOKA|OKAKMQ| 34,600 54% | A H:34,900, A% 1:38,700
IMA=FH1E MMaF [EECRE)|  JAL JAL | KMQHND| HNDISG 34,000 68% |4 5,800
SP#8 (BBE) | JTA |JTA/RAG|KMQOKA[ OKAISG 34,600 58% | A% +:38.600. H:34.700
RIEH = (7 JAL JAL | ISGHND [HNDKMQ| 33,600 68% |t H:35,800
JTA/RAC| JTA | ISGOKA [OKAKMQ| 34,600 58% | A% +£:38,600, H:34,700
El=2% [GIE:S JTA _|JTA/RAC| OKJOKA | OKAMMY | 32,900 52% 3 & H:33,000, A%:35,600
BE R JTA/RAG| JTA |MMYOKA| OKAOKJ| 32900 52% | F < H:33,000, £:35,600
=518 [SHE:S JTA _|JTA/RAC| OKJOKA | OKAISG 33,300 55% | A%:36,400
hLiEH JTA/RAG| JTA | ISGOKA [ OKAOKJ| 33,300 55% 6,400
EH=25 BT JAL JAL [ KCZFUK | FUKKMI 23,200 61% 4,300, £:24,700, B:23,900
IR JAL JAL | KMIFUK | FUKKCZ 22,900 61% 5:22,400, 7K A:23,200, £:24,300, £:24,700, H:22,800
R =FF (ME@BR[(EZRE)| JAL JAL [ OKAHND | HNDAOJ| 31,400 66% | £:32,300, 1:29,600, H:34,700
ABR(RF | JAL JAL | OKAITM | ITMAOJ 35,300 62% |&: +:36.400, H:40,400
HHE [EzZ@E)| JAL JAL | AOJHND [ HNDOKA| 30,000 68% |k £:31,600, 1:33,300. H:30,200
ABR (R JAL JAL | AOJITM [ ITMOKA 17.300 81% [&: 9,100, H:18.600




EGEBR == M) F|/ACHA) | JAL JAL | OKAHND | HNDMSJ| 31,100 66% |4 . £:30,800, H:32,500
RE |HR(CREHE)|  JAL JAL | MSJHND | HNDOKA 29,500 68% |4 . £ 8:30.900
HEGRR) =ME [HME@BR(EZRE)| JAL JAL | OKAHND [ HNDAXT | 29,500 66% | £:31,000, +:25200, H:29.400
ABR(RF | JAL JAL | OKAITM | ITMAXT 35,700 60% 7K A:34.700, £:36.200, 1:36.800, H:37.200
MEF [HECAE)] JAL JAL | AXTHND [HNDOKA| 32,200 63% | :32,400, £:34,700, 1:30,500, H:26,500
ABRGRFD|  JAL JAL | AXTITM | ITMOKA 18,300 79% | FJKA:17.000, %:19,500, £:20,100
REGRE) =12 [HME@B) R[KREFED][  JAL JAL | OKAITM | ITMHNA 37.900 58% | H:38,600
1E6E JTA JAL | OKAFUK | FUKHNA 37.900 60%
s [ XBREED] JAL JAL | HNAITM | ITMOKA 29,800 67% _7k:33,700, £:33,900, 1:33,700
128 JAL JTA | HNAFUK | FUKOKA 37.900 60%
R =L [(AE@BR[(EZRE)|  JAL JAL | OKAHND | HNDGAJ 26,500 65% | £:26,300, 1:26,200, H:27,900
RER(RFD|  JAL JAL | OKAITM | ITMGAJ 37.200 57%
iItZ3 FCRE)| JAL JAL | GAJHND [ HNDOKA| 27,000 64% | :27,200, £:28,600, 1:30,300. H:26,200
KR (FFD|  JAL JAL | GAJITM [ ITMOKA | 21,200 76% |7K:22,400. £:24,900, 1:28,300, H:22,400
REGB) =WE [MRE@HRR_EA JTA JAL | OKAFUK | FUKSDJ 35,600 62% | FJK7K:34,200, £:34,400, +:34,800, H:37.900
PN JAL JAL | OKAITM | ITMSDJ 38,700 55% | F:37.300, /K A:35,500, %:37,000, +£:36.600, H:38.200
(=3 JAL JTA | SDJFUK | FUKOKA 37,200 60% | F/KA:35.800, £:38,000, + H:37.400
JAL JAL | SDJITM | ITMOKA 27.500 68% | AIKA:25.400, £:27,100, £:27,700, H:28,100
SREGRE) =/Ma [ E;) [ HR(CR JAL JAL | OKAHND [HNDKMQ| 27,800 66% |£::28,300, £:25,600, H:29,900
IS JAL JAL [ KMQHND | HNDOKA 26.400 68% | A:26.900, £:28,000, 1:29,700. H:27.300
EGB) =2 ME@BR K| E@ JTA JAL | OKAFUK | FUKKGCZ 25,900 62%
EEFE 8 JAL JTA | KCZFUK | FUKOKA 25,900 62%
REGE) =L ME@BR K| E@ JTA JAL | OKAFUK | FUKMYJ 24,100 63%
NS 2 JAL JTA | MYJFUK | FUKOKA | 24,100 63%
RERPE) =8ZXB|RRCHE | _ER JAL JAL [ HNDKOJ | KOJASJ 28,400 65% | A:29,100, 7K:27,100, % H:30,300, £:31,100
ABRURF | JAL JAL | HNDITM | ITMASJ 35,800 54% |1£:37.300, H:36.200
EEXESR R JAL JAL | ASJKOJ | KOJHND 28,300 65% | F:29,100, A:29,200, £:33,000, +:29,800, H:31,100
ABRURF | JAL JAL | ASJITM [ ITMHND 37.400 52% | £:37.600, t H:36.900
FR(HB)=ERB|ZRPI X[ _ER JAL JAL [ HNDKOJ | KOJKKX 32,500 60% | A H:33,700, £:35.400, 1:34.800
EXE | JAL JAL | HNDASJ | ASJKKX 27,700 61% A% +:30.100. H:29.400
ERBR ER JAL JAL | KKXKOJ [ KOJHND | 32,500 60% | F:32,900, £ H:36,100, +:34,100
EEAS | JAL JAL | KKXASJ [ ASJHND 27,700 61% | A H:29.300
FR(HB)=RzB|"RR (P X[ _ER JAL JAL [ HNDKOJ | KOJTKN 35,600 59% | A H:37,600, £:32,700, +:37.900
EEAS | JAL JAL | HNDASJ | ASJTKN 30,500 60% A% +:32,900, H:32,100
B BR ER JAL JAL | TKNKOJ | KOJHND | 36,400 58% | F:37.200, K:36,800, £:33500, +:37,900, H:39,200
REORE) =94k R RRCHE) | ER JAL JAL | HNDKOJ | KOJOKE 38,300 56% | B H:39,800. 7K:37,000, A:39,000, %:40.200, 1:40.700
BR JAL JAL__| OKEKOJ | KOJHND | 37,800 57% | F:38,600, K:38,200, £:41,400, +:39,300, H:40,600
HRECHE) =55 BER JAL JAL | HNDKOJ | KOJRNJ 39,400 56% | AsKH:37.300, A:40.100, £:34,500, 1:41,800
BER JAL JAL | RNJKOJ | KOJHND 38,100 57% | A7KAK:36,500, £:34,900, 1:39,700, H:41,700
EEAS | JAL JAL | RNJASJ [ ASJHND 35,000 58% | A H:36.600
KR (D) =BERB|XRUFFHHE| ER JAL JAL | ITMKOJ | KOJASJ 26,100 61% [H:26,500, 7k:25,100, £:26,200, £:27,000, H:27,700
TEREHE | BR JAL JAL | ASJKOJ | KOJITM 28,200 58% | FJK7K:27.200, £:30.400, £:27,700, H:29,700
AR (B =ER 8| Xk (FFH%[_ER JAL JAL | ITMKOJ | KOJKKX 31,500 52% [7K:30,500, £::32,000, 1:32,400
EERE | JAL JAL | ITMASJ | ASJKKX 35,800 39%
ERBR IR JAL JAL [ KKXKOJ | KOJITM 32,700 50% | AsKA+:31,700. £:33,600, H:34,700
EERE | JAL JAL | KKXASJ | ASJITM 35,800 39%
KR (B =28 XR(FM K| ER JAL JAL [ ITMKOJ | KOJTKN 35,000 51% | HAH:34,600, 7K:33,600, £:29,300, 1:35,500
mER BR JAL JAL | TKNKOJ [ KOJITM 35,800 50% | AsKAR1:34,800. £:30,900, H:37.800
WEKXSE | JAL JAL | TKNASJ | ASJITM 37,700 41%
KR (77 =k REB| KBR (7)) 56| REIR JAL JAL | ITMKOJ | KOJOKE 36,000 50% 7k:35,000, £:36.500, 1:36.900
K RERSE | EER JAL JAL [ OKEKOJ | KOJITM 37,200 48% | F £:36,200, 7K:36,600, A:37,000, %:38,900, H:39,200
KR =55/ |KIR(EHR]_ER JAL JAL | ITMKOJ | KOJRNJ 37,100 50% 7k:36.100. £:30.800, 1:38,000
WEKXSE | JAL JAL | ITMASJ [ ASJRNJ | 41,300 42%
R ER JAL JAL | RNJKOJ [ KOJITM 38,300 48% | FsKAR$:37.300, £:32,400, H:40.300
ER=EXXE [=E:3 IR JAL JAL | FUKKOJ | KOJASJ 21,500 62% | F:22,000, +:20,500, H:22.200
BERESH | BR JAL JAL | ASJKOJ | KOJFUK 22,400 60% | A:22,900, £:24.200, & H:21.400
BE=ER5 [EEES BER JAL JAL | FUKKOJ | KOJKKX 27,400 51% |4
BEKRE | JAL JAL | FUKASJ | ASJKKX 31.400 42% 4
ERER | BEXE | JAL JUAL | KKXASJ | ASJFUK | 31,400 42% |4
BEE=fs5 (RS ER JAL JAL | FUKKOJ | KOJTKN 30,500 50% |4
WEKXSE | JAL JAL | FUKASJ [ ASJTKN | 34,200 42%
mER ER JAL JAL | TKNKOJ | KOJFUK 30,500 50%
BEAE | AL JAL | TKNASJ | ASJFUK | 31,700 46%
RRCAR)=5E R (RHE) | HiE JAL RAC | HNDISG | ISGOGN 32,500 64%
MEFE BB RAC JAL | OGNOKA | OKAHND 35,300 61%
RiE RAC JAL | OGNISG | ISGHND 32,500 64%
AREF=5RE| SHPER [HEEH)| RAC JAL | OGNOKA| OKAITM 38,900 53%
KB (BEE) =5 3E | XM (BIFE) | FHiE JTA RAC | KIXISG | ISGOGN 40,000 48%
5RESH [ hEGRTH)| RAC JTA | OGNOKA| OKAKIX 38,900 53%
RiE RAC JTA | OGNISG | ISGKIX 41,300 56%
ZEE(PEH) =58E) 5MEE [HEEH)| RAC JTA | OGNOKA| OKANGO 39,900 55%
RiE RAC JTA | OGNISG | ISGNGO | 46,400 43%
fi L =5 AR SHEHE [H@GEH)| RAC JTA | OGNOKA| OKAOKJ 30,100 64%
15[ =5 E SHEFE G| RAC JTA | OGNOKA| OKAFUK 33.400 55% H:33.600
REE) =5MEFEAF | FHIE [ITA/RAC| RAC | OKAISG [ ISGOGN 12,600 71%
S5HEFE | A\ RAC _|JTA/RAG| OGNISG | ISGOKA 12,600 1%
HR(PE)=AKB[HE (BE) X[ H@8 %) | JAL [JTA/RAC| HNDOKA [ OKAUEO | 26,800 60% |/A:27,100, &
AKX |48 (BBE) [saurarac]  JAL | UEOOKA | OKAHND 26,800 60%  |A:27,100,
KB (P =AK B | KR (5D 448 GBF;) [ JAL [JTA/RAC| ITMOKA | OKAUEO| 28,700 51% | A:29,000
AREFE | ihHE (BER) [Avutarac]  JAL | UEOOKA | OKAITM 28,700 51% |A:29,000, &'
KB (BETE) = AK B | KBz (B3F8) 5448 GBF) [ JTA [JTA/RAC| KIXOKA | OKAUEO| 31,700 46% | :32,400, %
AXEZ |8 (FRE) [mavurarac] JTA | UEOOKA | OKAKIX 31,700 46%
ZEE(PE) =AKG[ 28R (hE) %P8 (BB | JTA [JTA/RAC|NGOOKA| OKAUEO 33,600 48%
AKESE |48 (FE) [avravme] JTA [ UEOOKA|OKANGO| 33,600 48%
BRE=AKE BE% [H@GEE)| JTA [JTA/RAC| FUKOKA | OKAUEO| 26,400 48%
AKEFE |8 (FRE) [utareo]  JTA | UEOOKA | OKAFUK 26,400 48%
FR(CHE) =M% [RRCE) [ KR JAL JAL [ HNDITM | ITMOKI 27,500 53% . N
HE JAL JAL | HNDIZO | IZOOKI 29,500 45% 7K AH:29.100, %#:29,700, 1:29.400
[Riks [ KBRGEFD|  JAL JAL OKITM | ITMHND 27,300 53% [+:26,400, H:27,500
HE JAL JAL | OKIIZO [ IZOHND 29,300 45% | $:29.700, 1:30.200
AR (BE) =#R [ ABRRFD | JAL JAL | OKAITM | ITMKIJ 35,500 57% |JK7k:34,500, £:36,800, +:33.900, H:38,200
3 | RBR ([ JAL JAL KIJITM | ITMOKA 24,100 71% | FA7KA:23.100, £ H:24,600, +:23.700
BE =G TR |__BER R (BHE)| JAL JAL | FUKHND | HNDSPK| 38,200 58% |A:38,900, # +:40,800, H:36,100
AL (37 F %) 58| AR CHEH) [ JAL JAL | SPKHND | HNDFUK 36.100 61% | A:36.700, £:39.100, $:36.900. H:40,800
HH =5 2 REFR) | JAL JAL | AOJSPK | SPKMMB| 22,500 61% | +:21,900
SRS MR EHFR)|  JAL JAL | MMBSPK | SPKAOJ 22,500 61%
MEB=%#5 FUEF REHTR)|  JAL JAL [ AXTSPK | SPKMMB| 22,500 63%
SR MR (HFR)|  JAL JAL | MMBSPK | SPKAXT 22,500 63%
AR (FE) =F/5 A2 (P | RE CHE)|[  JAL JAL [NGOHND|HNDOBO| 26,400 65% | A A%:26,800, 1:27,900, H:27,000
wILFR R (HE)| JAL JAL _|OBOHND[HNDNGO|  24.200 68% | £:25,000, +:25400, H:26.200




AR (FE) =18)I| & &2 () % )| JAL JAL | NGOHND | HNDAKJ 29.400 61% | F:29,800, A:30,200, £:31,500, :33,200, H:31,900
JEIES )| uAL JAL | AKJHND [HNDNGO| 23,200 70%  |£::25,900, £:24,500, H:27.400
B =% 5 S 5 )| JAL JAL | TAKHND [HNDMMB| 33,400 64% | H/kA:32,500, %:34,100, +:34,800. H:34,600
SRS 5 )| JAL JAL _|MMBHND | HNDTAK 33,700 64% | FA:32,800, 7K:32,400, %:32,600, £:29.600, H:34.000
EE=%wm5 BEFH 5 )| JAL JAL [ TKSHND [HNDMMB| 31,900 66% | £:32.800, +:31,300, H:30,800
SRS 5 )| JAL JAL _|MMBHND | HNDTKS 32,500 65% 32,900, £:32,400, 1:27,300, H:34.600
K =%iwmR] Nk 5 )| JAL JAL | OITHND [HNDMMB| 23,400 77% H:24,400
ESE 5 )| JAL JAL _|MMBHND | HNDOIT 23.400 77% 400
RIG=2% 5] 155 5 )| uAL JAL _[NGSHND [HNDMMB| 23,900 77% ,000
i Bl 5 )| JAL JAL _|MMBHND|HNDNGS| 23,900 77% 25,000
BEAR=%ER] REA S 5 )| JAL JAL [ KMJHND [HNDMMB| 23,900 76% 25,000
ESTE 5 )| JAL JAL _|MMBHND| HNDKMJ| 23,900 76% ,000
B =2 R =I5 5 )| JAL JAL [ KMIHND [HNDMMB| 23,900 76% ,000
i Bl 5 )| JAL JAL _[MMBHND | HNDKMI 23,900 76% ,000
BRE=%i5| BERESR 5 )| JAL JAL [ KOJHND [HNDMMB| 23,900 77% ,000
it Bl & 5 )| JAL JAL _[MMBHND | HNDKOJ 23,900 77% ,000
AMFFR) =BERS AR FTFR) X )| JAL JAL | SPKHND [ HNDASJ| 38,000 63% £:39,600, H:39,900
EPN-E] )| JAL JAL | ASJHND | HNDSPK| 37,900 63% | F:39,500, #:38,700, £:39,700. +:35,500. H:41,300
EH=EEXE EHR 5 )| JAL JAL__| AOJHND | HNDASJ| 33,400 66% | /:35,800 36,500, H:35,700
BERES |HE )| JAL JAL | ASUHND | HNDAOJ| 33,400 66% | F:35,000, £:34,900, H:36.500
ME=EXXE FEF 5 )| uAL JAL [ AXTHND | HNDASJ 35,200 62% | A:37.600, £:38500, +:32,600, H:31,800
FEESN-THES )| JAL JAL | ASUHND | HNDAXT | 33,000 64% | F:34.600, £:34,700, 1:29,000. H:30,600
IMA=BEXES IMRFE 5 )| JAL JAL _|KMQHND| HNDASJ| 29,000 68% | A:31,400, £:31,800, H:31,000
EESN-THES )| JAL JAL | ASUHND [HNDKMQ| 29,000 68% | F:30.600, 1+:29.400, H:31.000
ER=2% EnFE 5 )| JAL JAL | TAKHND | HNDKUH 31,100 65% | F7k:30,200, A:30,700, £:31,400, £:33,700, B:35.800
FlEES 5 )| JAL JAL | KUHHND | HNDTAK| 32,500 64% | FIK7K:31.200, £:33.400, £:30.900, H:34.900
EE=HI% EEHE 5 )| JAL JAL | TKSHND [ HNDKUH| 29,600 67% | A£:30,100, +:30,200, H:32,000
ElEES 5 )| JAL JAL | KUHHND | HNDTKS 31,300 65% | £:33.200, 1:28,600, H:34.200
K=48 Y 5 )| JAL JAL | OITHND | HNDKUH 22,400 77% :
FlEES 5 )| JAL JAL | KUHHND | HNDOIT 22,400 77%
RIG=2l% IG5 5 )| uAL JAL [ NGSHND | HNDKUH 22,900 77%
FlEES 5 )| JAL JAL | KUHHND [ HNDNGS| 22,900 77%
A=K REAS 5 )| uAL JAL [ KMJHND | HNDKUH 22,900 77%
B 5 5 )| JAL JAL | KUHHND [ HNDKMJ| 22,900 77%
EE=8% =55 5 )| uAL JAL | KMIHND | HNDKUH 22,900 77%
ElEES 5 )| JAL JAL | KUHHND | HNDKMI 22,900 77%
BER & =8I EREHR 5 )| uAL JAL [ KOJHND | HNDKUH 22,900 77%
ElEES 5 )| JAL JAL | KUHHND | HNDKOJ 22,900 77%
LB=%Ik L% 5 )| uAL JAL [ HIJHND [HNDOBO| 31,200 66% 31,600, £:31,900. +:32,700, H:33.800
LR 5 )| JAL JAL | OBOHND| HNDHIJ 29,000 68% | £:30.600, +:31,000, H:31.600
B =k EHAE 5 )| JAL JAL | TAKHND [HNDOBO| 32,900 63% | F £:32,400, 7K:32,000, £:33,100, +:34,200, H:35,800
N 5 )| JAL JAL [ OBOHND| HNDTAK 31,500 65% | A :30,200, £:31,800, +:31,700, H:33,000
BE=%k EES 5 )| uAL JAL [ TKSHND [HNDOBO| 31,400 65% | H :31,800, £:30,700, H:32,000
LR 5 )| JAL JAL | OBOHND| HNDTKS 30.300 66% | €:31.600, 1:29.400
AA=%Ik Y 5 )| uAL JAL [ OITHND [HNDOBO| 22,000 77% =
LR 5 )| JAL JAL | OBOHND | HNDOIT 22,000 77%
RIBG=%IL RIGS 5 )| uAL JAL _[NGSHND [HNDOBO| 22,500 78%
LR 5 )| JAL JAL _|OBOHND|HNDNGS| 22,500 78%
BAR=%L REAS 5 )| uAL JAL [ KMJHND [HNDOBO| 22,500 77%
LR 5 )| JAL JAL | OBOHND| HNDKMJ| 22,500 77%
BE=%5 EIEF 5 )| uAL JAL [ KMIHND [HNDOBO| 22,500 77%
LR 5 )| JAL JAL | OBOHND | HNDKMI 22,500 77%
BERE=FIA BEREH 5 )| uAL JAL [ KOJHND [HNDOBO| 22,500 78%
LR 5 )| JAL JAL | OBOHND [ HNDKOJ 22,500 78% ,
BI=E JBIINFE 5 )| JAL JAL | AKJHND | HNDTAK 31,700 65% :31,200, 7K A:30,400. £:33,500, 1:32,100, H:35,000
EIRE 5 )| JAL JAL | TAKHND | HNDAKJ 36,600 60% | F:34.500, 7K:34,100, 7:34.900. £:37,400, £:39,100, H:35,800
EHEE=ER BEEF 5 ) JAL JAL | HKDHND | HNDTAK 32,300 60% | A7KA:31,000, £:33,500, 1:28,700, H:35,400
EIRE 5 )| JAL JAL | TAKHND [ HNDHKD | 31400 61% | F:30.900, 7KA:30,500, %:32,200, £:32,700, H:34.200
=S RS 5 )| uAL JAL | HKDHND | HNDTKS 31,100 61% 33300, +:26,400, H:34.200
BER = )| JAL JAL | TKSHND [ HNDHKD | 30400 62% |7k A:30,300, #:31,500, £:29.200
FR(EB) =R [ER(PHE) % JAL JAL | HNDHKD | HKDOIR 23,000 62% | A:24,900., £:26,200, 1:28,600, H:23,600
RFR R JAL JAL | OIRHKD | HKDHND 23,700 61% |£:25.400, £:23.400, H:28,600
AR () =B8R EX JAL JAL | OIRHKD | HKDITM 24,000 66% 25,300
REORR) =8 [hEG8) % JTA JAL | OKAFUK | FUKTKS 26,600 61% | £:28.400, 1 H:26.800
& JAL JTA | TKSFUK | FUKOKA | 28,800 58%
BIN=fE8 JENEES: )| JAL JAL | AKJHND | HNDTKS 30.800 66% | £:32,500, +:30,000, H:33.300
EmEE X5 )| uAL JAL | TKSHND | HNDAKJ | 34,400 62% | F:34,800, K:35,200, £:36,500, +:36.000, H:34,700
BIN=K%5 JENEES: )| JAL JAL | AKJHND | HNDOIT 21,400 78% |1 H:22.400
A% |®3 )| JAL JAL | OITHND | HNDAKJ 21,400 78% :
IR (EX) =B8R (LR (F3) JAL JAL | OKDHKD | HKDOIR 17,600 56% 14,
BR%E JAL JAL | OIRHKD | HKDOKD| 17,600 56% :17,100, H:14,600
ElEEET JAL JAL | KUHOKD | OKDHKD 19,700 59%
JAL JAL | HKDOKD | OKDKUH| 19,700 59%
JAL JAL | KUHOKD [ OKDMSJ| 23,700 57%
JAL JAL | MSJOKD | OKDKUH| 23,700 57%
FR=EAE JAL JAL | RISOKD | OKDHKD 21,800 57% 23,700
JAL JAL | HKDOKD | OKDRIS 23,700 53% 23,400
F 7 =8Bk JAL JAL | KUHOKD | OKDRIS 23,700 57% 21,700
= 15 g2 JAL JAL | MSJOKD | OKDRIS 23,200 60%
BERE=MRJI = JAL JAL | KOJHND | HNDAKJ 21,900 79%
5 JAL JAL | AKJHND [ HNDKOJ| 21,900 79%
Rig=1JI| 5 JAL JAL | NGSHND | HNDAKJ 21,900 79%
5 JAL JAL | AKJHND [HNDNGS| 21,900 79%
A= 5 JAL JAL | KMJHND | HNDAKJ 21,900 78%
5 JAL JAL | AKJHND [ HNDKMJ| 21,900 78%
=g =Rl 5 JAL JAL | KMIHND | HNDAKJ 21,900 78%
5 JAL JAL | AKJHND | HNDKMI | 21,900 78%
HRCHE)=XE [RR(CHH) # JAL JAL | HNDKMJ | KMJAXJ 18,600 69% £:19,800, 1:20,200
KEH JAL JAL | AXJKMJ [KMJHND | 18,600 69% 18,200, £:19.400
EGACEEDE JAL JAL | HNDFUK | FUKAXJ 25,600 61% 1:26,900
KEH JAL JAL__| AXJFUK | FUKHND | 29,200 56% |%:31,800, +:27,400, H:30,500
KBR (A =XE | KR (FFD JAL JAL | ITMKMJ | KMJAXJ 16,400 62% :17.900, £:16,500, H:16,300
KEH JAL JAL | AXJKMJ [ KMJITM 17,100 61% JKA:16,300, £:17,800, £:16,600, H:16,400
KR () # JAL JAL | ITMFUK | FUKAXJ 20,300 58% | A KA+ H:19.400, £:20,800
KEH JAL JAL | AXJFUK | FUKITM 21,000 56% | HskA+:20,300, £:21,800, B:21,100
HIREFFR) =XRE[ARF TR % B JAL JAL | SPKFUK | FUKAXJ 31,000 63% |+ H:32,500
RES 12 JAL JAL | AXJFUK | FUKSPK 31,000 63% [£:32,100, £ H:32,500




BERE=/PKRE frbed -} JAL JAL | ASUTKN | TKNOKE | 11,900 60%
BB JAL JAL | OKETKN | TKNASJ 11,900 60%
EZ =8 (A KBER | JAL JAL | TKNOKE | OKEOKA 15,600 59%
SRKBER | JAL JAL | OKAOKE | OKETKN 15,600 59%
HR(HA)=EF5 fER JAL JAL [ HNDKOJ | KOJTNE 23,500 65% H:23,800. 7K:22,300. K:25,100, £:25900, +:26,200
BER JAL JAL | TNEKOJ [KOJHND | 22,600 66% :23,400, :23,000, %:25,500, +:24,100, H:25,400
ER(HB)=EBA5 BR JAL JAL | HNDKOJ|KOJKUM| 26,200 61% :26,100,, 7K:24,400, A:26,900, £:28,700, F:28,900, H:25,600
ER JAL JAL | KUMKOJ[KOJHND | 24,400 64% 125,200, % H:27.200, £:25,800
KR (B =B S BR JAL JAL [ ITMKOJ [ KOJKUM 24,300 54% 7K:23,900. 7K:22,900, £:25,000, + H:24,800
ER JAL JAL | KUMKOJ | KOJITM 24,000 55% 7K A:22.800, £:24,700, £:24.400, H:25,800
BERB=h 5 BEXE JAL RAC | KOJASJ [ ASJOKA 28,500 53% K
#EEKRE | RAC JAL | OKAASJ | ASUKOJ 28,500 53%
BE=EBAS BR JAL JAL | FUKKOJ | KOJKUM 19,300 55%
ER JAL JAL | KUMKOJ| KOJFUK | 18,500 57%
BEE=HEFS IR JAL JAL | FUKKOJ | KOJTNE 16,700 60%
BERE JAL JAL | TNEKOJ [ KOJFUK | 16,700 60% |+ H:15,700
LE=M HECHA)| JAL JAL [ HIJHND | HNDAKJ 34,200 63% | F1:34.600, K 36,300, +:38,000, H:35,500
JAL JAL | AKJHND | HNDHIJ 29,500 68% | F:30,000, % 31,600, H:33,600
WIL=2=1% JAL JAL [ MYJFUK | FUKKMI 20,300 63% | F:19.600, £:21,300, +:21,700, H:20,200
JAL JAL | KMIFUK | FUKMYJ 18,400 67% | AIKA:17.900, £:20.100, £:20,800, H:19,400
IR =BEXB[} RAC JAL | OKARNJ [ RNJASJ 17,550 59%
\/E JAL RAC | ASJRNJ | RNJOKA[ 17,550 59%
BR =g JAL JAL | OIROKD | OKDHKD| 18,000 61% |t H:15,000
JAL JAL | HKDOKD | OKDOIR 18,000 61% |+ H:15,000




___EEWALg 2022/7/12
P v 10 BERH P 15181 | B8 e
HORN AR50 RN A5 1 -
RRCHE)=2%4 [RECHA) A4 (BB | JAL [JTA/RAC| HNDOKA |OKAMMY| 28,700 62 £:32,800, 7K:29.400, A:29,100, #:35,100. £:39,200, H:31,400
=5 [3#8 (F%) [JTA/RAC|__JAL _|MMYOKA| OKAHND| _ 28,700 62 H:39,600, 7K:29,400,, 4:28,900, % +:24,800, H:29,900
ERCRE) =7 |RmCHE) X[ 9#(3%)| JAL [JTA/RAC|HNDOKA| OKAISG | 29,300 65% | A:33,300, 7K:30,400, A:29,900, £:35,600, +:39,700, H:31,700
PN JTA | HNDKIX | KIXISG ,800 54% | 9:42,100, 7KA:43,100, F:43,500, H:41,500
RIER JAL | ISGOKA | OKAHND ,600 65% | 7:39.800, 7K A:28,800 4,800, £:24,900, H:30,600
KR () =% Al | KR () % JA JAL | ITMHND |HNDMMB ,200 62% | H:34,000, JKAK#:32,900 7,900, H:32,400
JA JAL | ITMSPK | SPKMMB 4,800 58% | A:32,800, 7K:32,100. %:35,800, 1:46,600, H:34,900
SRS JA JAL _[MMBHND| HNDITM 1,300 63% | A:39.900. 7K:34,200, A:32,100, £:32,300, +:33,100, H:33,400
JA JAL | MMBSPK| SPKITM | 35,700 57% | /3:46,600, 7K:35,800, A £:34,500, % H:35800
KB (BA#8) =23l | KR (B#E) S [ BR CRIE) [ JAL JAL | KIXHND |HNDMMB 9,000 65% | H:35,000, 7K:30,200, £:30,200, 1:37,900, H:33,200
FTFR| JAL JAL | KIXSPK |SPKMMB 3,400 59% | A A:31,800, 7k:31,100, £:32,700, +:41,200, H:31,100
ZmAFE |[ERCAE)| JAL JAL _[MMBHND| HNDKIX 0,000 4% | H:39,900. 7K:32,000, 729,900, £::31,100, +:32,600, H:33,400
FTFR| JAL JAL | MMBSPK| SPKKIX 500 0% | F:41,100, 7K:34,100, A£:31,600, £:31,800, H:32,200
KB (5D =Rl | KBR (A #|RECHAE) | JAL JAL | ITMHND | HNDAKJ .500 1% | A H:36,900, &:32,500, £:39,200, F:42,900
JEIIE (FE) | JAL JAL | AKJHND | HNDITM ,000 66% | /9:42,900, F:29.600, H:30,700
KPR (B8#8) =he Il | KRR (B87E) | R CHE)|  JAL JAL | KIXHND | HNDAKJ ,500 61% | A H:36.900, A:32,500, £:39,200, *£:42,900
JEIIED (HE) | JAL JAL | AKJHND | HNDKI ,000 66% | 7:42,900, £:29,900, H:29,200
KB (57 =8IEg | KBk (A #|RECHAE) | JAL JAL | ITMHND | HNDKUH ,300 63% | H:35, . % +:35,800, H:35200
$l3% 5 CRHE)| JAL JAL | KUHHND | HNDI 0,500 62% | A: . % H:35,800, £:35,500
KR (BE78) =8IER | ABR (B87E) % | R CHE)|  JAL JAL | KIXHND | HNDKUH 8,300 65% | A: :36,600, H:35,500
|| fIERE CHHE)| JAL JAL | KUHHND | HNDKI. 200 4% B
KB (FFH) =#E [ KRR %[ FR(HEA) | JAL JAL | ITMHND |HNDOBO ,600 1% | A
HILE CHE) | JAL JAL _|OBOHND | HNDITM ,900 4% 8- 31,800, T:30,600. H:30,500
KBx (B8TE) =#/5k | KMk (B8F8) 5| B (A | JAL JAL | KIXHND [HNDOBO 400 65% | B 2,600
HILE (FE) | JAL JAL | OBOHND | HNDKIX ,600 66% | A: :31,800, H:31,500
KB (7 =BfE | KBR (A #|RECHAB) | JAL JAL | ITMHND | HNDHKD 0,000 58% | A: £:31,100, +:35,600, H:31,600
4 CHE)|[ JAL JAL | HKDHND | HNDITM 1,200 56% | A: ,500, £::32,800, £:31,100, B:31,800
Kk (BAFE) =ER8E URCHE)|  JAL JAL | KIXHND |HNDHKD| 27,400 62% | A: 0,000, H:32.400
GHE) | JAL JAL | HKDHND | HNDKIX | 29,900 58% | F:38.400, 431,600, £:31,300, H:31,900
AR (FH ==iR R CRIE) | JAL JAL | ITMHND [HNDMSJ| 24,700 64% | H:28,500. 7] £:26,500. £:25,500. H:23.700
HE)| JAL JAL | MSJHND | HNDITM | 24,900 64% | H:27.700. 7 % +:26,800, H:26,200
KR () ==iR (R CRE) | JAL JAL | KIXHND [HNDMSJ| 22,200 68% | H:29.500, &
ZR% FE)|  JAL JAL | MSJHND | HNDKIX | 23,600 66% | F:26.700, &
KR () =fk | KRR S| HE JAL JAL | ITMIZO | 1ZOOKI 18,500 54% JK:18,700. 7-13100 #£:18,700, £ H:20.000
[ETZ3 z JAL JAL | OKIzO | 1ZOITM 19.200 52% | A+ H:20,000, 7K:19,600, £:19,600
AR =BFB[AREDE| BERE JAL JAL | ITMKOJ | KOJTNE 25,100 51% |£:26.400. £ H:25,900
JAL JAL | TNEKOJ | KOJITM | 25,000 51% | A% H:26,000, £:25500
AR (B =8% JAL _[JTA/RAC| ITMOKA [OKAMMY[ 29,200 57% | H:24.900. 7K:26.400, K:26.800, £:32,300, 1:35.600. H:26.400
JTA/RAC|  JAL |MMYOKA| OKAITM | 20,300 57% | /3:35,500, JKA:26,300, % +:21,400. H:31,700
KBz (BSFE) ==& JTA [JTA/RAC]| KIXOKA [OKAMMY[ 33,300 51% | H:33.900. 7K:34,000, K:34.400, +:34.600
JTA/RAC| JTA |MMYOKA| OKAKIX | 33,300 51% | H:35.300, 7K :34,000
AR (#FH =F1E JAL _[JTA/RAC| ITMOKA | OKAISG 29,500 61% | §:25.300, 7k A:27,300, £:32,600, +:35.900, H:26,700
JTA/RAC| JAL | ISGOKA | OKAITM | 28,400 62% | /:34,600, KA:24,800. £:21.600. £:21,300, H:31.700
KR (%) =H1E JTA_|[JTA/RAC| KIXOKA | OKAISG | 33,800 55% | F:34.400, K :35,000, £:35.100
JTA/RAC|  JTA | ISGOKA | OKAKIX | 33,800 55% | A:35500, 7K A:34,900
ZEE(PE) =% B JAL JAL | NGOSPK|SPKMMB| 32,900 57% |£::34,700, £:46,000
JAL JAL | MMBSPK| SPKNGO|  27.400 64% | /3:45,800. 7K:26,100. X:26,500, £+ H:32,900
EHCE R JTA _|JTA/RAC|NGOOKA[OKAMMY| 34,500 53% | A 0:34,800, A:34,900, £ +:35,000
JTA/RAC|  JTA |MMYOKA|OKANGO| 34,800 53% | /9:20,900. K:17.800. A:18,200, %:22,400. +:21,800. H:20,300
AHE (P =FR1E JTA _[JTA/RAC|NGOOKA| OKAISG 34,600 57% | A £+ H:34.800, 7k K:35,100
JTA/RAC|  JTA | ISGOKA [OKANGO| 21,300 73% | A 1:22.400, 7k A:18,400, £:22.600
LR (FF ) = /i JAL JAL | SPKHND [HNDKMQ|  27.300 63% | H:37.800, %:30,100, H:34,000
P JAL JAL _|KMQHND| HNDSPK| 27,300 63% [H:27.900. :28,200, £:34.400. +:37.800, H:29.700
LR BT F &) = Fie £R | ALIR (B T2 % R CRIED | JAL JAL | SPKHND [HNDSHM| 32,300 61% |5:37.800
BfLEESE CRA)| JAL JAL | SHMHND|HNDSPK| 32300 61% |1:37.400
AL (FF %) =R #Lm}i(%ﬁﬁ)% R CRIE) | JAL JAL | SPKHND | HNDOKJ| 32,300 61% | H:37.800. H:34,000
HE)| JAL JAL | OKJHND [ HNDSPK| 30,800 63% | A H:32,300, A:31,600, £:34,400, £:37.800
IR FFR) =L *Lm}i(%f?-ﬁ)iI‘ R CHE)|  JAL JAL | SPKHND | HNDHIJ 33,100 61% | H:37.800. H:34,000
L5 HE)| JAL JAL | HIJHND [ HNDSPK| 33,100 61% |£::34.400, £:37,800
ARFFR) =LOFH AR FTR K[ R CHE) | JAL JAL | SPKHND [ HNDUBJ| 32,900 63% | H:37.800, A:32,100, £:34.500, £ H:34,700
ME=ESE CBE) | JAL JAL | UBJHND [ HNDSPK| 32,100 64% [ A £ H:34.700. A:32.900, +:37.800
IR (FFR) =HE #Lm}i(%ﬁﬁ)% R CRIE) | JAL JAL | SPKHND | HNDIZO 31,000 62% | H:37.800. H:33,500
GHE)| JAL JAL | IZOHND | HNDSPK| 31000 62% | £::34,400, £:37,800
IR FFm) =% *Lm}i(%ﬁﬁ)% R CHE)|  JAL JAL | SPKHND | HNDTKS 32,200 61% | H:37,800. H:34,000
GHE)| JAL JAL | TKSHND [ HNDSPK| 32,200 61% |£::34.400, £:37,800
FIRGFR) =i *Lm}i(%ﬁ%—ﬁ)% R CRIE) | JAL JAL | SPKHND | HNDTAK| 33,000 60% | 3:37.800. H:34,000
BIASE GHE) | JAL JAL | TAKHND | HNDSPK| 33,000 60% |£::34.400, £:37,800
IR (FFR) =B *Lm}i(%ﬁ%—ﬁ)% CRA)| JAL JAL | SPKHND | HNDKCZ| 34,200 60% | H:37.800
HE)|  JAL JAL | KCZHND [ HNDSPK| 34,200 60% | +:37.800
FLIR G F %) =1l *Lm}i(%ﬁ%—ﬁ)% R CRIE) | JAL JAL | SPKHND | HNDMYJ|  36.200 58% | H:37.800
HE)| JAL JAL | MYJHND | HNDSPK| 36,200 58% | +:37.800
ARFFR =LAN[ARFETR R HE)| JAL JAL | SPKHND | HNDKKJ | 34,700 62% | F:37.800
B[R HE)| JAL JAL | KKJHND [ HNDSPK| 34,700 62% | +:37.800
IR G F%) =K2 [ALREF TR % CRA)| JAL JAL | SPKHND | HNDOIT 34,700 62% | H:37.800
K5 GHE)| JAL JAL | OITHND | HNDSPK| 34,700 62% | +:37.800
IR G F i) =RIG LR F TR % CRA)| JAL JAL | SPKHND |HNDNGS|  36.400 62% | H:37.800
A% GHE) | JAL JAL | NGSHND | HNDSPK|  36.400 62% |7k:36.200, £:37,.800
FLIR G %) =REA AR TR % CRA)| JAL JAL | SPKHND | HNDKMJ| 35,600 61% | F:37.800
REARSE CBE)| JAL JAL | KMJHND [ HNDSPK| 35,600 61% |7k:35.400, £:37,.800
FLIR (BT F%) =S IF ARG T X[ /RTCHE) | JAL JAL | SPKHND | HNDKMI 35,400 61% | H:37.800. 7K:36,200, K%+ H:36.400
2GS GHE)| JAL JAL | KMIHND [ HNDSPK| 35400 61% | A A< H:36.400. k:35,800, £:37.800
ARFFR) —ERB[ARFGTHR[HRCARA) | JAL JAL | SPKHND [ HNDKOJ| 36,600 61% | A%+ H:40500, /K:37.800
ERER CRE)| JAL JAL | KOJHND [ HNDSPK|  36.600 61% [H+:40,500, 7k:36,200, &:37,000, £:40,300, H:39.800
LR B ) =0 B | ALIR (37 F2%) T[S CRIED | JAL JAL | SPKHND [HNDOKA| 40,200 58% | Akt H:41.800. £:40,800
RERF] JAL JAL | SPKITM | ITMOKA | 27,600 72% | F:38.200, £:33,400, £:31.600, H:
BHE(PE)| JAL JTA | SPKNGO [NGOOKA[  37.400 62% | H:45800, 7K:36,800, A:35,700, &1
] JAL JTA | SPKFUK | FUKOKA| 35500 65% | H:53400, 7k £:34,200, £:38.900.
B (FRER) SR (PIE) | JAL JAL | OKAHND | HNDSPK|  36.400 62% | B:42,500. 7K:37.200, A:37.500, £+
RR(F] JAL JAL | OKAITM | ITMSPK | 35900 64% | /5:48,000, 7K:32.800, :33,600, £:40,300, T3
RIR (A | JTA JAL | OKAKIX | KIXSPK | 28700 71% | F:39.400. 7k A:29,000. £:31,500. £:32.200
BHE(PE)| JTA JAL | OKANGO|NGOSPK| 29,500 70% | F:41.800, 7K:28,700, #:28,800, £:36,700, =
] JTA JAL | OKAFUK | FUKSPK | 35,300 65% | H:41.800, 7k A:34,200, £:37.600. £:54,300.
LR FTR) =REAEFTH E[Rm(PH)| JAL JAL | SPKHND | HNDISG | 44,800 63% | /3:51,400, :45,000. %:45,700, +:60,000. E|504oo
BEX [ERGE)| JAL JAL | ISGHND | HNDSPK| 44,300 63% | 9:69.700, 745,100, £:46.800, & H:51,400
2RI JTA JAL | ISGNGO | NGOSPK| 49,200 58% | /:53.100, K A:47,800. #57,600, £:56,300, H:50,700
FLIR G == LR E TR K[ a5 E ()|  JAL JTA | SPKNGO[NGOMMY| _ 47.400 58% | H:54.600. 7K:46.400, K:49.100, %:49,800, 1:55.200. H:53.500
1R =% m Al EHEES R (BIE) | JAL JAL | FUKHND |[HNDMMB| 39,800 61% |B£1 H:41.900
LR BT JAL JAL | FUKSPK [SPKMMB| 31,300 67% | :32,100. JK:28,900. A:20,600, %:34,000. +:54,300. H:33800
Zinh % |[RRECHAE)| JAL JAL _|MMBHND| HNDFUK| 39,300 61% |H£ 1 H:41,900, 7k:41,300
LR BT JAL JAL | MMBSPK| SPKFUK | 29,900 68% | /3:48,600. JK:29,800. A:28,700, %:34,500. +:34,100. H:29,800
Bk =18l a5 SR CHE)|[  JAL JAL | FUKHND | HNDAKJ 36.900 63% | £:39.200. £:42,900
MBIE  [ERGE[ JAL JAL | AKJHND [ HNDFUK| 36,900 63% | F:42,900




1afE =k % |HRECAE)| JAL JAL | FUKHND | HNDKUH| 36400 63%
fERs |[RRCHE)| JAL JAL | KUHHND [ HNDFUK|  36.400 63% | H:37.800
BE =K wmEE (& B[ JAL JAL | FUKHND [HNDOBO| 36,000 63% |+:42,600
ELE |RRCEE)| JAL JAL _|OBOHND| HNDFUK| 36,000 63% | 5:42,600
1aRE =BfE wEER% [RRERCHAE)| JAL JAL | FUKHND |HNDHKD| 38400 57% [AH:41,600, %:41,100, £:41,900
RERF]  JAL JAL | FUKITM | ITMHKD | 38,000 53% | F:38.400, 7k:39,800. K:40.600. +:41,900, H:39.800
EWAER [RECEE)| JAL JAL _|HKDHND | HNDFUK| 39,200 56% | B £+ H:41.900, K:38,600
ABR(FD | JAL JAL | HKDITM | ITMFUK 25,900 68% | H:49.100. 7K:29,000, K:28.400, %:33.400, 1:32.300. H:37.800
BE=F% wEER% [RRERCHAE)| JAL JAL | FUKHND [HNDAOJ| 23,000 74% £+ H:23.800
ABR(FD | JAL JAL | FUKITM | ITMAOJ 25,900 67% | H:31.300. 7K:27,800, K:26.900, £:31,700, 1:34.100. H:31.600
RCAE)| JAL JAL | AOJHND [ HNDFUK| 23,000 74% |+ H:23.800
D[ JAL JAL | AOJITM | ITMFUK | 25,600 67% | F H:36500, /k:27,000, %:29,400, £:35,800, +:33.800
FE) | JAL JAL | FUKHND [ HNDMSJ| 21,000 76% |2+ H:21.800
RED | JAL JAL | MSJHND [ HNDFUK| 21,000 76% |2+ H:21.800
)| JAL JAL | MSJITM | ITMFUK | 32,700 59% |/ H:35,300, 7K:29,600, K:32,600, £:34,300, +:33.800
1B =@ FIE) | JAL JAL | FUKHND | HNDAXT| 33300 59% | B A%£:35.000, 7K:34,300. £:34,000, H:32,400
RED | JAL JAL | AXTHND | HNDFUK| 34,200 58% | A%+ H:35.000. k:34,800, £:34.900
D[ JAL JAL | AXTITM | ITMFUK | 28800 61% | A H:31,600, 7K:26,000, £:29,000. £:31,300. £:30,400
&R =T FIED | JAL JAL | FUKHND |HNDGAJ|  25.400 64% | H:30,500, £:30,300, 1:27.900. H:29.400
D[ JAL JAL | FUKITM | ITMGAJ | 30,500 58%
FE) | JAL JAL | GAJHND [ HNDFUK| 29,000 59% | /:27.300. % H:30,500, £:31.400
D[ JAL JAL | GAJITM | ITMFUK | 29,000 60% | A A+ H:30500, £:31,300
fERE =/ JAL JAL | FUKHND |HNDKMQ| 26,700 66% | H:31.400
JAL JAL _|KMQHND| HNDFUK| 26,700 66% |£::30,600, £:31,800, H:28,900
JTA_|JTA/RAC| FUKOKA |[OKAMMY| 26,400 56% | +:28,500
JTA/RAC| JTA |MMYOKA| OKAFUK| 26,400 56% | /:28,300
BRE=AE JTA_|JTA/RAC| FUKOKA | OKAISG | 26,600 60% | +:28,900
JTA/RAC|  JTA | ISGOKA | OKAFUK| 26,600 60% | H:28,800
ZimA =15 JAL JAL _|MMBSPK| SPKHNA| 27,600 56% | A 0:33.400, 7k:31,900., +:32,400
JAL JAL | HNASPK [ SPKMMB| 27,600 56% | A H:28,100. 7k:31,900. % +:33.400
Zimhl=fl& JAL JAL _|MMBSPK| SPKSDJ 25,100 62% | A H:26.800
JAL JAL | SDJSPK [SPKMMB| 25,100 62% | H:26.400, £:30,500
bR =R JAL JAL _[MMBSPK| SPKKIJ 26,300 61%
JAL JAL | KIJSPK [SPKMMB| 26,300 61% | +:27.700
SR JAL JAL _|MMBHND|HNDKMQ| 29900 64% | H:39.900. 7K:32,300, K:30.200, %:31,800, 1:32.200. H:33.500
JAL JAL _|KMQHND|[HNDMMB| 31,000 63% | H:33700, /k:31,900, K:31,400, £:33,400, +:37,900
23 A = L JAL JAL _|MMBHND| HNDOKJ| 33,300 64% [H:39.900, 7k:35,000, £:33,700, +:34,900. H:36.100
JAL JAL | OKJHND [HNDMMB| 33,700 64% | AJK:33,900, & H:34,100, £:34.200, £:37.900
Zibhl=h8 JAL JAL _[MMBHND| HNDHIJ 35,000 63% | H:39,500, 7k:37,000, A:35,800, %:34.100, H:36,200
JAL JAL | HIJHND [HNDMMB| 36,000 62% | A JK:36.300. £:35,200, £:39,500, H:38,000
JAL JAL | HIJSPK [SPKMMB| 34,000 61% | /:35,100, /K:34,200, A:34,900, %:37,700. +:39,500. H:34,200
Zimh=HE JAL JAL _|MMBHND]| HNDIZO 35,900 61% [F:39.900
JAL JAL | 1IZOHND [HNDMMB| 35,900 61% 37,900
b A =l JAL JAL _|MMBHND|HNDMYJ| 41,000 57% |%:38,600. £:38,500
JAL JAL | MYJHND [HNDMMB| 41,000 57% :37,900
Zimhl=Hh1E JAL JAL _|MMBHND]| HNDISG 48,100 63% :54,100. 7K:50,100, A:48,000, %::48,400, 1:60,000, H:53.200
JAL JAL | ISGHND [HNDMMB| 46,900 64% [H:69.700, 7k:49,700, £:48,600. +:52.400, H:57.900
FBIIT=/NE3 JAL JAL | AKJHND [HNDKMQ| 29,900 63% | /:42,900, H:30,700
JAL JAL _|KMQHND| HNDAKJ| 31,500 61% | A H:36.900, A:32,500, £:39,200, £:42,900
BIl=miaE JAL JAL | AKJHND |HNDSHM| 29500 67% |A: 4,900, £ F:37.200
JAL JAL | SHMHND| HNDAKJ| 37,200 59% | &: +:42.900
FEJI=RW JAL JAL | AKJHND [ HNDOKJ| 32,700 64% | A: K:32,200, £:33.700, +:35.700, H:37.100
JAL JAL | OKJHND [ HNDAKJ | 36,000 61% | A K H:37.200. £:39,200, 1:42.900
BIN=HE JAL JAL | AKJHND | HNDIZO 35,900 60% | H:42.300
JAL JAL | 1IZOHND [ HNDAKJ| 35,900 60% | A H:36.900. £:39,200, +:42.900
TBII=H1L JAL JAL | AKJHND |HNDMYJ| 41,000 56% | H:42.900. £:38,600
JAL JAL | MYJHND [ HNDAKJ | 41,000 56% | +:42,900
BI=RE JAL JAL | AKJHND | HNDISG | 48,500 62% [ H:52.600, A:47,700, £:48,900. +:60,000, H:52.100
JAL JAL | ISGHND | HNDAKJ| 49,600 61% [H:69.700, 7k:50,100, K:49.500. £:50.300, + H:53.700
EIEENA JAL JAL | KUHHND [HNDKMQ| 29,100 64% | /:37.800. %+ H:33,700
JAL JAL _|KMQHND|HNDKUH| 29,100 64% | A%+ H:33,700, /K7:29,500
gliEg =Ml JAL JAL | KUHHND | HNDOKJ| 32,500 64% [:37.800, 7k:32,200, A:32,600, %+ H:36.400
JAL JAL | OKJHND [ HNDKUH| 31,800 65% | /:36.300. %+ F:36,400
SR =1R% JAL JAL | KUHHND | HNDHIJ 34,200 63% | A H:39.500. £:35,100, £:37.800, 1:38.600
JAL JAL | HIJHND [HNDKUH| 34,100 63% | /:38,000, #:38,100. £ H:39.500
giR=HE JAL JAL | KUHHND | HNDIZO 35,900 60% | H:37.800
JAL JAL | 1IZOHND | HNDKUH| 35,900 60%
BIER =1L JAL JAL | KUHHND [ HNDMYJ| 41,000 56%
JAL JAL | MYJHND [ HNDKUH| 39,100 58% | A+ H:41,000, £:39,200
SR =18 JAL JAL | KUHHND | HNDISG | 44,500 65% | /351,200, %:45,500, +:60,000, H:51,500
JAL JAL | ISGHND | HNDKUH| 46,500 63% | /3:69,700, %:46,800, +:54,100, H:57,000
HE=/MA JAL JAL _|OBOHND|HNDKMQ| 27,900 65% | /9:42,600, JKA:28,300. 30,500, +:31,600, H:30,300
JAL JAL _|KMQHND|HNDOBO|  30.400 62% | A H:31,800. A:30,000, £:31,400, £:42,600
HE=RW JAL JAL _|OBOHND|HNDOKJ| 30,900 66% | 9:42,600. JK:30,600. A:31,000, %:34,400. +:32,600. H:34,100
JAL JAL | OKJHND [HNDOBO| 32,300 64% [ H:32.500, £:34,000, £:32,000., +:42,600. H:33.900
HE=HE JAL JAL _|OBOHND| HNDIZO | 35900 59% | H:42,600
JAL JAL | 1IZOHND [HNDOBO| 35,900 59% | +:42,600
HLE=L JAL JAL | OBOHND|HNDMYJ| 41,000 55% | /3:42,600. 7:40,600., £:39,300. £:37,000
JAL JAL | MYJHND [HNDOBO| 40,400 56% | A:39.800, £:36,200, +:42,600, H:40,900
HLE=R1E JAL JAL _|OBOHND| HNDISG | 46,100 63% | /:50,900, %:46,900, +:60,000, H:49,300
JAL JAL | ISGHND [HNDOBO| 46,900 63% | H:69.700, £:50,400, H:56.200
A=/ JAL JAL | HKDHND |[HNDKMQ|  28.400 60% | H:35.000
JAL JAL _|KMQHND|HNDHKD| 28,400 60% [+:32,900
AR =RL JAL JAL | HKDHND [ HNDOKJ| 32,500 60% | F:37.100. A:32,300. £:33,300. H:33,700
JAL JAL | OKJHND [ HNDHKD | 32,300 60% | A:32,700, %:33,000, +:37,100, H:32,100
HE=LE JAL JAL | HKDHND | HNDHIJ | 34,900 57% | H:39.000, :35,200, £:34,600. +:33,000, H:34.700
JAL JAL | HIJHND [ HNDHKD | 34,600 58% |£::33,700, £:38500, H:33,100
EHAE=HE JAL JAL | HKDHND | HNDIZO 34,800 56%
D[ JAL JAL | HKDITM | ITMIZO 23,600 69% | /:49.100, JKA:26,700. 27,300, +:33,400, H:34,800
FE) | JAL JAL | IZOHND [HNDHKD| 34,800 56%
D[ JAL JAL | IZOITM | ITMHKD | 34,800 54% | +:42,000
EAE=HAL FIED | JAL JAL _|HKDHND | HNDMYJ| 38800 54% |%£:38,600, 1:36.300
D[ JAL JAL | HKDITM | ITMMYJ | 22,800 69% | /:49,100, JKA:25,900, #:26,500, +:28,700, H:33,300
FED | JAL JAL | MYJHND [HNDHKD| 38,800 54% |£:37,300, H:37,700
D[ JAL JAL | MYJITM | ITMHKD | 36,200 51% [H:34500, £:36,600, 1:42,000
EAE=dL A FIE) | JAL JAL | HKDHND | HNDKKJ 28,100 69% | H:35.000. £:30.100, H:29.100
)| JAL JAL | KKJHND [HNDHKD| 28,100 69% | +:32,900
EWEE=X% FE) | JAL JAL | HKDHND | HNDOIT | 21,900 75% |& .+ H:22,500
D[ JAL JAL | HKDITM | ITMOIT 27,500 64% | /9:49,100. /K:30,600. A:30,400, %:31,000. +:32,400. H:33 400
FED | JAL JAL | OITHND [HNDHKD| 21,900 75% |&+ H:22,500
D[ JAL JAL | OITITM | ITMHKD | 33400 57% 42,000
W =RE FED | JAL JAL | HKDHND [HNDNGS| 22,400 76% |%+ H:23,000
D[ JAL JAL | HKDITM | ITMNGS | 30,700 64% [H:49.100, kA% +:33.400, H:34,700
FE) | JAL JAL | NGSHND | HNDHKD| 22,400 76% |&+ H:23,000
REREFD] JAL JAL | NGSITM [ ITMHKD | 34,700 59% | +:42,000




EAE=FA EWEER [EEOEE)| JAL JAL | HKDHND | HNDKMJ| 22,400 75% &+ H:23,000
RER(F]  JAL JAL | HKDITM | ITMKMJ | 26,500 68% | :49.100, JKA:29,600. #:30,700, +:32,600, H:34,700
AR [EECEE)| JAL JAL | KMJHND |HNDHKD| 22400 75% |+ H:23.000
RERF]  JAL JAL | KMJITM | ITMHKD | 34,700 58% | +:42,000
HAE=E15 EWEER [EECHE)|] JAL JAL _|HKDHND | HNDKMI | 22,400 75% £+ H:23,000
RERF]  JAL JAL | HKDITM | ITMKMI 30,400 63% 149,100, 7k K:30,000, £:33,100, +:32,800, H:34,700
=ER  [RECHEE)| JAL JAL | KMIHND |HNDHKD| 22400 75% |+ H:23.000
RERF]  JAL JAL | KMITM | ITMHKD | 34,700 58% | +:42,000
HE=ERE EEER [EECHE)|] JAL JAL | HKDHND [ HNDKOJ|  22.400 76% £+ H:23,000
RERF] JAL JAL | HKDITM | ITMKOJ | 26,900 69% 149,100, 7k K:29,500, £:30,100, +:32,300, H:35,600
BERER [RR(HE)| JAL JAL | KOJHND |HNDHKD| 22400 76% |+ H:23.000
AR (FFD| JAL JAL | KOJITM [ ITMHKD | 35,600 59% | +:42,000
HE=FIE EAESE RCPA)| JAL JAL | HKDHND | HNDISG 45,800 61% | F:48,900, :45,700, £:46,100, 1:60,000, H:48,300
B JAL JAL | ISGHND [HNDHKD| 46,900 60% | /:69.700, %:48,000. £+ H:49.800
BFH=/I JAL JAL | AOJHND [HNDKMQ|  14.800 79% £+ H:15500
JAL JAL _|KMQHND|HNDAOJ| 15300 78% |&+ H:16,500
EHR=mRAE JAL JAL [ AOJHND [HNDSHM| 29,600 62%
JAL JAL | SHMHND|HNDAOJ| 29,600 62%
EHR=RL JAL JAL [ AOJHND[HNDOKJ| 28,100 65% | H:29,600. 7k:27,400, A:28,600, %:29,100, H:29,300
JAL JAL | OKJHND [HNDAOJ| 27,000 66% | /9:28,200, %:26,700, +:28,800, H:27,800
BEH=LE JAL JAL | AOJHND | HNDHIJ 30.200 63% | HA+:30,500, 7K:29.800, %£:29,500, H:29,900
JAL JAL | HIJHND [HNDAOJ| 29,500 63% | /9:30.500, JKA:28,700. 30,200, +:29,700, H:30,000
EHR=ILOFH JAL JAL | AOJHND [ HNDUBJ| 25,300 70% _[H:30.400, 7k:24,900. K:25.700. £:29.800, + H:30,600
JAL JAL | UBJHND [HNDAOJ| 26,100 69% | F:30.200, JKA:25,700. :29,000, +:30,500, H:29,700
EAR=HE JAL JAL | AOJHND| HNDIZO | 29,600 62%
JAL JAL | AOJITM | ITMIZO 23,300 68% | F/KA® + H:29,600
JAL JAL | IZOHND [HNDAOJ| 29,600 62%
JAL JAL | 1IZOITM [ ITMAOJ | 23,100 68% :29,600, 7k:24,500. #:26.000, %:28,900
ER=EE JAL JAL _[AOJHND|[HNDTKS|  20.300 ZE :21.300
JAL JAL | TKSHND [ HNDAOJ| 20,300 ZTERE 1,300
EH=mh JAL JAL [ AOJHND [ HNDTAK|  20.200 ZE 0.500
JAL JAL | TAKHND [ HNDAOJ| 20,200 74% |% 1 H:20,500
'H=" JAL JAL [ AOJHND[HNDKCZ|  20.300 75% |4 00, + H:24.100
JAL JAL | KCZHND [HNDAOJ| 20,300 75% |&+ H:24,000
EHR=HIL JAL JAL [ AOJHND [HNDMYJ| 20,000 76% |4 0.500
D[ JAL JAL | AOJITM [ ITMMYJ | 22,500 69% :31,300, 7k:28,900. #:26.900, %:28,900
)| JAL JAL | MYJHND [ HNDAOJ| 20000 76% ,
D[ JAL JAL | MYJITM [ ITMAOJ | 22,500 69% 7,700, 7k:23,900. A:22,900. %:28,100, +:30,100
EHx=1tAm FIE) | JAL JAL | AOJHND | HNDKKJ 21,800 75% :22.600
)| JAL JAL | KKJHND [HNDAOJ| 21,800 75% 2,600
EHR=Xn FIE) | JAL JAL _[AOJHND[ HNDOIT | 21.700 75% 2,500
D[ JAL JAL | AQJITM | ITMOIT 27,200 63% :34,100, 7k:33,400, A:31.400, %:33,400
FE) | JAL JAL | OITHND [HNDAOJ| 21,700 75% ,
D[ JAL JAL | OITITM | ITMAOJ | 27,200 63% 5,300, 7K:28,600. A:27,000. %:32,200, +:34,200
EHR=RE FIE) | JAL JAL [ AOJHND [HNDNGS|  23.200 74% £+ H:24.000
D[ JAL JAL | AOJITM [ ITMNGS | 30.400 63% | AJK+E H:35900, A:34,800, £:35.600
RE) | JAL JAL | NGSHND [ HNDAOJ| 23200 74% |£+ H:24.000
D[ JAL JAL | NGSITM | ITMAOJ | 30,200 63% | A H:35,300, 7k:27,200, £:32,400, £:35900
EHR=RX FIE) | JAL JAL [ AOJHND [HNDKMJ|  21.800 75% 2,600
D[ JAL JAL | AOJITM [ ITMKMJ | 26,200 67% 5,900, 7k:32,600, 7:33.800. £:33,100
D[ JAL JAL | KMJHND [ HNDAOJ| 21,800 75% 22,
)| JAL JAL | KMJITM | ITMAOJ 5,800 68% | A H:35,100, 7k:28,200, £:27,000, £:31,800, £:35,900
EHR=E15 FIE) |  JAL JAL | AOJHND | HNDKMI 1,800 75% |+ H:22,600
)| JAL JAL | AOJITM | ITMKMI 0,100 62% |/ H:35900, 7K:33,900, A £:35,500. £:35.400
FIED | JAL JAL | KMIHND | HNDAOJ 1,800 75% |21 H:22,600
)| JAL JAL | KMIT ITMAOJ 0,100 62% | A H:35.900, 7k:28,400, 7:28,100, £:33,000, F:35.300
EHR=ERE FIE) | JAL JAL | AOJHND | HNDKOJ 00 74% |1 0:24.000
)| JAL JAL [ AOJI ITMKOJ 00 69% | A H:32,900, 7K:31,700, A +:33,300. £:31,700
FIED | JAL JAL | KOJHND | HNDAOJ ,200 74% _[£1 H:24,000
KR ()| JAL JAL [ KOJITM [ ITMAOJ [ 27,500 67% | A H:36,000. 7k:26,000, 7:29,000, £:31,700, +:36,200
EHR=R1E EHE  |EmCEAE)| JAL JAL | AOJHND | HNDISG 42,900 63% | 8:46,200, 7K:42,500, A:43,300, £:42,500, +:60,000, H:44,500
] (HE) | JAL JAL | ISGHND | HNDAOJ 500 63% | /3:69.700, KA:41,700, £:42,900, +:47,500, H:48,500
(HE) | JAL JAL | MSJHND [HNDKMQ ,800 79% |[#+H:15,500
(HE) | JAL JAL _|KMQHND | HNDMSJ ,300 78% £ H:16,500
(HE) | JAL JAL | MSJHND | HNDOKJ ,900 66% | /9:29,600. 7K:26,600, A:27,000, %:28.900, :27,700. H:28.400
(FE) | JAL JAL | OKJHND | HNDMSJ ,900 67% | H:27,000, A :25,700, £:28,100
(FE) | JAL JAL | MSJHND | HNDHIJ ,600 64% | 4:30,500, A 7,800
(HE) | JAL JAL | HIJHND | HNDMSJ ,300 65% | 9:30,500, % H:29,500, F:29,000
(FE) | JAL JAL | MSJHND | HNDUBJ ,900 70% | /3:29,000, %:29,300, +:31,000, H:30,100
(AE) | JAL JAL | UBJHND | HNDMSJ 500 71% _[A:29.400, 7K:25,700, A:25,300, £ H:28,500, £:29,300
(HE) | JAL JAL | MSJHND | HNDIZO ,600
=R CRE)| JAL JAL | 1IZOHND | HNDMSJ ,600
KRR JAL JAL | 1ZOIT ITMMSJ 600 0%
ZR=18 RCRA)| JAL JAL | MSJHND | HNDTKS 300 75% ,300
= )| JAL JAL | TKSHND | HNDMSJ ,300 75% ,300
)| JAL JAL | MSJHND | HNDTAK ,200 75% 500
)| JAL JAL | TAKHND | HNDMSJ ,200 75% 500
ZiR=%4 )| JAL JAL | MSJHND | HNDKCZ ,300 76% £ H:23,100
)| JAL JAL | KGZHND | HNDMSJ ,300 76% ,000
ZIR=#l )| JAL JAL | MSJUHND | HNDMYJ 000 77% 500
FIED | JAL JAL | MYJHND | HNDMSJ ,000 77% 500
)| JAL JAL [ MYJr ITMMSJ 1400 57% +£:32.900
R¥E FIE)|  JAL JAL | MSJHND | HNDKKJ ,800 77% 00
EIZNLES )| JAL JAL | KKJHND | HNDMSJ 800 77% 00
ZR% FIE)|  JAL JAL | MSJHND | HNDOIT ,700 77% 00
K55 )| JAL JAL | OITHND | HNDMSJ 700 77% 00
)| JAL JAL [ orTr ITMMSJ ,100 55¢%
ZIR=KI& ZIR% FIED | JAL JAL | MSJUHND | HNDNGS .200 76% + H:22,000
RIg 5 FIED | JAL JAL | NGSHND | HNDMSJ .200 76% | &+ H:22,000
| JAL JAL | NGSITM | ITMMSJ | 35,900 57% A:34,700, £:35,100
ZiR% FIE)|  JAL JAL | MSJHND [ HNDKMJ| 19,800 77% + H:20,600
REA S FIED | JAL JAL | KMJHND | HNDMSJ| 19,800 77% + H:20.600
| JAL JAL [ KMJI ITMMSJ | 35,900 56%
ZiR% FIE) | JAL JAL | MSJHND | HNDKMI | 19,800 77% |#&+ H:22,600
| JAL JAL [ MSJr [TMKMI 35,900 56% |7k:35,100
5T FIED | JAL JAL | KMIHND [HNDMSJ| 19,800 77% |+ H:22,600
| JAL JAL [ KMIT ITMMSJ | 35,900 56%
ZiR% FIE)|  JAL JAL | MSJHND | HNDKOJ ,200 76% £+ H:22,000
| JAL JAL [ MSJr ITMKOJ ,700 60% | A H:37.100, 7k:31,000, %:34,000, 1:34.400
ERES )| JAL JAL | KOJHND | HNDMSJ .200 76% &+ H:22.000
ABR(BFH | JAL JAL | KOJI ITMMSJ 500 59% | A H:35.800, 7k:35,000, #:36,600, %::35,000, 1:37,100




ZiR=%"1E ZiR%E CRA)| JAL JAL | MSUHND | HNDISG 41,700 64% | §:45.300. £:42,900, 1:60,000. H:44.900
hAER HE)|  JAL JAL | ISGHND [HNDMSJ| 41,700 64% | /3:69,700., %:42,900, +:45,200, H:48,500
ME=/L ES CRE)| JAL JAL | AXTHND [HNDKMQ| _ 17.200 73% £+ H:18.300
INASE HE)| JAL JAL _|KMQHND|HNDAXT|  17.100 73% |+ H:17.500
ME=miLEE | AR CRE)| JAL JAL | AXTHND [HNDSHM| _ 26.300 63%
Bt EES CRA)| JAL JAL | SHMHND| HNDAXT|  26.300 63%
ME=REL RS CRE)| JAL JAL | AXTHND [ HNDOKJ|  26.300 64% [+:25500
[EIES CRA)| JAL JAL | OKJHND [ HNDAXT| 26,000 64% | B 7kA:26.300, £:25.500, H:24.600
HB=LE PR CRE)| JAL JAL | AXTHND | HNDHIJ 28,000 62% | 1:27.500, H:26.200
LE% (FE)|[ JAL JAL | HIJHND [HNDAXT| 27,200 63% | H/KA%£:28,000, 1:26.400, H:27.400
WE=LAOFH RS (FA)|[ JAL JAL | AXTHND [ HNDUBJ| 25,000 68% | H:28,100, 7kA:26,000, £:30,200, +:27,300, H:26,400
JAL JAL | UBJHND [ HNDAXT | 25,500 67% | :27.300, JK:26,500, A:27,200, %:28,800. +:25,600. H:24,800
ME=HE JAL JAL | AXTHND | HNDIZO | 29,100 59% |A:20,800, %:28,200, +:28,400, H:28,500
JAL JAL | AXTITM | ITMIZO 26,300 62% |7K:25,200
JAL JAL | 1IZOHND | HNDAXT | 29,800 58% | H:28,600, £:29,000
JAL JAL | IZOITM | ITMAXT | 26,300 62%
HE=#8 JAL JAL | AXTHND [ HNDTKS|  20.200 72%
JAL JAL | TKSHND [ HNDAXT | 20,200 72%
ME=ER JAL JAL | AXTHND [ HNDTAK|  20.200 72%
JAL JAL | TAKHND [ HNDAXT | 20,200 72%
nE=F JAL JAL | AXTHND [ HNDKCZ|  20.300 73%
JAL JAL | KCZHND [ HNDAXT | 20,300 73% :
WA= JAL JAL | AXTHND [ HNDMYJ| 20,400 73% 0,900
JAL JAL | AXTITM | ITMMYJ | 25,700 62% 6.700. 7k:24,400, 7:26.500. £:26.400
JAL JAL | MYJHND [ HNDAXT | 20.400 73% |£+ H:20,900
JAL JAL | MYJITM | ITMAXT | 25,700 62% | A:26,100, £:27,600
#ME=4tAM [ PEX | JAL JAL | AXTHND | HNDKKJ 30,500 62%
EZES JAL JAL | KKJHND [ HNDAXT | 29,900 63% | A/KAZ £:30500. H:29,000
HBE=X% ES JAL JAL | AXTHND | HNDOIT | 28,800 64% [A7 + H:30.500
JAL JAL | AXTITM | ITMOIT 30,400 56% A4 H:30.500., 7K:28,900
A% JAL JAL | OITHND | HNDAXT | 29,200 63% | AJKA%:30500, £:29,800. H:28,300
JAL JAL | OITITM | ITMAXT | 30,900 56% | H:32.400. 7k:30,600. K:30.200, £ 1:31,000, H:32.200
HBE=RE ES JAL JAL | AXTHND [HNDNGS| 28,800 66% | A A=+ H:32.200. 7K:31.700
JAL JAL | AXTITM [ ITMNGS | 32,200 59% |7k:31,900
R5 JAL JAL | NGSHND | HNDAXT 600 65% | A A:32,200, 7k:31,700, %:32,000, +:30,600, H:29,400
JAL JAL | NGST ITMAXT ,200 59% | A H:30.200, 7k K:29,000, £:29,400
ME=REX PEES JAL JAL | AXTHND | HNDKMJ ,200 4% | A€+ H:32,200, 7K:32,100
JAL JAL | AXTT ITMKMJ ,500 1% | A+ H:32,200, k:29,300, %:30,100
(3 JAL JAL | KMJHND | HNDAXT ,800 4% | H:32,200. 7K:29,800. 730,500, £:29,600. £:30,600, H:28,300
JAL JAL | KMJI ITMAXT ,800 59% | A H:32,000, A +:32,200
ME==& PEES JAL JAL | AXTHND | HNDKMI ,400 65% | AA%+ H:32,200. 7K:30,600
JAL JAL | AXTT ITMKMI ,200 57% [/K:31,000, %:31,800
B JAL JAL | KMIHND | HNDAXT ,800 4% | H:32,200, 7K:30,200. 731,700, £:30,100, £:30,600, H:27,900
JAL JAL | KMII ITMAXT ,200 7% | A:31,300
ME=ER PEES JAL JAL | AXTHND | HNDKOJ 700 6% &+ H:20,800
JAL JAL | AXTI ITMKOJ ,300 62% | H:32,400. 7K:28,800, A +:31,700, £:30,000, H:32,500
JAL JAL | KOJHND | HNDAXT 9,700 76% + H:20,800
JAL JAL | KOJI ITMAXT 2,900 58% | A%+ H:33,400, 7k:32,200, £:31,700
ME=FhE JAL JAL | AXTHND | HNDISG 0,100 63% | AskA < H:40,600. £:60,000
JAL JAL__| ISGHND | HNDAXT 0,100 63% | /3:69,700, K A% +:40,600, H:47.400
EE=HE JAL JAL | HNAITM | ITMIZO 100 59% | A+ H:35.600, A:32.400, £:34,700
JAL JAL | 1ZOIT| MHNA ,700 53%
EHE=RIL JAL JAL | HNA MMYJ 600 60% | A A+ H:32,400, 7K:30,000, £:30,000
JAL JAL YJIT MHNA 0,000 57%
EE=Xn JAL JAL | HNA ITMOIT 700 56% | A+ H:32.400. 7k:33,700, £:33,700
JAL JAL ITIT MHNA ,700 54%
EE=RIE JAL JAL | HNAI MNGS 100 58%
JAL JAL GSITM | ITMHNA ,100 58%
TEE=REAX JAL JAL | HNA MKMJ ,900 58% | A+ H:35.600. 7k:33,700, £:34,700
JAL JAL JIT MHNA ,700 57%
A== JAL JAL | HNA ITMKMI ,900 58% | A+ F:35.600. 7k:33,700, £:34,700
JAL JAL | HNAFUK | FUKKMI ,600 65% | A A+ H:32,900, £:34,300
JAL JAL | KMITM | ITMHNA ,700 57%
JAL JAL | KMIFUK | FUKHNA ,400 64% | A+ H:37,700, 7K:30,700, A:30,200, £:35400
EE=RR JAL JAL | HNAITM | ITMKOJ 400 60% | A+ H:35.600, 7kA:34,100, £:34,700
JAL JAL | KOJI ITMHNA ,100 58%
IEDNN JAL JAL | GAJHND [HNDKMQ ,500 65% | :22.400, K A:18,900, £:21,600, +:22,300, H:20,200
JAL JAL__|KMQHND | HNDGAJ ,500 65% | /:22.500, KA:18,900, £:21,700, £:20,700, H:19.900
Witz =Fa Ll JAL JAL | GAJHND | HNDOKJ .900 7% | +:21,900, H:21,700
JAL JAL | OKJHND [ HNDGAJ 0,900 7% | H:21,300, £:22,300, 1:20,800, B:19.900
W =E5 JAL JAL | GAJHND | HNDHIJ ,600 % | A:25,200 :24,500, H:22,700
JAL JAL | HIJHND | HNDGAJ ,300 A:24,600, +:22,500, H:24,000
Wiz=1LOFER JAL JAL | GAJHND | HNDUBJ 800 s | H:21,400, %:23,800, £:26,300, H:25,400
JAL JAL | UBJHND | HNDGAJ ,100 72% | :23,300, 7K:21,100, A:20,700, %:23,700, £:23,100. H:22,300
Wiz =H%E JAL JAL | GAJHND | HNDIZO ,100 52% |A:29,800, & 1 H:27,900
JAL JAL | GAJI ITMIZO ,900 58% | A1:28500
JAL JAL | 1ZOHND |HNDGAJ ,800 51% H:27,900
JAL JAL | 1ZOITM | ITMGAJ ,900 50%
Wiz =f#8 JAL JAL | GAJHND | HNDTKS ,500 57% :23,400
JAL JAL | TKSHND [ HNDGAJ ,500 57% 700, H:23,300
Wi =m JAL JAL | GAJHND | HNDTAK 000 60% 800, H:22,300
JAL JAL | TAKHND [ HNDGAJ ,500 59% 400
Witz =41l JAL JAL | GAJHND | HNDMYJ 000 59% 000, + H:26.300
JAL JAL | GAJL ITMMYJ ,300 60%
JAL JAL | MYJHND | HNDGAJ ,300 60% | +:24,800
JAL JAL | MYJL ITMGAJ ,300 60% | £:27.300
WL =X% JAL JAL | GAJHND | HNDOIT 400 68% | 9:25,800. 7K:24,000, A:24,800. %:26,300, £:30,200. H:29.600
JAL JAL_| GAJL ITMOIT ,600 57%
JAL JAL | OITHND | HNDGAJ ,600 66% | :27,000, 7K:23,200, £:27,200, +:25.800, H:25.600
JAL JAL | oIT ITMGAJ ,900 51%
itz =Rl JAL JAL | GAUHND | HNDNGS 400 70% | H:26,600. 7K:24,400, A:25,700, £:27,200. F H:32,200
JAL JAL | GAJL ITMNGS ,200 58%
JAL JAL | NGSHND | HNDGAJ ,200 66% | /3:27,400. 7K:25,600, A:24,000, %:28,.800, £:27,000. H:27.200
JAL JAL | NGSITM | ITMGAJ ,900 56%
Wiz =Rex JAL JAL | GAJHND | HNDKMJ ,000 66% | H:27,000. 7K:24,800, A:26,500, £:28,000. F H:30,500
JAL JAL | GAJL ITMKMJ ,500 59%
JAL JAL | KMJHND [ HNDGAJ ,000 66% | :27.400, 7K:23,600, £:27.600, +:26.600, H:25.600
JAL JAL | KMJI ITMGAJ ,900 54%
Wiz == JAL JAL | GAUHND | HNDKMI 400 68% | H:26.200. 7K:24,000, A:25,700, £:27,200. F H:30,500
JAL JAL | GAJL ITMKMI ,500 59%
JAL JAL | KMIHND | HNDGAJ 2,400 68% | :27,000, 7:22,800, £:27,300, £:25900. H:25,600
KRR JAL JAL | KMITM | ITMGAJ 3,900 54%




W =ERE s [RE(EE)| JAL JAL | GAJHND | HNDKOJ| 23,100 69% | A+ H:32.200, 7K:26,400. :25,800, £:29,600
D[ JAL JAL | GAJITM [ ITMKOJ | 30,000 61% | A/KAS+ H:32,200
BERBR FE)|  JAL JAL | KOJHND [HNDGAJ| 23,600 68% | 3:27.400, JKA:24,400, %:27.200. + H:26,000
D[ JAL JAL | KOJITM [ ITMGAJ | 33,900 56%
W =Fh1E FED | JAL JAL | GAJHND | HNDISG | 36,700 63% | /3:41,300, %:38,200, +:60,000, H:40,200
RED | JAL JAL | ISGHND [HNDGAJ| 36,700 63% | /3:69,700, %:37,000, +:42,400, H:47,400
e=HE | JAL JAL | SDJITM | ITMIZO 26.300 60%
D[ JAL JAL | IZOITM | ITMSDJ | 26,300 60%
& =H1l | JAL JAL | SDJITM | ITMMYJ 27.900 57% | B+ H:28.000, 7K:26,500. &:23.200, £:26,500
| JAL JAL | MYJITM | ITMSDJ 28,000 56% | Ask%€+ 0:27.300. K:27,700
i&E=xX% | JAL JAL | SDJITM | ITMOIT 29,600 56%
D[ JAL JAL | OITITM | ITMSDJ | 29,600 56% |7K:29.000, A £:29,400
W& =RiE | JAL JAL | SDJITM | ITMNGS 32.200 57% | A:30.800, &
D[ JAL JAL | NGSITM | ITMSDJ | 32,200 57% [7K:31,600, £:31,800
e =X | JAL JAL | SDJITM | ITMKMJ 30,500 58%
D[ JAL JAL | KMJITM | ITMSDJ | 30,500 58%
e == | JAL JAL | SDJITM | ITMKMI 32.200 55% | A:31,400
D[ JAL JAL | KMITM | ITMSDJ | 32,200 55%
WeE=ERE s | JAL JAL | SDJITM | ITMKOJ 32.200 58% |7K:32.100, 7:30.100
D[ JAL JAL | KOJITM | ITMSDJ | 32,200 58%
D[ JAL JAL | KITM | ITMIZO 23,800 63%
D[ JAL JAL | 1IZOITM | ITMKIJ 23,800 63%
D[ JAL JAL | KIITM [ ITMMYJ | 25700 59% | AKAL H:22.400. £:24,000
| JAL JAL | MYJITM | ITMKIJ 25,700 59% |7K:22,400, A& +:22,800, £:22,400
D[ JAL JAL | KITM | ITMOIT 28,000 57% |H:27.700
| JAL JAL | OITITM | ITMKIJ 28,000 57% |7K:26.600. A% +:26,900
| JAL JAL | KIJITM | ITMNGS 30,500 58% | Hsk% H:27.500, A:28,300, 1:28.900
| JAL JAL | NGSITM | ITMKIJ 30,500 58% |7K:28,200, A:27,500, £:28,600
D[ JAL JAL | KIUITM [ ITMKMJ | 29.000 59% |/ H:29,200, 7K:27,000, 7:28,700, £:28,200, F:29,600
| JAL JAL | KMJITM | ITMKIJ 29,600 58% |7K:29,000, A +:29,300, £:29,100
D[ JAL JAL | KIJITM | ITMKMI | 29,600 58% |7K:28.200. 7:29,000. 1:28,200
D[ JAL JAL | KMITM | ITMKIJ 29,600 58%
D[ JAL JAL | KIITM [ ITMKOJ | 29,800 60% | /9:30,200. 7K:26,200. A:28,200, %:27,600. +:30,300. H:28,600
D[ JAL JAL | KOJITM | ITMKIJ 30,500 59% | A:30.100
ANA=FE L INEASE JAL JAL _|KMQHND|HNDOKJ| 23,000 67% | H:24.900. 7K:23,100, K:23,500, %:24,400, 1:22,600. H:24.800
i LLy & JAL JAL | OKJHND [HNDKMQ| 22,500 68% | H:24.200. 7K:23,100, K:23,500, %:24,600, 1:24.700. H:23.000
IMA=IEE NEASE JAL JAL _[KMQHND]| HNDHIJ 25,400 64% | H7KAR%£:25500, 1:25,000, H:24.200
LB JAL JAL | HIJHND [HNDKMQ| 24,400 65% | A% +:25500, KA:24,800, H:23900
MA=ILAFE IMAFE B JAL JAL _|KMQHND|HNDUBJ| 19,800 74% | B:25.200, 7k A:20,200, £:25,600. £:25400, H:25,700
=% CRA)| JAL JAL | UBJHND [HNDKMQ|  20.200 73% | H:24.700. 7K K:20,600. £:24,600, £:24.100, H:22,900
IME=HE NEASE CRA)| JAL JAL _|KMQHND]| HNDIZO 29,600 56% | A:29.800, %:28,200, 1:28.400. H:28.500
EE) CBE) | JAL JAL | IZOHND [HNDKMQ| 29,800 56% |& H.28,600, £:29,000
IMA=TER N CRE)| JAL JAL _|KMQHND|[HNDTKS| 25,000 64% | A:25.900, +:22,800, H:24.400
BEZE GHE) | JAL JAL | TKSHND [HNDKMQ| 27,700 60% | #::25000, £:24700, H:22,800
INA=TER IMAFE CBE) | JAL JAL _|KMQHND|HNDTAK| 25,000 64% | A:26,100, £+ H:24.400
BINEE CBE) | JAL JAL | TAKHND [HNDKMQ| 24,400 65%
IMNA=TEH IMAFE HE)| JAL JAL _|KMQHND|HNDKCZ| 26,800 62% | +:26,000
B HE)| JAL JAL | KCZHND [HNDKMQ| 28,300 60% | £:26.700, & H:26,800
INA=HAL INEASE CRA)| JAL JAL _|KMQHND|HNDMYJ| 27600 62% | K:28,000. £+ H:26.300
[NITE:S CBE) | JAL JAL | MYJHND [HNDKMQ| 28,700 60% 7K K:29,800, £ 1 H:26,300
MR=JE M INEASE CRA)| JAL JAL _|KMQHND| HNDKKJ 28,100 64% | A H:28,600, 7k:28,500, 1:30,100
B[R CBE) | JAL JAL | KKJHND [HNDKMQ| 26,300 66% | A% +:28,600. /K:26,800, A H:27.400
INR=K5 B JAL JAL _|KMQHND| HNDOIT | 24,300 68% |H :26,700, 7:26,800. %:28,900
JAL JAL | OITHND [HNDKMQ| 23,900 69% | 9:29,400, JK:25,100, A&:24,700. %:28,000. +:27,900. H:27,000
M= RIG JAL JAL _|KMQHND[HNDNGS|  25.900 68% | H A:29.200. 7K:27,500, £:30.400. + H:32.200
JAL JAL | NGSHND [HNDKMQ| 25,900 68% | F:32.200. 7K:26,300. A:25.100, £ +:28.700. H:27,800
INA=FER JAL JAL _|KMQHND|HNDKMJ| 23,900 69% | A+ H:30.400, 7K:25,900. &K:27,600, £:29,800
JAL JAL | KMJHND [HNDKMQ| 24,300 69% | 9:30,400, JK:25,500, A:25,900, %:29,000. +:28,700. H:27.400
INA=E I JAL JAL _|KMQHND| HNDKMI 23,100 70% | B+ H:30.400, 7K:25,100. :26.800, £:28,400
JAL JAL | KMIHND [HNDKMQ| 23,100 70% | /3:30.400. K:24,300, A:23,500. %:26,300. +:27,900. H:27,100
IMA=ERE JAL JAL _|KMQHND|[HNDKOJ| 17500 78% £+ H:19.700
JAL JAL | KOJHND [HNDKMQ| 18,500 7% H:20,500
IMA=EH JTA _[JTA/RAC|KMQOKA[OKAMMY| 41,100 46% | A H:42,600, K#£:42,100, 1:45,000
JTA/RAC| JTA |MMYOKA|OKAKMQ| 41,100 46% | F:45.000, K£:42.100. + H:42.600
INA=F1E JAL JAL _|KMQHND| HNDISG | 37.400 65% | A% H:38,600, /KA:37,800, £:60.000
JTA _|JTA/RAC|KMQOKA| OKAISG | 41,100 50% | H:42,600. A%:42,100, +:45000
JAL JAL | ISGHND [HNDKMQ|  37.400 65% | 9:69.700, K A:37,800, 38,600, £:40,500, H:47.400
JTA/RAC| JTA | ISGOKA |OKAKMQ| 41,100 50% | H:45000, A£:42,100, + H:42.600
BL==% JTA_|JTA/RAC| OKJOKA |OKAMMY| 36,200 47% | H H:36,700, & %:37,400, +:38,700
JTA/RAC| JTA |MMYOKA| OKAOKJ| 36,200 47% | F:38,700, £:37,400. H:36.700
EL=F1E JTA _|[JTA/RAC| OKJOKA| OKAISG | 38,300 49% | H:38,200
AiE%  |##8(GBE) [JTA/RAC| JTA | ISGOKA [ OKAOKJ| 38,200 49% | A&+ H:38.300
EH== 5 SHFE & JAL JAL | KCZFUK | FUKKMI 23,700 60% | 7K:24,000, %:24,900, 1:24,500
L & JAL JAL | KMIFUK | FUKKCZ 22,900 61% | A H:24.000, K A% +:24.400
SR GRER) =FF PRI R [EE(BE) | JAL JAL | OKAHND|[HNDAOJ| 34,600 63% | H:42,500, :34,100, £:35,000, +:33,300, H:39,500
RER(F]  JAL JAL | OKAITM | ITMAOJ | 17.800 81% [7k:19.500, £:24,100, H:28,100
HEHE ([ER@E)| JAL JAL | AOJHND [HNDOKA| 33400 64% | H:36.000, 7K:34,800, #:36,200, & £:40,900, H:37.100
)| JAL JAL | AOJITM | ITMOKA | 27,000 71% | /:30,600. 7K:33,000, A:34,600, %:37,300. +:38,900. H:33,600
SR (| = R (R | )| JAL JAL | OKAHND | HNDMSJ 31,800 65% | §:40.900. 7K:32,600, K:32,100, £:33,800, +:36.700, H:37.800
RF )| JAL JAL | MSJHND [HNDOKA| 32,200 65% [ 7:34,600, 7k:34,000, %:40,900. +:39,000, H:36,900
S8 (RER) = hHE (FRER) R )| JAL JAL | OKAHND | HNDAXT| 30,600 64% | H:42.,500. 7K:33,700, K:33,300, %:33,500, 1:34.100. H:32.800
)| JAL JAL | OKAITM | ITMAXT | 22,400 75% | A+ H:24.200, K:19.600. A%:18,000
MERE [ERCEE)| JAL JAL | AXTHND |HNDOKA| 33,100 61% | H7kA:35.900, £:38,300. £:37.200. H:32,900
ABR(FH | JAL JAL | AXTITM | ITMOKA 29,800 66% | H:27.300. 7K:30,100, K:33,000, %:34.400, 1:37.200. H:30.300
SRAEGIRER) =1E%5 B8 (BRI S [ KIR (A | JAL JAL | OKAITM [ ITMHNA | 26.800 71% [+ H:33,500
] JTA JAL | OKAFUK | FUKHNA| 37,900 60%
eER [ AR JAL JAL | HNAITM [ ITMOKA | 33,800 63% [ A:35900, kA2 + H:37.900
] JAL JTA | HNAFUK | FUKOKA| 37,900 60%
SRAE (GIRER) = LR |ih#E (BRER) %[ (BIE) | JAL JAL | OKAHND |HNDGAJ|  26.800 65% | H:39,900, 7K:27,600, A:27,100, % +:27.500, B:31,600
RER(F]  JAL JAL | OKAITM | ITMGAJ | 26,900 69% | H:21,200, £:30,800, H:33,900
s [REGEE)| JAL JAL | GAJHND |HNDOKA| 27,500 64% | H:30.800. 7K:28,100, K:27.700, %:35.400, 1:37.200, H:29.800
RER(FA]  JAL JAL | GAJITM | ITMOKA | 30,200 65% |7K:33,100, 7:36,000, £ +:37,200. H:31,600
SR GRER) =LA | GRE R ER JTA JAL | OKAFUK | FUKSDJ 39,200 58% |7k A£:35.900, 1:38,900
KR (FA] JAL JAL | OKAITM | ITMSDJ | 39,200 54% |7k7K:34,100, £:38,900, F:37.400
(=¥ & JAL JTA [ SDJFUK | FUKOKA| 39,200 58% | A:39,100
RERF]  JAL JAL | SDJITM | ITMOKA | 32,000 63% :28,600, 7k A:29,800, % +:34,100. H:30,000
SRR GIRER) =/ [Sh#B (BRER) & (B3R (BIE) | JAL JAL | OKAHND |HNDKMQ| 29,500 64% | H:42.500. 7K:30,700, K:30.200, %:30,600, 1:28.900. H:33.400
N B2 JAL JAL _|KMQHND|HNDOKA| 28,300 66% [H:33200, 7k A:30,500, %:38,300, +:36,700, H:32,600
SRAE(GIRER) == 40 [hHE (GRER) 5 JTA JAL | OKAFUK | FUKKCZ 25,900 62% | FH:30,000
SEES JAL JTA | KCZFUK | FUKOKA| 25,900 62% |1:30,000




A8 (IRER) =HAl 15 JTA JAL | OKAFUK | FUKMYJ 24,100 63% | 8:30,000
1R JAL JTA | MYJFUK | FUKOKA| 24,800 62% | +:30,000
RRCAH) =EXXB(RR(PE) | ERS JAL JAL | HNDKOJ | KOJASJ 30,300 63% | H:38,300. 7k:31,500, A:32,000, %:33,200, + H:39,200
ABR(FH | JAL JAL | HNDITM | ITMASJ 35,900 54% | B7kA%£:38,300, £:43,200, H:37.400
BERER I3 JAL JAL | ASUKOJ [KOJHND|  31.900 61% | H:37.500. 7K:33,700, A:31,500, £:33,300, +:32,300, H:32,800
RER(FAD]  JAL JAL | ASJITM | ITMHND | 37,800 51% | H:43,200, 7k K:38,800, £:37,400. H:40,300
RROAB) =ERB|RR(HB)E|_ER JAL JAL | HNDKOJ | KOJKKX 33,600 58% | A+ H:43.300, 7K:36,100. &:36,300, £:38,600
BEKRE | AL JAL | HNDASJ | ASUKKX | 35900 50% | /:39,000, KA +:42,100, H:39,500
ERER fER JAL JAL | KKXKOJ [KOJHND| 32,600 60% [H:42,100, 7k A:34,100, £:36,500, +:38,200, H:39,000
BEXE | UAL JAL | KKXASJ [ASJHND | 37,500 48% | H:42.100. £:40,000, £:39,500, H:41,000
RRCPAB) =#zB|®R(HB)%|_ER JAL JAL | HNDKOJ| KOJTKN 38,800 55% | B+ H:44.300, 7K:39,200. K:40,500, £:41,700
EEAE [ JAL JAL | HNDASJ[ ASJTKN|  37.800 50% [:40.300, kA% +:42,800, H:40,700
mLER ER JAL JAL | TKNKOJ [KOJHND| 40,000 54% [:44.300, 7k A:38,000, £:39,600, +:41,600, H:42,400
R CRH) =4k RE[RECHE) | ER JAL JAL | HNDKOJ| KOJOKE | 40,200 54% | B+ H:46.300, 7K:41,400. K:41,900, £:43,100
SPKBRERSE | BER JAL JAL | OKEKOJ | KOJHND| 41,400 52% | H:46.300, & H:41,800
HRCAE) =55 [RZ(PE)%| ER JAL JAL | HNDKOJ| KOJRNJ 41,300 54% | B+ H:46.700, 7K:39,700. &:43,000, £:44,200
5% ER JAL JAL | RNJKOJ [KOJHND| 38,200 57% | §:40.900. &X£:39,700. £:42,100, H:42,900
KR =BEAG [ AR (FFOHE] ER JAL JAL | ITMKOJ | KOJASJ| 27500 59% | H:28,800. 7K:26,600. A:28,300, £:26,500, £ H:29,700
EEAER | BR JAL JAL | ASJKOJ | KOJITM 30,600 54% | B H:31,100. 7K:32,200, % +:30,800
KR (R =ERB| KR (B F|_ER JAL JAL | ITMKOJ | KOJKKX 32,900 50% | 5:34,200. 7K:32,000, A:33,700. £:32,000. £ H:35,900
EEKRE | JAL JAL | ITMASJ | ASJKKX 35,800 39% | A+:39.400
ERER R JAL JAL | KKXKOJ | KOJITM 35.400 46% | A H:35.700
BEXS [ UAL JAL | KKXASJ | ASJITM | 35800 39% | A H:39.400
AR (R =E2B|AREFHE| BERE JAL JAL | ITMKOJ | KOJTKN 36.000 50% | A+ H:37.300, 7K:33,600. &:36.800, £:35,000
mER fEIR JAL JAL | TKNKOJ | KOJITM 39,100 45% | F:38,800, 7K:36,800. A:34,800, £:36,000. H:39.400
BEXS [ UAL JAL | TKNASJ | ASJITM | 37,700 41% | F B:40.300
KB () =ik REB| KIR (51 5E| EEIR JAL JAL | ITMKOJ | KOJOKE|  37.400 48% | A+ H:38.700. 7k:36,500, A:38,200. £:36,500
XBERFE | EIR JAL JAL | OKEKOJ | KOJITM 39,900 45% | A H:40.200, 7K:40.700
KB (F#FH = AR (R _ER JAL JAL | ITMKOJ | KOJRNJ 38,500 48% | A+ H:39.800. 7k:36,100, A:37.100. £:37,500
JAL JAL | ITMASJ [ ASJRNJ | 41,300 42%
JAL JAL | RNJKOJ [ KOJITM | 31,600 57%
JAL JAL | FUKKOJ [ KOJASJ| 21,500 62% | /:22,800, A :22,000, £ H:22,900
JAL JAL | ASJKOJ | KOJFUK | 22,400 60% [H:23300. 7k:24,700. K:22.900. £:24,200, + H:23.400
JAL JAL | FUKKOJ [ KOJKKX | 27.400 51% | A A%:27.900, + H:29,600
JAL JAL | FUKASJ | ASUKKX | 31,400 42% |+ H:37.100
JAL JAL | KKXASJ [ ASJFUK | 31,400 42% | FH:34,500, £ H:37,100
JAL JAL | FUKKOJ [ KOJTKN| 30,500 50% | A%+ H:31.000
JAL JAL | FUKASJ [ ASJTKN| 34,200 42% |+ H:38.800
JAL JAL | TKNKOJ | KOJFUK| 30500 50% | A+ H:31,000
JAL JAL | TKNASJ [ ASJFUK | 31,700 46% | F:34,500, £ H:37,100
RRCRE) =53BE|FR CHB) 948 B#m) | JAL RAC _|HNDOKA|OKAOGN| 35,600 61% | H:42,600. 7k:36,400, A:35,900, % +:36.300, H:40,400
AiE JAL RAC | HNDISG [ ISGOGN | 35,100 61% | H:69.700, £:40,500, H:47.400
S5MEH BRI | RAC JAL | OGNOKA|OKAHND| 35,600 61% | H:42,600. 7K:36,400, A:35,900, % +:36.300, H:40,400
AiE RAC JAL | OGNISG [ ISGHND | 35,100 61% | H:69.700, £:40,500, H:47.400
KR () = S 3E | ABR (FF) 5948 (B) | JAL RAC | ITMOKA |[OKAOGN| 22,500 73%
SABE S B (A% | RAC JAL _|OGNOKA| OKAITM 22,500 73%
ABx (R878) =5 FRE | KAk (BEPE) %[ 048 GBER) | JTA RAC | KIXOKA [OKAOGN| 38,900 53%
AiE JTA RAC | KIXISG | ISGOGN| 453800 40% | H:40,300. JKK:46,500. & H:43,800. +:50,000
S5MEH BRI | RAC JTA | OGNOKA| OKAKIX 38,900 53%
AiE RAC JTA | OGNISG | ISGKIX 40,800 47% | H:50,300, KA £:41,500, £ H:42,300
LHE(PE) =5BE | 2HR (P E PR GH) | JTA RAC _|NGOOKA|OKAOGN| 32200 63% | H:32.400. 7K:32,600, K:32.700, %:33,200, 1:42.500, H:33.000
AiE JTA RAC | NGOISG [ ISGOGN | 48,700 41% | H H:49,600, K &:46,900, £:50.600
S5MEH [H#EGRE) | RAC JTA | OGNOKA|OKANGO| 39,900 55% | H:46.000
AiE RAC JTA | OGNISG [ ISGNGO | 47.100 43% | H:51.100. JK:47,500. £:49,200. £ H:50,200
fE =53 E L% [EGRER)| JTA RAC | OKJOKA [OKAOGN| 35,700 57% | A H:36.200, &K£:36.900. 1:38.200
SIESR |H#EGREH) | RAC JTA | OGNOKA| OKAOKJ 35,700 57% | H:38.200, +:36,.900, H:36.200
B =5BE EER B ERE) | JTA RAC | FUKOKA [OKAOGN|  24.300 67% | H:24,500, kA% H:24.600, 1:31,000
SMES |8 GRE) | RAC JTA | OGNOKA| OKAFUK 34,900 53% | H:35.800
hHE (FRER) = S IE | #E GRER) F JTA/RAC| RAC | OKAISG | ISGOGN 13,100 70% _[A:13,000
SES RAC _[JTA/RAC| OGNISG | ISGOKA 13,100 70% _[A:13,000
RRCRE) =ARB[HRCHEB) | JAL _[JTA/RAC| HNDOKA [ OKAUEO|  27.600 59% | H:42.500. 7K:28,200, K:27.900. H:30.200
AKER outarac]  JAL | UEOOKA[ OKAHND| 27,600 59% | /3:42,500, 7K:28,200, A:27,900, H:30,200
KR (R =ARB|XBR (FFH) F JAL _[JTA/RAC| ITMOKA [ OKAUEO| 29,000 51% | H:37.900. 7K:25,700, %:28.900. H:31.600
sastarac]  JAL | UEOOKA [ OKAITM | 29,000 51% | /:37.900, K:25,700, A:28,900, H:31,600
AR (BF) =AKE (B4 JTA [JTA/RAC]| KIXOKA [ OKAUEO| 33,000 44% | H:35500, 7KA:35,000, £:32,700, £:32,900, H:33,800
sasTarac]  JTA | UEOOKA [ OKAKIX | 33,000 44% [H:35500, 7KK:35,000, £:32,700, +:32,900, H:33,800
£HE(PEH) =AKE JTA _|JTA/RAC|NGOOKA| OKAUEO| 33,800 47% | F:46,000. 7K:34,200. :34,000. #:34,100. +:34,400, H:34,200
sastarac]  JTA | UEOOKA [OKANGO| 33,800 47% | F:46,000. 7K:34,200. K:34,000. #:34,100, £:34,400, H:34,200
BE=AKXE JTA [JTA/RAC| FUKOKA [ OKAUEO|  27.400 46% | A:31,500, B:27.300
E sastarac]  JTA | UEOOKA [ OKAFUK | 27.400 46% | H:31.500. H:27,300
FR (HE) =Rk | 3R CRE) (KR (FEF|  JAL JAL | HNDITM | ITMOKI 27.700 52% [H:29.500, 7k A:28,900, %:28,700, +:31,200, H:30,600
" JAL JAL | HNDIZO | 1IZOOKI 31,200 41% _[+:30.600. H:29,800
IRk [ RBRUR[ JAL JAL | OKITM | ITMHND 27.500 53% | H:31.200. 7K:28,300, A +:29,000, H:30.900
HE JAL JAL | OKIZO | 1ZOHND | 31,200 41% |£:31,000, £:30,300, H:30,200
SRHEGIRER) =R [hHE (RER) S| KIR (A1) | JAL JAL | OKAITM | ITMKIJ 21,700 74% _[H7K+:18.700. A:16.800, £:17.700, H:20.700
HR%k [ ARUFE[ JAL JAL | KIJITM | ITMOKA 28,100 66% | H:28.900. 7K:28,600, K:29.500, %:31,600, 1:33.800. H:28.300
1B =4LIR T T %) e % R CHE)|[  JAL JAL | FUKHND | HNDSPK| 39,900 57% | H#£1:40.800, K H:40,700
ARFTH E[ER(FHE)| JAL JAL | SPKHND | HNDFUK| 40,500 56% | A%+ H:40.800. K:39,800
EHR=%mil 5% LI E TR JAL JAL | AOJSPK[SPKMMB| 22,500 61%
iR [AREGTE)| JAL JAL _|MMBSPK| SPKAOJ 22,500 61% | A H:24,100
ME=%im5 PGS LR TR JAL JAL | AXTSPK | SPKMMB| 22,500 63%
2 i Bl ¢ HFR)|  JAL JAL | MMBSPK| SPKAXT 22,500 63% | A H:25800
2HE(PE) =F/5 282 (P [ R CHE) |  JAL JAL _|NGOHND|HNDOBO| 28,700 62% | 1:42,600. H:29,600
EIR —1' CBE)| JAL JAL__|OBOHND|HNDNGO| 25,800 66% | /3:42,600, %:28,500, +:27,900. H:28,700
ZEE (P =2 EE (hi) %[ (FHE)| JAL JAL _|NGOHND| HNDAKJ 32,800 57% | A H:36.900. :33,200. £:39,200, £:42,900
HE)| JAL JAL | AKJHND [HNDNGO| 26,200 66% | FH:42.900. 3 8,300, H:31,000
ESES ] CRE)| JAL JAL | TAKHND [HNDMMB| 39,800 57% | A:39.600. & 4,000, H:38,700
GHE)| JAL JAL _|MMBHND| HNDTAK| 37,200 60% 7,100, £:35,300, £:35.200, H:37.800
BR=%H5 CBE)|  JAL JAL | TKSHND [HNDMMB| 39,700 57% t:41,800, H:34,900
HE)|  JAL JAL _|MMBHND| HNDTKS| 40,100 57% 142,100, 7:40.600. £:35.200. -+ F:36.800
Ry=%im5| CRA)| JAL JAL | OITHND |[HNDMMB| _ 23.400 ITE
HE)| JAL JAL _|MMBHND| HNDOIT | 23400 7% 4
R =%m5] CRA)| JAL JAL | NGSHND |[HNDMMB| 23,900 IRE
A JAL JAL _|MMBHND|HNDNGS| 23900 7% 4
REA=%imA CRE)| JAL JAL | KMJHND [HNDMMB| 23,900 76% |4
CHE)|  JAL JAL__|MMBHND|HNDKMJ| 23,900 76% |4
B =% w5 CRE)| JAL JAL | KMIHND [HNDMMB| 23,900 76% |4
GHE)| JAL JAL _|MMBHND| HNDKMI | 23,900 76% |4
ERE=%i%5 CRE)| JAL JAL | KOJHND [HNDMMB| 23,900 7% |4
SIS CRA)| JAL JAL _|MMBHND| HNDKOJ| 23,900 ITE




ARFTR) =BEAB[ARFTR K| RRCAE)|  JAL JAL | SPKHND | HNDASJ| 51,300 50% | /:50.800. #:51,800, +:53,900, H:53,200
B3 HE)| JAL JAL | ASJHND [ HNDSPK| 46,900 55% | /3:55,400, JK:50,200, A:47.700, %:55,600. +:51,900. H:53200
ER=EXKE EHR (FE)|[ JAL JAL | AOJHND [ HNDASJ| 45700 54% | H:45.300, & H:46.400, £:47.000, +:50.700
BERER CRE)|  JAL JAL | ASJUHND [ HNDAOJ| 43,100 57% | /9:50,600. 7K:44,000, A:43,200, %:47,300. +:45,700. H:48,000
ME=EXXE ES CRE)| JAL JAL | AXTHND [ HNDASJ| 47500 49% | F:43.900. £::48,400, £:47,300, H:42,700
BERER CRE) | JAL JAL | ASJUHND [ HNDAXT | 41,100 56% | H:47.700. 7K:43,600, A:43,500, £:44,200, +:45,300, H:42,900
IMA=EERE IMAFE CBE)|  JAL JAL_|KMQHND| HNDASJ| 41,300 54% | 41,200, %:42,100, +:43,800, H:41,700
BERER CRE) | JAL JAL | ASJHND [HNDKMQ| 38,000 58% | H:45.100. 7K:39,600, A:38,800, £:41,600, £:41,300, H:42,900
=4I EHASE CRE)| JAL JAL | TAKHND [ HNDKUH| 37,900 58% | A: S 0,100, £:41,100, H:41,700
BIERSE CBE)| JAL JAL | KUHHND [ HNDTAK| 36,400 60% | A: :38.300, B:42.200
EE=4I% mEFE CRE)| JAL JAL | TKSHND [HNDKUH|  37.800 58% -
BIERSE CBE) | JAL JAL | KUHHND [ HNDTKS| 39,300 56%
Ao =4Ik A% CRE)| JAL JAL | OITHND [HNDKUH|  22.400 7% |3
HIERSE GHE)|  JAL JAL | KUHHND | HNDOIT | 22,400 7% 4
RiE=4I% RiG% CRE)| JAL JAL [ NGSHND[HNDKUH| 22,900 7% |3
BIERSE HE)| JAL JAL | KUHHND [HNDNGS| 22,900 7% 4
REA=4I% AR CRE)| JAL JAL | KMJHND [HNDKUH| 22,900 7% |3
HIERSE HE)| JAL JAL | KUHHND [ HNDKMJ| 22,900 7% 4
B =4I ELES CRE)| JAL JAL | KMIHND [HNDKUH| 22,900 7% |3
| | SR CRA)| JAL JAL | KUHHND | HNDKMI 22,900 ITRE
ERE=8I% ERER CRE)| JAL JAL | KOJHND [HNDKUH| 22,900 7% |3
BIERSE GHE)| JAL JAL | KUHHND [ HNDKOJ| 22,900 7% 4
PREEEN NG CRE)| JAL JAL | HIJHND [HNDOBO| 35400 61% : K:34,800, £:33.500, 1:46,300, H:37.800
% HE)| JAL JAL _|OBOHND| HNDHIJ | 32,600 64% |A: K:33,500, £:32,700, +:33,600, H:34.300
BR=%k [N CRE)| JAL JAL | TAKHND [HNDOBO| 39,200 56% |k 2:34,900.
% HE)| JAL JAL _|OBOHND|HNDTAK| 34,800 61% [A: £:34,500,
BE=FK EmER CRE)| JAL JAL | TKSHND [HNDOBO| 39,100 56% |k >:34,600.
HLE CBE)|[ JAL JAL | OBOHND| HNDTKS|  37.700 58% | A: 38,300 5.900. F:34.500. H:33.600
Aa=%Ik A% CREA)| JAL JAL | OITHND |HNDOBO| 22,000 ITE
% HE)|  JAL JAL _|OBOHND| HNDOIT | 22,000 7% 4
RIBE=FK U F CRE)| JAL JAL [ NGSHND[HNDOBO| 22,500 78% |4
L% GHE)|  JAL JAL _|OBOHND|HNDNGS| 225500 78% |4
BA=FK BA%R CRE)| JAL JAL _|KMJHND [HNDOBO| 22,500 7% |3
w3 CRA)| JAL JAL _|OBOHND|HNDKMJ| 22,500 ITRE
BB=FK EEES CRE)| JAL JAL | KMIHND [HNDOBO| 22,500 7% |3
R % CRA)| JAL JAL | OBOHND| HNDKMI 22,500 ITRE
ERBE=%E ERER CRE)| JAL JAL | KOJHND [HNDOBO| 22,500 78% |4
HIRSE CBE) | JAL JAL _|OBOHND|HNDKOJ| 225500 78%
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iR =Ll Tl [RERCHE)| JAL JAL _|MMBHND | HNDMYJ 41,000 57%
WILFE  [RERCHE)| JAL JAL | MYJHND [HNDMMB| 40,200 58% /K:41,000, A:37,300
iR =HhiE ZimAlFE [RERCHE)| JAL JAL _|MMBHND| HNDISG 50,500 61% | K:57,800
TR =My BIIFE  [RECHE)| JAL JAL | AKJHND | HNDKMQ 29,900 63%
AR [RFECHE)|  JAL JAL _|KMQHND| HNDAKJ 31,600 61% | H:32,300, A:32,600
BNI=miak | MBI |EFECHH)| JAL JAL | AKJHND | HNDSHM 32,200 64% | H:34,200, 7K:33,500, A:33,300
Bt EESR |RRCHE)| JAL JAL | SHMHND | HNDAKJ 37,200 59%
TBJI=FRE 1l MBI  [RECHE)| JAL JAL | AKJHND | HNDOKJ 33,700 63% | H:35,000, 7K:34,300, A:33,800
FELFE |[ERCHE)| JAL JAL | OKJHND | HNDAKJ 35,600 61% | H:36,100, 7K:36,600, A:36,900
BII=HE MBI  [RECHE)| JAL JAL | AKJHND | HNDIZO 35,900 60%
HEFX |[ERCHE)| JAL JAL | IZOHND | HNDAKJ 35,900 60%
TEJI=#210 MBI [RECHE)| JAL JAL | AKJHND | HNDMYJ 39,400 58% | H:40,400, JK7K:41,000
WL [RERCHE)| JAL JAL [ MYJHND | HNDAKJ | 41,000 56% | A:39,200
BII=F18 MBI [RECHHE)| JAL JAL | AKJHND | HNDISG 49,800 61% | 7K:53,700
HIEE =/ IR [WECHHE)| JAL JAL | KUHHND | HNDKMQ 33,700 58%
AR [RFECHE)| JAL JAL | KMQHND | HNDKUH 33,700 58%
HIER =R HIEEFE [WECHHE)| JAL JAL | KUHHND | HNDOKJ 36,300 60% | H:35,600, 7K:36,000, A:34,300
L% [ERCHHE)| JAL JAL | OKJHND | HNDKUH| 36,200 60% | H:36,000, A:35,000
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HECAE)| JAL JAL | KUHHND | HNDHIJ 36,000 61%  |7K:38,000, #:35,300
REECRAE)|[ JAL JAL | HIJHND [ HNDKUH| 36,700 60% | :36,600. 7K:38,500, A:34,800
REECRAE)|[ JAL JAL | KUHHND | HNDIZO 35,900 60%

RERECRAE)|[ JAL JAL | IZOHND [ HNDKUH| 35,900 60%

REECRAE)|[ JAL JAL | KUHHND [ HNDMYJ| 41,000 56% | H:40,800

REECRAE)|[ JAL JAL | MYJHND [ HNDKUH| 39,900 57% | H:39,800., 7K:41,000, £:37,300
REFECRAE)|[ JAL JAL | KUHHND | HNDISG 45,000 64% | A:52,300

REFECRAE)|[ JAL JAL _|OBOHND|HNDKMQ| 31,800 60% | K:31,400

REECRAE)[ JAL JAL _|KMQHND[HNDOBO| 31,800 60%

REECRE)[ JAL JAL _|OBOHND| HNDOKJ| 33,400 63% | H:32,700, 7K:33,100, A:32,600
REECRAE)|[ JAL JAL | OKJHND [HNDOBO| 34,800 61% | H:34,600, A:35,000
REECRAE)[ JAL JAL _|OBOHND]| HNDIZO 35,900 59%

REECRAE)[ JAL JAL | 1IZOHND [HNDOBO| 35,900 59%

REECRAE)|[ JAL JAL _|OBOHND| HNDMYJ| 39,100 58% | H:37,900, /K K:41,000
REECRAE)|[ JAL JAL | MYJHND [HNDOBO| 39,400 57% | :38,400. 7K:41,000, £:37,300
REECRAE)[ JAL JAL | OBOHND]| HNDISG 48,600 61% | A:55,900

REECRAE)[ JAL JAL | HKDHND [HNDKMQ| 28,400 60%

RERECRAE)|[ JAL JAL _|KMQHND| HNDHKD| 28,400 60%

REECRAE)|[ JAL JAL | HKDHND | HNDOKJ| 33,100 59% 7/K:33,600, A:32,300
REECRAE)|[ JAL JAL | OKJHND [ HNDHKD| 33,300 59% | H:33,100, A:32,100
REECRAE)|[ JAL JAL | HKDHND | HNDHIJ 34,000 59% 7/K:36,000, A:33,300
REECRAE)|[ JAL JAL | HIUHND [HNDHKD| 33,700 59% | 7/K:35,600, A:31,900
REECRE)[ JAL JAL | HKDHND | HNDIZO 34,800 56%

ABR(FFD | JAL JAL | HKDITM | ITMIZO 33,400 56% | 7:33,100

REECRE)[ JAL JAL | IZOHND [ HNDHKD| 34,800 56%

ABRUFFD | JAL JAL | 1ZOITM | ITMHKD 34,800 54%

REECRE)|[ JAL JAL | HKDHND | HNDMYJ| 38,800 54% | H:38,500

ABRUFFD [ JAL JAL [ HKDITM [ ITMMYJ 25,900 65% | H:26,300, A:25,600
REECRAE)|[ JAL JAL | MYJHND [ HNDHKD| 37,000 56% | 5:36,900. 7K:38,800, A:34,400
ABR(FFD | JAL JAL | MYJITM | ITMHKD 34,500 54% | H:34,900

REECRAE)[ JAL JAL | HKDHND | HNDKKJ 29,100 67% | A:30,100

REECRAE)[ JAL JAL | KKJHND [ HNDHKD| 28,100 69%

REECRAE)|[ JAL JAL | HKDHND | HNDOIT 21,900 75%

ABRFFH [ JAL JAL [ HKDITM | ITMOIT 28,700 63% | H:29,100, A:28,800
REECRAE)|[ JAL JAL | OITHND [ HNDHKD| 21,900 75%

ABRUFFD | JAL JAL OITITM_| ITMHKD 33,400 57%

REECRAE)|[ JAL JAL | HKDHND | HNDNGS| 22,400 76%

ABRFFH [ JAL JAL | HKDITM [ ITMNGS 31,600 63% | H:32,000, A:31,700
REECRAE)|[ JAL JAL | NGSHND | HNDHKD| 22,400 76%

ABRUFFD | JAL JAL | NGSITM | ITMHKD 34,700 59%

REECRE)[ JAL JAL | HKDHND | HNDKMJ| 22,400 75%

ABRUFFD [ JAL JAL [ HKDITM | ITMKMJ 29,400 64% | H:28,000, 7K:27,600, A:27,700
REECRE)[ JAL JAL | KMJHND [ HNDHKD| 22,400 75%

ABRUFFD | JAL JAL | KMJITM | ITMHKD 34,700 58%

RECRE)[ JAL JAL | HKDHND | HNDKMI 22,400 75%

ABR(FFD | JAL JAL | HKDITM | ITMKMI 22,000 73% | K:21,600

REECRAE)|[ JAL JAL | KMIHND [ HNDHKD| 22,400 75%

ABRUFFD | JAL JAL | KMITM | ITMHKD 34,700 58%

REECRAE)[ JAL JAL | HKDHND | HNDKOJ| 22,400 76%

ABRUFFH [ JAL JAL [ HKDITM | ITMKOJ 29,800 66% | H:30,200, A:29,900
REECRE)[ JAL JAL | KOJHND [ HNDHKD| 22,400 76%

ABRUFFD | JAL JAL | KOJITM | ITMHKD 35,600 59%

REECRAE)[ JAL JAL | HKDHND | HNDISG 46,800 60% | H:47,700, A:49,800
REECRAE)[ JAL JAL | AOJHND [HNDKMQ| 14,800 79%

REECRAE)|[ JAL JAL _|KMQHND| HNDAOJ 15,300 78%

REECRAE)[ JAL JAL [ AOJHND [HNDSHM| 29,600 62%

REECRAE)[ JAL JAL [ SHMHND| HNDAOJ| 29,600 62%

REECRAE)[ JAL JAL [ AOJHND [ HNDOKJ| 25,300 68% | H:27,900. 7K:25,900, A:25,800
REECRAE)[ JAL JAL | OKJHND [ HNDAOJ| 27,800 65% | H:28,000, A:27,400
REECRAE)|[ JAL JAL [ AOJHND [ HNDHIJ 26,700 67%  H:28,700, 7K:28,100, A:27,200
REECRAE)|[ JAL JAL | HIJHND [ HNDAOJ| 28,100 65% | H:29,100, 7K:29,300, &:27,200
REECRAE)|[ JAL JAL | AOJHND | HNDUBJ 28,200 67%  H:31,000, 7K:29,100, &:31,100
HECRAE)|[ JAL JAL [ UBJHND [ HNDAOJ| 28,100 67% | HK:28,500, K:29,700
REECRAE)[ JAL JAL [ AOJHND | HNDIZO 29,600 62%

ABR(FFD | JAL JAL [ AOJITM [ ITMIZO 30,500 58% | H:29,600

REECRE)[ JAL JAL | IZOHND [ HNDAOJ| 29,600 62%

ABR(FFD | JAL JAL | 1ZOITM | ITMAOJ 35,500 51% | H:29,600

REECRAE)|[ JAL JAL | AOJHND | HNDTKS 20,300 74%

REECRAE)|[ JAL JAL | TKSHND [ HNDAOJ| 20,300 74%

REECRAE)[ JAL JAL | AOJHND | HNDTAK| 20,200 74%

REECRAE)[ JAL JAL | TAKHND [ HNDAOJ| 20,200 74%

RERECRAE)[ JAL JAL | AOJHND | HNDKCZ| 20,300 75%

REECRAE)[ JAL JAL | KCZHND [ HNDAOJ| 20,300 75%

REECRE)[ JAL JAL [ AOJHND [ HNDMYJ| 20,000 76%

ABR(FFD | JAL JAL [ AOJITM | ITMMYJ 32,300 55% | H:26,600

REECRE)[ JAL JAL | MYJHND [ HNDAOJ| 20,000 76%

ABR(FFD | JAL JAL | MYJITM | ITMAOJ 35,500 50% | H:26,600

REECRAE)[ JAL JAL [ AOJHND | HNDKKJ 21,800 75%

REECRAE)[ JAL JAL | KKJHND [ HNDAOJ] 21,800 75%




BEHR=KH BHE [EERGAE)| JAL JAL | AOJHND | HNDOIT 21,700 75%
ABR (FFD | JAL JAL [ AOJITM | ITMOIT 34,100 54% | H:29,400
Xa%E [RECHHE)| JAL JAL | OITHND | HNDAOJ 21,700 75%
AR (BFH[ JAL JAL [ OITITM [ ITMAOJ 39,500 47% | F:29,400, &:39,900
EH=KIE BHFE [EEGAE)| JAL JAL | AOJHND[HNDNGS| 23,200 74%
ABR (FFD | JAL JAL | AOJITM | ITMNGS 35,900 56% | H:32,300
RIERE [RECHIHE)| JAL JAL | NGSHND | HNDAOJ 23,200 74%
ABR (FFD | JAL JAL | NGSITM [ ITMAOJ 35,900 56% | H:31,900
BEH=EX BHFE [EEGHA)| JAL JAL | AOJHND | HNDKMJ 21,800 75%
ABR(FFD | JAL JAL | AOJITM | ITMKMJ 35,900 55% | H:31,300
BEARE [RECHHE)| JAL JAL | KMJUHND | HNDAOJ 21,800 75%
KPR (BFH] AL JAL [ Kmuitm | ITMAOJ 35,900 55% | H:27.900
BER=E& HFHRE  [EERGEAE)| JAL JAL | AOJHND | HNDKMI 21,800 75%
KPR (BFD| AL JAL [ AOJITM | ITMKMI 35,900 55% | H:33,800
=R |EECHA)| JAL JAL | KMIHND | HNDAOJ 21,800 75%
KPR (BFH| AL JAL | KMITM | ITMAOJ 35,900 55% | H:30,300
EHR=ERS EFHRE  [EERGEA)] JAL JAL | AOJHND | HNDKOJ 23,200 74%
KPR (BFH| AL JAL | AOJITM | ITMKOJ 37,100 56% | H:30,500
BREEX [HECHH)| JAL JAL | KOJHND | HNDAOJ 23,200 74%
RBR (FFH | JAL JAL | KOJITM | ITMAOJ 37,100 56% | H:30,500
EH=F1E BAE  [EERGHE)| JAL JAL | AOJHND | HNDISG 40,600 65% | F:42,500, A:48,500
=iR=/ =R% |EFCHH)| JAL JAL | MSJUHND | HNDKMQ 14,800 79%
MAF |ERFCHE)| JAL JAL | KMQHND| HNDMSJ 15,300 78%
=R=REW R¥E  |HmCHE)|  JAL JAL | MSJHND | HNDOKJ| 28,100 64% | H:27,400. 7K:27,800, A:26.900
RECAAE)| JAL JAL | OKJHND | HNDMSJ| 25,700 67% /K:27,100, A:26,200
ZR=IL8 HRERCHE)| JAL JAL | MSUHND | HNDHIJ 27,800 65%  [7K:29,800, &:27,100
RECRAAE)| JAL JAL | HIJHND | HNDMSJ| 26,500 67% | /K:27,400, A:26,000
SR=10F% HRERCHE)| JAL JAL | MSJUHND | HNDUBJ 30,500 64%  [7K:31,000, &:31,800
RECRAAE)| JAL JAL | UBJHND | HNDMSJ| 27,300 68% | /K:27,700. A:28,500
ZR=HZE HRERCHE)| JAL JAL | MSJHND | HNDIZO 29,600 62%
RRCHE) [ JAL JAL | IZOHND | HNDMSJ 29,600 62%
ABR (BFH| AL JAL | 1ZOITM | ITMMSJ 30,400 59%
ZR=ES HRERCHE)| JAL JAL | MSJHND | HNDTKS 19,300 75%
RRCHE) [ JAL JAL | TKSHND | HNDMSJ 19,300 75%
ZiR=-® BHRERCGHE)|[ JAL JAL | MSJHND | HNDTAK 19,200 75%
RRCHE) [ JAL JAL | TAKHND | HNDMSJ 19,200 75%
=iR=%4% HERCHE)| JAL JAL | MSJUHND | HNDKCZ 19,300 76%
RRCHE) [ JAL JAL | KCZHND | HNDMSJ 19,300 76%
=iR=#0 HRERCHE)| JAL JAL | MSJUHND | HNDMYJ 19,000 77%
RRCRAE)[ JAL JAL | MYJHND | HNDMSJ 19,000 77%
ABR (BFH| AL JAL [ MYJITM | ITMMSJ 32,600 55% | H:33,000
ZR=dAMm =R% |EFCHHE)| JAL JAL | MSJHND | HNDKKJ 19,800 77%
dhMHE [FERCEIHE)| JAL JAL | KKJHND | HNDMSJ 19,800 77%
ZR=X% =R% |EFCHH)| JAL JAL | MSJUHND | HNDOIT 19,700 77%
Xo% [HECHHA)| JAL JAL | OITHND | HNDMSJ 19,700 77%
ABR (BFH| AL JAL | OITITM | ITMMSJ 34,100 55%
ZR=FKI& =R% |EFCHH)| JAL JAL | MSJUHND | HNDNGS 21,200 76%
Rg%  [ERECRHA)| JAL JAL | NGSHND | HNDMSJ 21,200 76%
ABR (BFH| AL JAL | NGSITM | ITMMSJ 35,900 57%
ZR=8X R¥ |HERCHH)| JAL JAL | MSJHND | HNDKMJ 19,800 77%
BEAR [ERECHHA)| JAL JAL | KMJUHND | HNDMSJ 19,800 77%
ABR (BFH| AL JAL | KMJITM | ITMMSJ 35,900 56%
ZiR=E& =R%E | EmERGEHE)| JAL JAL | MSJHND | HNDKMI 19,800 77%
ABR (BFD| AL JAL | MSJITM | ITMKMI 33,100 59% | HA:33,500
=R |EECHA)| JAL JAL | KMIHND | HNDMSJ 19,800 77%
ABR (BFH| AL JAL | KMITM | ITMMSJ 35,900 56%
ZR=ERS =R%E | EmERGEHE)| JAL JAL | MSJHND | HNDKOJ 21,200 76%
ABR (BFD| AL JAL | MSJITM | ITMKOJ 32,900 61% | HA:33,300
BREF [HECRHA)| JAL JAL | KOJHND | HNDMSJ 21,200 76%
ABR (BFD| AL JAL | KOJITM | ITMMSJ 37,100 56%
= R=FR1E SR%E [EREREIHE)| JAL JAL | MSJUHND | HNDISG 42,900 63% | A:48,500
FUE =/ MERE [FEFERGIHE)| JAL JAL | AXTHND | HNDKMQ| 17,200 73%
MAF [ERFCHE)| JAL JAL | KMQHND| HNDAXT 17,100 73%
MH=FAE NEFE  [HFECAE)| JAL JAL | AXTHND | HNDSHM| 26,300 63%
B EER |[RRCHE) | JAL JAL | SHMHND | HNDAXT | 26,300 63%
A= A 3 HECHE)| JAL JAL | AXTHND | HNDOKJ 26,300 64%
L% |[EHERFCHE)| JAL JAL | OKJHND | HNDAXT 25,500 65%  [/K7K:26,300
MH=IL5 A [EFCHAE)|] JAL JAL | AXTHND | HNDHIJ 28,000 62%
LEE% [HFERCHIHE)| JAL JAL | HIUHND | HNDAXT 26,600 64% [ H:26,300. 7K:28,000, A:27,100
MHE=LOF MEFE [FEREREIHE)| JAL JAL | AXTHND | HNDUBJ 29,900 62%  7KA:30,500
WOFEFE [RFERCHHE)| JAL JAL | UBJHND | HNDAXT| 27,100 65%  7K:28,500, A:29,600
MHE=HE MERE [EERGHE)| JAL JAL | AXTHND | HNDIZO 28,200 60%  [7K:28,500, #:28,300
KPR (BFH| AL JAL | AXTITM | ITMIZO 26,300 62%
HER |[ERECHA)| JAL JAL | IZOHND | HNDAXT| 28,600 60%
ABR (BFH| AL JAL | 1IZOITM | ITMAXT 26,300 62%
ME=5 A [EFCHAA)| JAL JAL | AXTHND | HNDTKS 20,200 72%
mEH [HEFECHA)| JAL JAL | TKSHND | HNDAXT | 20,200 72%
ME=5h A [EFCHAAE)] JAL JAL | AXTHND | HNDTAK 20,200 72%
Bi%  [HEFECHA)| JAL JAL | TAKHND | HNDAXT | 20,200 72%
ME=5% A [EFCHAA)| JAL JAL | AXTHND | HNDKCZ 20,300 73%
BE%  [EEGH)| JAL JAL | KCZHND | HNDAXT | 20,300 73%




FE =10 MERE [RECHHE)| JAL JAL | AXTHND | HNDMYJ 20,400 73%
ABR(FFD | JAL JAL | AXTITM | ITMMYJ 26,700 60% | H:27,100
Wil [RECHEHE)| JAL JAL | MYJHND | HNDAXT 20,400 73%
ABR (FFD | JAL JAL | MYJITM | ITMAXT 27,200 59% | H:27,600
FE=dhm PEFE [RECHHE)| JAL JAL | AXTHND | HNDKKJ 30,500 62%
JEhME [RERCHIHE)| JAL JAL | KKJHND | HNDAXT 30,500 62%
ME=X5% MERE [RECIHE)| JAL JAL | AXTHND | HNDOIT 30,500 62%
ABR(FFD | JAL JAL | AXTITM | ITMOIT 29,500 58% | H7A:29,900
Ka%E [RECHHE)| JAL JAL | OITHND | HNDAXT 30,500 62%
ABR(FFD | JAL JAL OITITM [ ITMAXT 30,500 56% | H A:30,900
MHE=RI&E MERE [EECIHE)| JAL JAL | AXTHND | HNDNGS 32,200 62%
KRR | JAL JAL [ AXTITM | ITMNGS 32,200 59%
RIE% [EERGIHE)| JAL JAL | NGSHND | HNDAXT | 30,800 63% | H:31,600, /KK:32,200
AR (FEFD[ JAL JAL | NGSITM | ITMAXT 32,200 59%
FE=8X MEH% [EZRCEE)] JAL JAL | AXTHND | HNDKMJ 32,200 60%
AR (FEFD[ JAL JAL | AXTITM | ITMKMJ 30,200 60% | F:28,800. 7K:29.000, A:29.400
A% [EERGIHE)| JAL JAL | KMJHND | HNDAXT | 29.300 64% | H:31,300. 7K:30,600, A:32,100
AR (FFD[ JAL JAL | KMJITM | ITMAXT 32,200 57%
ME=2& MEH%E [EZRCEE)] JAL JAL | AXTHND | HNDKMI 32,200 60%
AR (FFD[ JAL JAL | AXTITM | ITMKMI 31,400 58% | H:32,200. A:31,800
BEH |ERCEE)| JAL JAL | KMIHND | HNDAXT | 30,400 62% | /K:31,000, A:31,700
AR (FFD[ JAL JAL | KMITM | ITMAXT 31,800 58% | H A:32,200
MHA=ERS MEH%E [EZRCEE)] JAL JAL | AXTHND | HNDKOJ 19,700 76%
AR (FEFD[ JAL JAL | AXTITM | ITMKOJ 33,000 58% | H:31,400, A:31,600
BREEH [HZCRHA)| JAL JAL | KOJHND | HNDAXT 19,700 76%
AR (FEFD[ JAL JAL | KOJITM | ITMAXT 33,400 58% | H:32,000
ME=F1E MERE [FERERCHIHE)| JAL JAL | AXTHND | HNDISG 40,600 63% | A:44,200
EE=HE &R [ KERUFFD|] JAL JAL | HNAITM | ITMIZO 29,100 59%
HEX | ARWEER| JAL JAL [ 1ZOITM | ITMHNA 29,100 59%
EE =0 EEH KB (EFD|  JAL JAL | HNAITM | ITMMYJ 30,000 57%
WmILE [ KEROEEFF[ JAL JAL [ MYJITM | ITMHNA 29,100 58% | H:29,500
EE=X% eE% [ KERUFFD| JAL JAL | HNAITM | ITMOIT 31,700 56%
Ao [ KEREEFF[ JAL JAL | OITITM | ITMHNA 31,700 56%
EE=RIK &% [ KERUFFD|] JAL JAL | HNAITM | ITMNGS 34,100 58%
Ris%  [KBR(FEFD|[ JAL JAL | NGSITM | ITMHNA 34,100 58%
TEE=RAX EEH KB (EFD|  JAL JAL | HNAITM | ITMKMJ 32,900 58% | 7K:32,600
BEARH KB (EFD|  JAL JAL | KMJITM | ITMHNA 32,900 58%
EE=T &R [ KERUFEF| JAL JAL | HNAITM | ITMKMI 32,900 58%
& ] JAL JAL | HNAFUK | FUKKMI 39,000 54% | H:32,900, 7K:30,300
=R | KBRUFF)| JAL JAL | KMIITM | ITMHNA 32,900 58%
12 JAL JAL | KMIFUK | FUKHNA 39,000 54% | H:32,800, /K:35,500
tE=FERSE EEH KB (EFD|  JAL JAL | HNAITM | ITMKOJ 34,100 58%
BEREEH |XRUEF| JAL JAL | KOJITM | ITMHNA 34,100 58%
Wfig =/MR Wiz RECHE)| JAL JAL | GAJHND | HNDKMQ 20,100 62%  [7K:21,400, 7:20,800
MAF |ERFCHE)| JAL JAL | KMQHND | HNDGAJ 20,100 62%  [7K:21,300, 7:20,700
\Fz =AW W% [RmCRE)|  JAL JAL | GAJHND | HNDOKJ| 20,200 68%  7K:22,500, A:22,000
FELF  |[EHERFCHE)| JAL JAL | OKJHND | HNDGAJ 19,400 69%  [7K:22,100, 7&:21,300
W =IL5 WWifs%  |[EECHE)| JAL JAL | GAJHND | HNDHIJ 23,000 64%  [7K:25,900, 7:22,200
LEE% [HFERCIHE)| JAL JAL | HIUHND | HNDGAJ 22,500 65% | H:21,600. 7K:22,400, A:21,100
IRz =1LAFE& W% |ERECRE)|  JAL JAL | GAJHND | HNDUBJ 24,300 64%  [7K:26,100, 7#:26,900
O8RS [RRCHHE)| JAL JAL | UBJHND | HNDGAJ 21,100 69%  7K:22,700, A:23,600
I =HZ WWFz%  |[EmCRAE)| JAL JAL | GAJHND | HNDIZO 27,900 54%
AR (FFD[ JAL JAL | GAJITM | ITMIZO 27,900 58%
HE HERCHE)|[ JAL JAL | IZOHND | HNDGAJ 27,900 54%
AR (FFD[ JAL JAL | 1ZOITM | ITMGAJ 27,900 58%
W=7 W% |EmCRAE)|  JAL JAL | GAJHND | HNDTKS 23,400 62%  7K:26,500, A:24,900
EER [RECHHE)| JAL JAL | TKSHND | HNDGAJ 21,700 65%  [7K:26,500, &:24,100
7= iRz |BECHE)|  JAL JAL | GAJHND | HNDTAK 20,400 67%  JKA:25500
=% [EFECHA)| JAL JAL | TAKHND | HNDGAJ 22,000 65%  JKA:25500
Az =#x0L IRz |BECHHE)| JAL JAL | GAJHND | HNDMYJ 21,300 67%  [7K:27,000, 7:26,300
ABRUFFD | JAL JAL | GAJITM | ITMMYJ 26,300 60%
Wil ["RECEHE)| JAL JAL | MYJHND | HNDGAJ| 25,600 61% 7/K:26,300, A:23,600
ABRUFFD | JAL JAL | MYJITM | ITMGAJ 26,300 60%
I =X% IRz |BECHHE)| JAL JAL | GAJHND | HNDOIT 29,600 58%
ABRUFFD | JAL JAL | GAJITM | ITMOIT 29,600 57%
Ka%E [RECHHE)| JAL JAL | OITHND | HNDGAJ 24,800 64%  7K:25,200, A:25,300
ABRUFFD | JAL JAL OITITM | ITMGAJ 29,600 57%
Iz =K Iifz% |BECHHE)| JAL JAL | GAJHND | HNDNGS 32,200 56% | A:31,700
ABRUFFD | JAL JAL | GAJITM | ITMNGS 32,200 58%
RIERE [RECIHE)| JAL JAL | NGSHND | HNDGAJ 26,000 65% | H:26,400, 7K:27,600, A&:27,700
ABRUFFD | JAL JAL | NGSITM | ITMGAJ 32,200 58%
Iz =HeR IRz |BRECHHE)| JAL JAL | GAJHND | HNDKMJ 30,500 57%
ABRFFD [ JAL JAL | GAJITM [ ITMKMJ 30,500 59%  [7K:30,200
RBEAE [RECHHE)| JAL JAL | KMJUHND | HNDGAJ 24,000 66% | H:24,800, 7K:25,200, A:25,300
ABR(FFD | JAL JAL | KMJITM [ ITMGAJ 30,400 59% [/KAK:30,500
Iz == IRz |BECHHE)|  JAL JAL | GAJHND | HNDKMI 30,500 57%
ABRUFFD | JAL JAL | GAJITM | ITMKMI 30,500 59%
=TEFE |[ERCHHE)| JAL JAL | KMIHND | HNDGAJ 24,800 65%  JK:26,000, A:26,100
ABRUFFD | JAL JAL | KMITM | ITMGAJ 30,500 59%
IW=ERS IRz |BRECHHE)| JAL JAL | GAJHND | HNDKOJ 32,200 56%
ABRUFFD | JAL JAL | GAJITM | ITMKOJ 32,200 59%
BREX [EERCHH)| JAL JAL | KOJHND | HNDGAJ 25,200 66% _ JK:26,400, A:26,500
ABRUFFD | JAL JAL | KOJITM | ITMGAJ 32,200 59%
Iz =Hh18 Iifz% |[EECHHE)|  JAL JAL | GAJHND | HNDISG 36,700 63% _ 7K:38,000, A:45,300




&E=HE WEFE [ XERUFFD| JAL JAL | SDJITM | ITMIZO 26,300 60%
HEFE | KRUEFFD| JAL JAL | 1ZOITM | ITMSDJ 26,300 60%
& =#h & ABR (FFD | JAL JAL | SDJITM | ITMMYJ 24,000 63% | H:24,400
Wil [ KEROFFD|  JAL JAL | MYJITM | ITMSDJ 24,700 62% | H:25,100
&E=X5% & ABRUFFD|  JAL JAL | SDJITM | ITMOIT 29,600 56%
K% [ KERUFFD| JAL JAL OITITM [ ITMSDJ 26,500 61%  HAK:26,900
&E=RE e [ KERUEFFD| JAL JAL | SDJITM | ITMNGS 31,200 58%  HAK:31,600
RIBRE [KRUFFD| JAL JAL | NGSITM | ITMSDJ 30,400 60%  HK:30,800
& =rx & ABR(FFD | JAL JAL | SDJITM | ITMKMJ 29,700 59% | 7K:30,100
BEARRE [ KRUFFD| JAL JAL | KMJITM | ITMSDJ 29,800 59%
&= WEFE [ KEROFFD| JAL JAL | SDJITM | ITMKMI 29,600 59%  H:32,200, £:30,000
=g | KBRUFFD| JAL JAL | KMIITM | ITMSDJ 31,300 57% | 7K:30,900
WE=ERS EH  [REREFFD| JAL JAL | SDJITM | ITMKOJ 32,200 58%  JK:31,200, A:31,300
BREEHX [KRUFFD| JAL JAL | KOJITM | ITMSDJ 31,400 59% | H:30,700, 7K:30,800, A:31,100
iR=HE e [KRUFFD|[ JAL JAL KIJITM | ITMIZO 23,800 63%
HEFR | KBRUEFFD| JAL JAL | 1ZOITM [ ITMKIJ 23,800 63% | 7K:24,900
Fim=l Fia%E [KERUFFD|[ JAL JAL KIJITM | ITMMYJ 24,600 60% | H:22,400, A:25,000
Wil [ KEROFFD|  JAL JAL | MYJITM | ITMKIJ 24,600 60% | H:22,500, 7K:26,300, A:25,000
Him=X57 e [KERUFFD|[ JAL JAL KIJITM | ITMOIT 27,400 58% | H:25,200, A:28,000
X% [ KERUFFD| JAL JAL OITITM [ ITMKIJ 27,400 58% | H:25,300, 7K 7K:28,000
FiR=Rik e [KERUFFD|[ JAL JAL KIJITM | ITMNGS 30,300 58% | H:28,200, A:30,500
RIERE [ XRUFFD| JAL JAL | NGSITM | ITMKIJ 30,300 58% | H:29,700, 7K 7:30,500
Fim=He e [KRUFFD|[ JAL JAL KIJITM | ITMKMJ 28,100 60% | H:24,100, 7K:26,300, A:27,100
REARRE [ KRUFFD| JAL JAL | KMJITM [ ITMKIJ 29,600 58% | H:27,200
=2 e [KRUFFD|[ JAL JAL KIJITM | ITMKMI 28,700 59% | H:29,600, A:29,500
=EE | KBRUFFD| JAL JAL | KMITM [ ITMKIJ 28,700 59% | H:28,100, 7K:29,600, A:29,500
Fim=ER s [ KERUFFD| JAL JAL KIJITM | ITMKOJ 30,400 59% | H:28,400, 7K 7:30,300
BREREHX [KRUFFD| JAL JAL | KOJITM | ITMKIJ 30,500 59%  H:27,900, £:29,300
A= L AR [RFECHE)|  JAL JAL | KMQHND | HNDOKJ 24,200 65% | H:23,500, 7K:23,900, A:22,300
FELFE |[ERCHE)| JAL JAL | OKJHND [HNDKMQ| 24,200 65% | H:23,500, 7K:23,900, &:22,500
IMA=EE AR [RFECHE)| JAL JAL | KMQHND | HNDHIJ 25,500 64% | 7:22,500
LEE% [RECHHE)| JAL JAL | HIUHND |HNDKMQ 24,700 65%  |7K:25,500, &:22,300
IMNR=ILOFER MAFE [RFERCHE)| JAL JAL | KMQHND | HNDUBJ 26,600 65%  |7K:27,100, &:27,200
WOFEE [RECIH)| JAL JAL | UBJHND | HNDKMQ 23,400 69%  [7K:23,800, 7:24,000
IMA=HE MR [RFECHE)|  JAL JAL | KMQHND | HNDIZO 28,600 58%  JKA:29,600
HE HRECHE)|[ JAL JAL | IZOHND |HNDKMQ 28,600 58%
M= M [RFERCHE)|  JAL JAL | KMQHND | HNDTKS 25,000 64%
EER [HECHHE)| JAL JAL | TKSHND | HNDKMQ 25,000 64% | JK:27,700
IME=TEH MR [RFECHE)|  JAL JAL | KMQHND | HNDTAK 24,400 65% | JK:25,000
BmE [ERCHAA)| JAL JAL | TAKHND | HNDKMQ| 24,400 65%
ME=T=H MR [RFECHE)|  JAL JAL | KMQHND | HNDKCZ 23,500 67%  JKA:26,800
=A% |ERCHE)| JAL JAL | KCZHND [HNDKMQ| 26,300 63% _ 7K:28,100, A:26,800
M=l AR [RFECHE)|  JAL JAL | KMQHND | HNDMYJ 26,300 63% | 7K:27,200
W [RERCHE)| JAL JAL [ MYJHND [HNDKMQ| 26,300 63% _ JK:27,200, A:24,800
I =dE M M [RFECHE)|  JAL JAL | KMQHND | HNDKKJ 28,600 63% |7:30,100
dEhMFE [RERCHIHE)| JAL JAL | KKJHND | HNDKMQ 27,700 64% | 7<:28,600
IMR=K5 AR [RECHE)| JAL JAL | KMQHND | HNDOIT 29,400 62%
X% [HECHHE)| JAL JAL | OITHND |HNDKMQ 26,700 65%  H:27,900, £:26,800
IMA=RIG AR [RFECHE)|  JAL JAL | KMQHND | HNDNGS 32,200 60%
RIEFE [RECHHE)| JAL JAL | NGSHND [HNDKMQ| 28,300 65% | HK:28,700, K:28,100
INA=FER M [RFECHE)|  JAL JAL | KMQHND | HNDKMJ 30,400 61%
A% |ERCHHE)| JAL JAL | KMJHND | HNDKMQ 27,900 64% | H:27,600, 7K:27,500, A:26,500
INA=FIF MR [RFECHE)| JAL JAL | KMQHND | HNDKMI 30,400 61%
=% |EmCHE)| JAL JAL | KMIHND | HNDKMQ 26,300 66% | AK:27,100, 7:26,500
IMA=ER A [RERCHE)| JAL JAL | KMQHND | HNDKOJ 17,500 78%
BREEHX [HECHHE)| JAL JAL | KOJHND | HNDKMQ 18,500 77%
IMA=TTH N [PEE(FBER) |  JTA  |JTA/RAC|KMQOKA|OKAMMY| 41,100 46% | A:42,100
EEnH |8 (GRE) [JTA/RAC]  JTA |MMYOKA|OKAKMQ| 41,100 46% | A:42,100
IMA=F1E MAZE [EERCHE)| JAL JAL _|KMQHND]| HNDISG 38,600 63% | A:44,200
SPEE (FBFR) | JTA |JTA/RAC|KMQOKA| OKAISG 41,100 50% | A:42,100
P48 (FBFR) [UTA/RAC|  JTA | ISGOKA | OKAKMQ| 41,100 50% | A:42,100
==& PR (FBFR) | JTA  |UTA/RAC| OKJOKA | OKAMMY| 36,200 47% | A:37,400
Sh#2 (BE) [JTA/RAC]  JTA  [MMYOKA[ OKAOKJ[ 36,200 47%
=518 SPEBGR#E) [ JTA  [UJTA/RAC[ OKJOKA [ OKAISG 38,200 49%  |A:38,300
Sh#2 (BBZ;) [JTA/RAC]  JUTA [ ISGOKA [ OKAOKJ[ 38,200 49%
EH=2 1=k JAL JAL | KCZFUK | FUKKMI 22,900 61% | AK:24,000, 7:23,400
12 JAL JAL [ KMIFUK | FUKKCZ 22,900 61% /K:24,000, A:23,400
EGRER) =F FRCHE)| JAL JAL | OKAHND | HNDAOJ 33,900 63% | H:35,000, 7KA:32,700
ABR(FFD | JAL JAL | OKAITM | ITMAOJ 40,900 56% | H:38,900
RECRAE)[ JAL JAL [ AOJHND [ HNDOKA| 33,500 64% | H:35,700, A:34,500
ABR(FFD | JAL JAL | AOJITM | ITMOKA 37,600 60% | H:31,100
s (ARER) ==iR HRECHE)| JAL JAL | OKAHND | HNDMSJ 33,700 63% _ 7K:32,500, £:29,900
REECRAE)[ JAL JAL | MSJHND [ HNDOKA| 35,800 61%
PR (BRER) =FRE [ (BFR) FE[EECHEA) | JAL JAL | OKAHND | HNDAXT 32,000 63% _ 7K:32,800, A:33,000
ABRUFFD | JAL JAL | OKAITM | ITMAXT 37,200 58%
MERE [RRECIHE)| JAL JAL | AXTHND | HNDOKA 34,600 60%  [/KAK:35,900
ABR(FFD | JAL JAL | AXTITM | ITMOKA 32,200 64% | H:32,000
PR (HRER) =165 8 (BER) F[XRUFFD | JAL JAL | OKAITM | ITMHNA 37,900 58%
120 JTA JAL | OKAFUK | FUKHNA 39,000 59% | 7k:37,900
AR [ KRUFFD| JAL JAL | HNAITM | ITMOKA 35,600 61%
20 JAL JTA_ | HNAFUK | FUKOKA| 39,000 59% | 7k:37,900




PR (BRER) = LR [hdE (RER) FE[RECHE) | JAL JAL | OKAHND | HNDGAJ 27,500 64% | 7K:25,000
ABR(REFD|  JAL JAL | OKAITM | ITMGAJ 37,200 57% | /KAK:36,400
W% |[RECHE)| JAL JAL | GAJHND [ HNDOKA| 27,900 63% | /KA:29,600
ABRUFFD|  JAL JAL | GAJITM | ITMOKA 33,000 62%
ARG =& [RGB EEE JTA JAL | OKAFUK | FUKSDJ 37,800 59% | 7K:37,400
ABRUFFD [ JAL JAL | OKAITM | ITMSDJ 37,400 56% | 7kAK:34,300
& F 1=k JAL JTA | SDJFUK | FUKOKA 37,800 59% | 7K:37,400
ABRUFFD | JAL JAL | SDJITM | ITMOKA 30,400 65%
PR (GERER) =/ 8 RER) FE[RFCHEA) [ JAL JAL | OKAHND [HNDKMQ| 30,600 63% /K:29,400, 7#:28,700
AR [RFECHE)| JAL JAL | KMQHND | HNDOKA 31,300 62% | 7<:30,600
MRORER) ==& PRGNS X &k JTA JAL | OKAFUK | FUKKCZ 25,900 62%
=5 Fe ] JAL JTA | KCZFUK | FUKOKA| 25,900 62%
R GRER) =mb PR E| B JTA JAL | OKAFUK | FUKMYJ 24,100 63%
[PNIIE] 1= JAL JTA | MYJFUK | FUKOKA| 26,100 60% | A:24,800
RRCRE) =BZXB|RR(PH) | EBRE JAL JAL | HNDKOJ| KOJASJ 41,600 49%  F:41,800, 7K:42,000, A&:40,600
ABRUFFH [ JAL JAL [ HNDITM | ITMASJ 37,400 52% 7K:39,300, A:40,600
BEREH | BERE JAL JAL | ASUKOJ | KOJHND 33,800 59%
ABRUFFD [ JAL JAL [ ASJITM [ ITMHND 35,900 54% | /K:37,400, A:37,800
RRCHE)=ERB|RRPE)E| BES JAL JAL | HNDKOJ | KOJKKX 43,300 46%
EPN- JAL JAL | HNDASJ | ASUKKX 39,500 45%
ERER BERS JAL JAL | KKXKOJ | KOJHND 36,600 55% | H A:37.400
EPN- JAL JAL | KKXASJ | ASJHND 39,500 45%
RRCHE) =B RRPE)E| BRES JAL JAL | HNDKOJ | KOJTKN 44,300 49%
EPN- JAL JAL | HNDASJ | ASJTKN 40,800 46%
w2ER BRE JAL JAL | TKNKOJ | KOJHND 41,600 52%
RRECRE) =/4KkREH|HECHH) | BRS JAL JAL | HNDKOJ | KOJOKE 46,300 47%
HKREE | BRE JAL JAL | OKEKOJ | KOJHND 40,200 54% | K:41,000
HRPE)=5# [RECHE)E| BES JAL JAL | HNDKOJ | KOJRNJ 46,700 48%
5% BERS JAL JAL | RNJKOJ | KOJHND 40,100 55% | H A:41,300
K () =BEXB| XIRUFMFE| ERS JAL JAL [ ITMKOJ | KOJASJ 33,300 50% | H:33,100, 7K:31,800, A:31,900
BEEAEH | BERS JAL JAL | ASUKOJ | KOJITM 32,800 51% | H:30,800, 7K 7:32,300
KiR(FFH =ERE|XRFFME| BES JAL JAL | ITMKOJ | KOJKKX 36,100 45%  F:36,200, 7k:35,100, A&:35,500
e PN JAL JAL | ITMASJ | ASUKKX 35,800 39%
ERER BERS JAL JAL | KKXKOJ | KOJITM 35,500 46% | H:34,400, A&:35,900
EPN- JAL JAL | KKXASJ | ASJITM 31,800 46%
KiR(FFH =E2E[XREFFE| BES JAL JAL [ ITMKOJ | KOJTKN 39,400 45%  |7K:39,300
w2EFE BRE JAL JAL | TKNKOJ | KOJITM 39,400 45% | H:38,600
EPN- JAL JAL | TKNASJ | ASJITM 34,600 46%
K (D) =k RE| XRFM FE| ERS JAL JAL | ITMKOJ | KOJOKE 38,900 46%  F:39,000, 7kK:37,900, A:38,300
HKRERE | BRE JAL JAL | OKEKOJ | KOJITM 38,300 47% [H:37,200, A:38,700
KR(FFD=5# |[KIR(FFHE[_EBRES JAL JAL | ITMKOJ | KOJRNJ 40,000 46%  F:40,100, 7kK:39,000, A:39,400
EPN- JAL JAL | ITMASJ | ASJRNJ 41,300 42%
S BERS JAL JAL | RNJKOJ | KOJITM 37,500 49% | H7:37,900
RBE=EXXE [ BERS JAL JAL | FUKKOJ | KOJASJ 25,500 55%
EEXAEH | BERE JAL JAL | ASUKOJ | KOJFUK 25,500 55%
RE=E/5 FEFES BERE JAL JAL | FUKKOJ | KOJKKX 29,100 48%
TBEKRE JAL JAL | FUKASJ | ASUKKX 37,100 31%
EREH | BEXE | JAL JAL | KKXASJ | ASJFUK 37,100 31%
ER=Ez8 FEFES BRE JAL JAL | FUKKOJ | KOJTKN 31,700 48%
EPN- JAL JAL | FUKASJ | ASJTKN 38,900 34%
w2EFE BRE JAL JAL | TKNKOJ | KOJFUK 31,700 48%
PN JAL JAL | TKNASJ | ASJFUK 37,100 37%
RECHE)=5HE|RRECAA) #[ P4 GREHR) | JAL RAC | HNDOKA| OKAOGN 35,300 61%  JKAK:36,000
fiE JAL RAC | HNDISG [ ISGOGN 35,100 61% | A:43,700
EMEF [H#EGREH)| RAC JAL | OGNOKA[| OKAHND 35,300 61%  JKAK:36,000
=S RAC JAL | OGNISG | ISGHND 35,100 61% | A:43,700
KR (FFH =5 30E | KR (R FH [ p#E (GRER) | JAL RAC | ITMOKA | OKAOGN 38,900 53%  JKAK:35,900
S;EH [A#EGREH)| RAC JAL | OGNOKA[ OKAITM 38,900 53%  JKA:35,900
KR (B7E) =530 E | KRR (BEPE) [ (RER) | JTA RAC | KIXOKA | OKAOGN 38,900 53%
fiE JTA RAC | KIXISG [ ISGOGN 45,100 41%
EREF [H#EGEEH)| RAC JTA | OGNOKA| OKAKIX 38,900 53%
fiE RAC JTA | OGNISG | ISGKIX 45,100 41%
ZHE(hih) =5 ME| 2 HE (h#h) %[ P48 (BFH) | JITA RAC | NGOOKA| OKAOGN 39,900 55%
fiE JTA RAC | NGOISG [ ISGOGN 46,200 44%
EMEF [H#EGEEH)| RAC JTA | OGNOKA | OKANGO 39,900 55%
fiE RAC JTA | OGNISG | ISGNGO 46,200 44%
fEIL=5HE R [ GRE)|  JTA RAC | OKJOKA | OKAOGN 35,700 57% | 7K:36,900
SH;ESR [A#E(GREH)| RAC JTA | OGNOKA | OKAOKJ 35,700 57%
& =53E EEFE [P GRER) | JTA RAC | FUKOKA | OKAOGN 35,800 52% | 7K:34,900
S;EFK [H#EGREH)| RAC JTA | OGNOKA[ OKAFUK 35,800 52% | 7K:34,900
R () =5MEPEG0ER | FiE [JTA/RAC| RAC | OKAISG | ISGOGN 13,000 70%
S5;ME%K | A\ RAC _[JTA/RAC[ OGNISG [ ISGOKA 13,000 70%
RECHE) =AKXE|[RECHH) #[4#E (B2 | JAL |JTA/RAC| HNDOKA | OKAUEO 26,100 61%  [7K:25,000, 7&:26,000
AKEF |ih#8GRER) [avarac] JAL | UEOOKA|OKAHND | 26,100 61% 7K:25,000, 7A:26,000
KB (77 = Ak B | KB (FFD 5| 4@ REE) [ JAL |JTA/RAC| ITMOKA | OKAUEO 28,800 51%  [7K:25,700, &:25,900
AKREFE |[i948 GRF) [avrarac]  JAL | UEOOKA [ OKAITM 28,800 51% |7K:25,700, A:25,900
KR (B7E) = AKX B| KPR (B97FE) 5| 4@ RF) | JTA |JTA/RAC| KIXOKA | OKAUEO 33,000 44%  F:32,500, 7K A:35,000
AKXEH |48 (FRE) |avarc] JTA [ UEOOKA [ OKAKIX 33,000 44%  F:32,500, 7K A:35,000
AEE (P =AXE| 2HE Pl %48 ()| JTA |ITA/RAC|NGOOKA| OKAUEO| 33,800 47% | A 7:34,000, 7K:34,200
AKEH |8 (BE) [mavvarac] JTA | UEOOKA | OKANGO 33,800 47% _ F 7:34,000, 7K:34,200
BRE=AXE =% [P (IBFE)| JTA [JTA/RAC| FUKOKA | OKAUEO 27,400 46%
AKBEH |48 (RE) |navarc] JTA [ UEOOKA [ OKAFUK 27,400 46%




RRECHA) =R [RECHE)FE[XRUEFD| JAL JAL | HNDITM | ITMOKI 28,100 51% 7K:28,900, A:30,100
HE JAL JAL | HNDIZO | 1ZOOKI 29,900 44% | F:30,300, 7k:31,200, A:30,700
fRi s [ KEROUFFD| JAL JAL OKIITM [ ITMHND 27,100 53%  [/KAK:28,300
HZE JAL JAL | OKIIZO | IZOHND 30,500 43% __7K:31,200, %&:30,900
R GHRER) =%im 8 (BE) F (KR UFFH | JAL JAL | OKAITM | ITMKIJ 37,300 55% | H:36,300, 7K:34,200, A:34,600
g [ KRUFFD| JAL JAL KIJITM | ITMOKA 28,900 65%  H:26,800, £:29,400
2R = LR (B T %) EE%E  [RECHE)| JAL JAL | FUKHND | HNDSPK 40,800 56%
AR (T % R CHE) | JAL JAL | SPKHND | HNDFUK | 40,800 56%
FH=%xin3l BHE  [HRETR| JAL JAL | AOJSPK |SPKMMB| 22,500 61%
ZmplFE  [AEETFR) ] JAL JAL [ MMBSPK| SPKAOJ 22,500 61%
FE =% 5 BESFE  [HRETR)| JAL JAL | AXTSPK | SPKMMB| 22,500 63%
ZmAlE  [AEETFR) | JAL JAL [ MMBSPK| SPKAXT 22,500 63%
ZEHE(PE) =%hE[EEE (P E[ERFE)[  JAL JAL | NGOHND | HNDOBO 31,300 58% | /K:31,800
HhFE [EFECHA)| JAL JAL _|OBOHND|[HNDNGO[ 28,300 62%
ZHE(PER) =)l |2 ER (P | HRCHE)|[  JAL JAL | NGOHND | HNDAKJ 32,900 57% |HAA:33,200
MBI [RECHE)| JAL JAL | AKJHND [HNDNGO| 28,600 62%
B =23 =M% [EFECHA)| JAL JAL | TAKHND [HNDMMB| 37,700 59%  |7K:42,300, 7:39,200
ZimplFE [RECHE)| JAL JAL _|MMBHND | HNDTAK 37,400 60%  |7K:41,200, 7:39,500
EE=% EERE [HERCHHE)| JAL JAL | TKSHND [HNDMMB| 36,800 60%  |7K:42,200, 7:37,800
A% [RECHE)| JAL JAL _|MMBHND | HNDTKS 38,000 59%  |7K:43,300, 7:38,200
K== 5 X% [HECHHE)| JAL JAL | OITHND [HNDMMB| 23,400 77%
Al [RECHE)| JAL JAL _|MMBHND| HNDOIT 23,400 77%
RIG =25 RIB%E [RECHHE)| JAL JAL | NGSHND [HNDMMB| 23,900 77%
Al [RECHE)| JAL JAL _|MMBHND | HNDNGS 23,900 77%
REAR =2 REARRE [WECHHE)| JAL JAL | KMJUHND [HNDMMB| 23,900 76%
Al [RERCHE)| JAL JAL _|MMBHND | HNDKMJ 23,900 76%
Hig =2 3l =% |ERCHE)| JAL JAL | KMIHND [HNDMMB| 23,900 76%
Al [RECHE)| JAL JAL _|MMBHND | HNDKMI 23,900 76%
BRE=%imA EBREHX [HECHHE)| JAL JAL | KOJHND [HNDMMB| 23,900 77%
Tl [RERCHE)| JAL JAL _|MMBHND | HNDKOJ 23,900 77%
LIRFTR) =EEREAREFETFR) X[FERFE)[ JAL JAL [ SPKHND [ HNDASJ 50,900 51%
BEXAEH [RRCHEH)| JAL JAL | ASJHND | HNDSPK 52,100 50% | 7K:53,000
EHR=EEXE A% [EFECHA)| JAL JAL | AOJHND | HNDASJ 44,100 56% | H:45,200, A:44,900
BEAEH [RRCHEH)| JAL JAL | ASJHND | HNDAOJ 45,800 54% | F:46,900
MA=EXXE FEFE [RERCHE)| JAL JAL | AXTHND | HNDASJ 45,800 51% |/KkAK:47,200
EEAEH [RRCHEH)| JAL JAL | ASJHND | HNDAXT 44,300 52%  |7K:46,300, 7:46,500
IMA=TEXE A [RECHE)| JAL JAL | KMQHND | HNDASJ 42,500 53%  JKA:41,600
EEAEH [RRCHEH)| JAL JAL | ASJHND [HNDKMQ| 41,700 53% | A:41,900
= =4I =% [EFECHA)| JAL JAL | TAKHND | HNDKUH 37,700 58%  |7K:42,300, 7:39,200
HIERFE [WECHHE)| JAL JAL | KUHHND | HNDTAK 37,200 59%  |7K:41,000, 7&:39,300
EE =1 EER [HERCHHE)| JAL JAL | TKSHND | HNDKUH 36,800 59%  |7K:42,200, 7:37,800
HIERFE [WECHHE)| JAL JAL | KUHHND | HNDTKS 37,800 58%  |7K:43,100, 7:38,000
Ry =Hp& K% [HERCHHE)| JAL JAL | OITHND | HNDKUH 22,400 77%
HIEEFE [WECHHE)| JAL JAL | KUHHND | HNDOIT 22,400 77%
RIG=4p& RIBFE [RECHHE)| JAL JAL | NGSHND | HNDKUH 22,900 77%
HIEEFE [WECHHE)| JAL JAL | KUHHND | HNDNGS 22,900 77%
REAR=1Ip% REARR [WECHHE)| JAL JAL | KMJUHND | HNDKUH 22,900 77%
HIEEFE [RECHHE)| JAL JAL | KUHHND | HNDKMJ 22,900 77%
= =& =% |ERCHE)| JAL JAL | KMIHND | HNDKUH 22,900 77%
BIEEFE [WECHE)| JAL JAL | KUHHND | HNDKMI 22,900 77%
BRE=5I% BREREX [HECHHE)| JAL JAL | KOJHND | HNDKUH 22,900 77%
BIERFE [RECHHE)| JAL JAL | KUHHND | HNDKOJ 22,900 77%
L=k LEE% [HEFECHA)| JAL JAL | HIUHND [HNDOBO| 36,100 60% _ 7K:38,000, A:34,800
WHhE [ERFECHA)| JAL JAL _|OBOHND]| HNDHIJ 33,100 63% _ 7K:35,100, A:32,800
S =%k =% [EFECHA)| JAL JAL | TAKHND [HNDOBO| 37,200 58%  JK:41,800, A:39,200
WHhE [ERFECHE)| JAL JAL | OBOHND| HNDTAK 34,300 62%  7K:38,100, A:36,800
BE="%Fk mER% [HEFECHA)| JAL JAL | TKSHND [HNDOBO| 36,300 59%  JK:41,700, A:37,800
HhFE [EFECHA)| JAL JAL | OBOHND]| HNDTKS 35,300 60% _ 7K:40,200, A:35,500
R =%k K% [HERCHE)| JAL JAL | OITHND |HNDOBO 22,000 77%
HhE [EFECHE)| JAL JAL | OBOHND]| HNDOIT 22,000 77%
RIE=%Ik Rixs [HEFECHA)| JAL JAL | NGSHND[HNDOBO| 22,500 78%
HhFE [EFECHA)| JAL JAL _|OBOHND|HNDNGS| 22,500 78%
RA=Fk REARRE [WECHH)| JAL JAL | KMJHND | HNDOBO 22,500 77%
HhE [ERFECHA)| JAL JAL | OBOHND[ HNDKMJ 22,500 77%
EEEETS =EE  |EmCHE)| JAL JAL | KMIHND |HNDOBO 22,500 77%
HhE [ERFECHE)| JAL JAL | OBOHND]| HNDKMI 22,500 77%
BRE=%IL EBREEHX [HECHHE)| JAL JAL | KOJHND | HNDOBO 22,500 78%
HhFE [EFECHA)| JAL JAL | OBOHND]| HNDKOJ 22,500 78%
BII=EH MBI [RECHE)| JAL JAL | AKJHND | HNDTAK 35,700 61% |H:37,100, 7K:39,500, A:38,000
=% [EFECHA)| JAL JAL | TAKHND | HNDAKJ 38,500 57% | :38,900, 7K:43,000, A&:41,100
EEE=E 0 BEEER [RECHHE)| JAL JAL | HKDHND | HNDTAK 35,200 56%  |7K:39,000, &:37,300
=% [EFECHA)| JAL JAL | TAKHND | HNDHKD 34,800 57%  |7K:39,400, 7:36,300
HE=ES BEER [RWECHHE)| JAL JAL | HKDHND | HNDTKS 35,800 56%  |7K:41,100, 7:36,000
EER [HECHHE)| JAL JAL | TKSHND | HNDHKD 33,900 58%  |7K:39,300, 7:34,900
HROHE)=BF [RECHE)F| &K JAL JAL | HNDHKD | HKDOIR 27,100 55%
HR 5 AR JAL JAL | OIRHKD [ HKDHND| 27,900 54%
KB (FFFH =B X3 e JAL JAL | OIRHKD | HKDITM 23,900 66% | K:23,600
AR =28 MR E| BE JTA JAL | OKAFUK | FUKTKS 28,800 58% | 7K:28,400
EER 1= JAL JTA | TKSFUK | FUKOKA 28,800 58%
RN=ES5 BIIFE  [RECHE)| JAL JAL | AKJHND | HNDTKS 36,500 60% _ 7K:40,500, A:36,700
EERE [HECHHE)| JAL JAL | TKSHND | HNDAKJ 37,900 58% | H:38,400, 7K:40,500, A:39,700
TBJI=X% BIIFE  [RECHE)| JAL JAL | AKJHND | HNDOIT 21,400 78%
X% [EECHE)| JAL JAL | OITHND | HNDAKJ 21,400 78%




IR (EZR) =57 4L (EXE) 5| KR JAL JAL | OKDHKD | HKDOIR 17,600 56%
X3 B JAL JAL | OIRHKD [ HKDOKD| 17,600 56%
SR =EREE SR FE LiR (EEBE) [ JAL JAL | KUHOKD | OKDHKD 19,700 59%
R R LiR (EEBE) [ JAL JAL | HKDOKD | OKDKUH 19,700 59%
HIEE==R SR FE LiR (EEBE) [ JAL JAL | KUHOKD | OKDMSJ 23,700 57% | H:21,900
=iR% LiR (EEBE) [ JAL JAL | MSJOKD | OKDKUH 19,600 65%
R =t FlIRZE LiR (EBE) [ JAL JAL | RISOKD | OKDHKD 23,700 53%
R R LiR (EEBE) [ JAL JAL | HKDOKD | OKDRIS 23,700 53% | H:21,700
FlR=HE% SRR F LiR (EEBE) [ JAL JAL | KUHOKD | OKDRIS 23,700 57% | H:21,700
ZR=FR SR LiR (EBE) [ JAL JAL | MSJOKD | OKDRIS 15,800 73%
ERE=RI EBREEHX [HECHHE)| JAL JAL | KOJHND | HNDAKJ 21,900 79%
BIFE  [RECHE)| JAL JAL | AKJHND [ HNDKOJ| 21,900 79%
Rig=HE)l RIERE [RECHHE)| JAL JAL | NGSHND | HNDAKJ 21,900 79%
B  [RECHE)| JAL JAL | AKJHND [HNDNGS| 21,900 79%
EAR=RE REARR [WECHHE)| JAL JAL | KMJUHND | HNDAKJ 21,900 78%
BIIFE  [RECHE)| JAL JAL | AKJHND [ HNDKMJ| 21,900 78%
== =HiEE  |ERCHE)| JAL JAL | KMIHND | HNDAKJ 21,900 78%
BIIFE  [RECHE)| JAL JAL | AKJHND | HNDKMI 21,900 78%
HROHE)=XE [RECHE)F| X JAL JAL | HNDKMJ | KMJAXJ 29,900 50% | AK:30,100, 7:29,100
KEFH HEAR JAL JAL [ AXJKMJ | KMJHND | 21,900 63% | H:22,700
HRCEE)Z| B JAL JAL | HNDFUK | FUKAXJ 33,000 50%
KEH Fe ] JAL JAL | AXJFUK | FUKHND 29,500 55%  JKA:30,300
KR (FFH =XE [KROFFDFE| X JAL JAL | ITMKMJ | KMJAXJ 20,500 53%
KEH EX JAL JAL [ AXJKMJ | KMJITM 20,500 53%
ARUFFDF| 18R JAL JAL | ITMFUK | FUKAXJ 21,700 55%  JK:23,000, A:22,400
120 JAL JAL [ AXJFUK | FUKITM 21,600 55% | H:22,100, 7K:23,100, &:22,300
ARG F) =XRELREGTFRH| 1EE JAL JAL | SPKFUK | FUKAXJ 27,800 67% _ 7K:30,700, A:32,800
KEH FeE] JAL JAL | AXJFUK | FUKSPK 27,800 67% _/K:30,000, A:33,100
BERE=HKREH| BEEXEHX | #ELE JAL JAL | ASJTKN | TKNOKE 11,900 60%
HKBRAERE | BB JAL JAL | OKETKN | TKNASJ 11,900 60%
B2E=E(H) | ExEFE | HKkRE JAL JAL | TKNOKE | OKEOKA 15,600 59%
i GIRER) 5| HUKERER | JAL JAL | OKAOKE | OKETKN 15,600 59%
RRCHE) =BFE(REPHR)E| BES JAL JAL | HNDKOJ| KOJTNE 35,400 47% | A:36,400
BEYER BERS JAL JAL | TNEKOJ | KOJHND 34,000 49%
RRCHE) =ERAB[REPHR)E| BES JAL JAL | HNDKOJ | KOJKUM 38,400 43%  [7k:38,800, A:39,300
BEAER BRE JAL JAL | KUMKOJ | KOJHND 38,500 43% | H:40,800
KiR(FFH =BAB|XRUFFE| BES JAL JAL | ITMKOJ | KOJKUM 29,900 43%  |A:32,100
BEAERE BRE JAL JAL | KUMKOJ| KOJITM 29,500 44% | H:32,600
BERE =1 GL%H) R GH) X EXXS JAL JAL | OKAASJ | ASUKOJ 35,500 42%
ER=RAS [EES BERS JAL JAL | FUKKOJ | KOJKUM 21,800 49%
BEAEH BRE JAL JAL | KUMKOJ | KOJFUK 21,800 49% | H:22,700
EE =TS [RES BERS JAL JAL | FUKKOJ | KOJTNE 19,000 54%
BIER BERS JAL JAL | TNEKOJ | KOJFUK 19,000 54%
LE=1BJI LEE% [HEFECHA)| JAL JAL | HIUHND | HNDAKJ 38,300 58% | H:38,200, 7K:39,600, A:36,700
MBI [RECHE)| JAL JAL | AKJHND | HNDHIJ 34,500 63%  H:35,900, 7K:36,500, A:34,000
==& [PAIIE] 1=k JAL JAL | MYJFUK | FUKKMI 20,600 63%  H:19,800, A:19,900
S5 F ] JAL JAL | KMIFUK | FUKMYJ 18,400 67% /K:18,700, A:18,900
BB =EEXE| BEAER ) JAL _|RAC/JAL| ASURNJ [ RNJOKA| 22,400 48%
HR =K BR% [AEEZK)| JAL JAL | OIROKD | OKDHKD 18,000 61%
BEEER  [AMR(EZR)| JAL JAL | HKDOKD | OKDOIR 18,000 61%
S5H=8FZKE 5%  [hiE (38Z;) [JAL/RAC]  JAL [ RNJOKA [ OKAASJ 17.300 65%




___ EEEAG 2022/7/12
BRERH XM E—o#
=45 f:3::F::10) = S e 8/18-8/31 | ‘gyalm %
RRCAE) =28 [R5 ChE) [ P4 #H)|  JAL [JTA/RAC| HNDOKA|OKAMMY | 28,200 63% | F:28.400, & 1:28.600
BH% |78 (%) |[JTA/RAC| __JAL | MMYOKA| OKAHND | 28,200 63% | :29,800, H:29,600
HRECHE)=FRE |RER(CHH) | $8FE%H)| JAL [JTA/RAC| HNDOKA | OKAISG 28,500 66% &
KB (BETE)| JAL JTA | HNDKIX | KIXISG 37.900 59%
AiE% |48 (IBH) [JTA/RAC|  JAL | ISGOKA | OKAHND| 29,900 64% H:29.800
KB (B =% Rl | KBR (B 6 [Rm (RE) | JAL JAL | ITMHND [HNDMMB| 30,200 64% 31, 31,500, H:29,200
RGHFR) | JAL JAL | ITMSPK [ SPKMMB| 31,900 61% [£:34,000, £:34,600, H:27.800
ZimAFE [REGEA)| JAL JAL _|MMBHND| HNDITM 30,300 64% | F:30,800, A:30,000, %:31,800. £:28.200, H:33,000
ROHFR) | JAL JAL__|MMBSPK]| SPKITM 32,100 61% : 7%:33,100. £:31,300, +:30.300, H:35.800
KB (B#E) =% Rl | KRR (BS#E) ¢ [Rm (RE) | JAL JAL | KIXHND [HNDMMB| 27,100 68% [K: 1:30,400., H:30,200
ROHFR) | JAL JAL | KIXSPK [SPKMMB| 31,700 61% & . 1:32.800, H:29.400
ZiGRI%E [EECHE)| JAL JAL | MMBHND| HNDKIX 29,000 65% | £::30,700, H:32,700
IRGHFR) | JAL JAL | MMBSPK]| SPKKIX 29,200 64% | F7kA:30.200, £:30,500, £:28,200. H:28,400
KB (A1) =181l | KR (R % FIE) | JAL JAL [ ITMHND | HNDAKJ 28,000 66% | A:31,500, £:34,100, :34,300, H:29,600
JENIES [ JAL JAL | AKJHND | HNDITM 28,000 66%
KBx (BEFE) =B)II | KRR (B8FE) 5 ) JAL JAL | KIXHND | HNDAKJ 28,000 66% | A:31,500, £:34,100, +:34,300, H:29,600
)| uAL JAL | AKJHND | HNDKIX 28,000 66%
KB () =8k )| JAL JAL | ITMHND | HNDKUH 29,900 63% [£:30,100, t: . H:31,100
)| JAL JAL | KUHHND | HNDITM 31,300 61% [H:31.800, A . #£:33,500, £:28,500, H:35,100
KBz (BEE) =8I )| JAL JAL | KIXHND | HNDKUH 27,100 67% | A:29.200 +:30,900, H:32,900
)| JAL JAL | KUHHND | HNDKIX 30,000 63%  [A:31.200, £ £:29,400, H:34,800
KR (B =FI5 )| JAL JAL | ITMHND [HNDOBO| 31,800 60% |H:31,300
)| JAL JAL | OBOHND | HNDITM 28,900 64% | H:29.400, A:30,900, £ H:31,800, £:29.500
KBz (B§EE) =5 )| JAL JAL [ KIXHND [HNDOBO| 30,100 62% | A€ +:31,800, H:30,000
)| uAL JAL | OBOHND| HNDKIX 27,800 65% | F:28,000, A:29.900, :30,800. £:30,300, H:31,800
KB (571 =it ) JAL JAL | ITMHND | HNDHKD 27,600 62% 28,100, H:28,400
)| JAL JAL | HKDHND | HNDITM 29,400 59% 7K:32,000. %:31,300, £:28,200, H:30,000
KBz (BSTE) =BKEE )| JAL JAL | KIXHND [ HNDHKD 27,000 62% 30,300, +:25,700, H:30,200
)| uAL JAL | HKDHND | HNDKIX 28,100 61% |F:28,600, A H:31,000, £:30,200, £:29,000
KB () ==IR [XBR () %[ )| JAL JAL | ITMHND | HNDMSJ| 25,300 64% 125,800, £:24,400, £:22,800
ZR%E )| JAL JAL | MSJHND | HNDITM 24,900 64% :25,400, 7:24,600, £:26,400, 1:23,600
AR (BfE) ==iR | KB (BiF8) 5 )| JAL JAL | KIXHND | HNDMSJ 22,600 67% . £ H:24,300. 1:23400
ZR% )| uAL JAL | MSJUHND | HNDKIX 23,600 66% & H:24,600
KR () =12 [ KBR (5 % JAL JAL | ITMIZO | IZOOKI 18,500 54% |k A£:18.100, +:18,600, H:19.000
ECE JAL JAL | OKIZO [ 1ZOITM 19,000 53% | +:20,000, B:19,500
KB (A =18F & [ KR (FFD % JAL JAL | ITMKOJ | KOJTNE 25,100 51% 126,400, 1 H:25.900
BIER JAL JAL | TNEKOJ [ KOJITM 25,000 51% % H:26,000, 1:25,500
KR (FFH =28 (KRG R[HEEE)|  JAL [JTA/RAC| ITMOKA [OKAMMY| 28,800 58% | F:28,900, £:29,900, £:31,300. H:28,700
EEE [ [JTA/RAC]  JAL [MMYOKA[ OKAITM 28,600 58% | F:29.600, A:29,200, £+:28,700, H:33,300
Kk (BEf) ==& | XMk (B9FE) &|F#E(FF)| JTA [ITA/RAC| KIXOKA |OKAMMY| 33,300 51%
E=o%E | F@GRE) |[JTA/RAC]  JTA [MMYOKA| OKAKIX 33,300 51% | A&+ H:33,700
KB (FFFH) =F1E (KRG R[4 FH)|[  JAL _[JTA/RAC| ITMOKA | OKAISG 29,100 61% |A:29,400, £:30,300, £:31,700. H:29,000
AiE% [0 |JTA/RAC| JAL | ISGOKA | OKAITM 29,700 60% | H:33,800
Kk (BET8) =RiE [ XMk (ESFE) F|FE(FF)| JTA [ITA/RAC| KIXOKA | OKAISG 33,800 55%
AiE%  [#EG0H) [JTA/RAC| JTA | ISGOKA | OKAKIX 33.400 55% | A%+ H:34.200
2EE (P =%#E5|25E (d REFTR|  JAL JAL | NGOSPK[SPKMMB| 30,600 60% | F % +:32,900
f JAL JAL__|MMBSPK|SPKNGO| 28,800 63% | H:31,400, 7K:29,800. A:32,600, £:32,700, £:30,200. H:34,000
AHE(PE) =% = JTA _|JTA/RAC| NGOOKA|OKAMMY| 34,800 53% | F:35.200, A&:35.000, £ H:35.100, 1:35.300
JTA/RAC| JTA |MMYOKA|OKANGO| 34,800 53% | H A%+ H:35300, 7K:35,200
2EE(FE) =FA1E JTA _|JTA/RAC| NGOOKA| OKAISG 35,200 56% | A% H:35,500. &:35.400
JTA/RAC| JTA | ISGOKA [ OKANGO| 35400 56%
FLIR (B FaR) = /M2 [4LIR (31 Fi%) 5 JAL JAL | SPKHND [ HNDKMQ|  27.300 63% | F:29.200
MRS | uAL JAL _|KMQHND| HNDSPK| 27,300 63% |£:28,200, £:28,900
ARFTR) —BAROE[HLEFHTH R )| uAL JAL | SPKHND [HNDSHM| 32,300 61%
Bt EES )| JAL JAL | SHMHND | HNDSPK 32,300 61%
FLIR R F %) =FE L | 4LIR G F %) % )| JAL JAL | SPKHND | HNDOKJ 32,300 61% |+:31.800
[SIIE:S )| JAL JAL | OKJHND | HNDSPK 30,400 64% | F:30500, A%+ H:32,300
IR GRFR) =LES[AIRGTTR) )| JAL JAL | SPKHND | HNDHIJ 33,100 61%
INEES )| uAL JAL | HIJHND | HNDSPK| 32,500 62% | FH:32,600, A%+ H:33,100
AREFTR) =IWOFH[LEFHTFH R [ JAL JAL | SPKHND [ HNDUBJ| 31,100 65% | F:31,200, A:34,100, % H:34,700, +:32,500
MEESTES )| JAL JAL | UBJHND | HNDSPK 31,500 65% [H:32,000, A&+ H:34,700
ALIR R FR) =HE[AIRGTITR) & )| JAL JAL | SPKHND | HNDIZO 31,000 62%
HER )| JAL JAL | IZOHND | HNDSPK 31,000 62%
IR R FRR) =B ARG TR & )| JAL JAL | SPKHND | HNDTKS 32,200 61%
)| uAL JAL | TKSHND [ HNDSPK| 32,200 61%
IR EFFR) =2 )| JAL JAL | SPKHND | HNDTAK | 33,000 60%
)| uAL JAL | TAKHND [ HNDSPK| 33,000 60%
HIREFTFR) =2 )| JAL JAL | SPKHND | HNDKCZ |  34.200 60%
)| uAL JAL | KCZHND [ HNDSPK| 34,200 60%
FLIR (B Fm) =il )| JAL JAL | SPKHND [ HNDMYJ|  36.200 58%
)| uAL JAL | MYJHND | HNDSPK| 36,200 58%
ALOR (3 F5%) =L Fu N [ £L05 )| JAL JAL [ SPKHND | HNDKKJ 34,700 62% | 1:34,600
S FE )| JAL JAL | KKJHND | HNDSPK 33,300 64% | A€ +:34,700, K:34,100, H:33,700
IR G F i) =K [#LIR T % )| JAL JAL [ SPKHND | HNDOIT 33,700 63% | H:33.800., 7:34,100, € H:34,700, +:34,600
N )| JAL JAL | OITHND | HNDSPK 34,000 62% [H:34,500, A€+ H:34,700
ALIR R FRR) = RIS ARG TR % )| JAL JAL | SPKHND [ HNDNGS| 34,400 64% | F:34.700, 7K:34,600, &:35,300. £+ H:36.400
RIG% )| JAL JAL | NGSHND | HNDSPK| 35,300 63% | H:35,800, A%+ H:36,400
FLIR R FaR) =REARALIR T &) % )| JAL JAL | SPKHND [ HNDKMJ| 34,400 63% | F:34.600, A:35,300, # 1 F:35.600
AR )| JAL JAL | KMJHND | HNDSPK | 35,400 61% |AA%£+H:35600
FLIR (BT aR) = B0 [4LIR (31 F %) 5 )| JAL JAL | SPKHND | HNDKMI 32,500 65% | F:33,700, #:34,000, %:35,900, 1:34,300. H:36.400
EEES REEAR)|[ JAL JAL | KMIHND [ HNDSPK| 33,300 64% | H:35,600, 7K:33,600, K% T H:36.400
IR (FFR) =FERB[ 4R G TR X RFCAH)| JAL JAL [ SPKHND [ HNDKOJ 33,500 65% | F:34.200, 7K:34,500, %:36,100, 1:35,000, H:38,000
BEREH ROEE)| JAL JAL | KOJHND [ HNDSPK| 34,900 63% | F:35,400, A:40,400, % +:40,500, H:39,800
AT R = B8 [0 (F F3%) R[RR CHE) | JAL JAL | SPKHND [ HNDOKA| 36,300 62% & 40,400
ABRUFF|  JAL JAL | SPKITM | ITMOKA 27,000 73% A :28,400
AEE(PE)|  JAL JTA | SPKNGO | NGOOKA| 33,500 66% | H: :34,400, 1:33,900, H:35,000
[ JAL JTA__| SPKFUK | FUKOKA | 39,600 61% |H: . £:41,700
hHE(RER) SR CREA) | JAL JAL | OKAHND | HNDSPK| 33,900 65% | F:36.400, A:34.900, %:37,300, +:38,500. H:37,600
KRER(EFD|  JAL JAL | OKAITM | ITMSPK 33,700 66% | F:34,300, AK:34,400. £:33,800, 1:36,000, H:41,800
ABR (BFE) [ JTA JAL | OKAKIX | KIXSPK 31.400 68% | A%:36,000, £ H:37.400
aEE(PE)|  JTA JAL__|OKANGO|NGOSPK| 32,100 68% | H:32,800, 7K:32,600. A:38,200, £:39,300, 1:38,700. H:40,900
1268 JTA JAL | OKAFUK | FUKSPK 39,600 61% | F:40.900. A&+ H:41.800




FLIR(FF/) =H1E 4R G T | RE CHE) | JAL JAL | SPKHND | HNDISG 42,300 65% | A:423800, £
RIEH JTA JAL | ISGNGO | NGOSPK| 45,700 61%  [A:48,000, %
FLIR (BT R) == [4LR G T % JAL JTA | SPKNGO [NGOMMY| 49,600 57% [H:51,200. %
128 =23 Rl (RS JAL JAL | FUKHND [HNDMMB| 38,600 62% | F:39.300, 3
JAL JAL | FUKSPK | SPKMMB| 34,000 64% | H:36,300, £:35,000, +:37,600, H:35,200
i Bl 5 JAL JAL _[MMBHND [ HNDFUK 38,000 62% | F:38,600, A:38,500, £:41,900, 1:36,900. H:40,700
JAL JAL__|MMBSPK| SPKFUK | 31,500 67% |7k A:29,300, £ H:31,700, +:31,900
(GRS [ERES JAL JAL | FUKHND | HNDAKJ 36.900 63% | F:36.800
JAL JAL | AKJHND [ HNDFUK | 34,900 65% | H:35,600, A%+ H:36,900
(R JAL JAL | FUKHND | HNDKUH 36,400 63%
JAL JAL | KUHHND | HNDFUK | 36,400 63%
B =%k JAL JAL | FUKHND [HNDOBO| 36,000 63%
JAL JAL__|OBOHND| HNDFUK | 36,000 63%
[HEEET JAL JAL | FUKHND | HNDHKD 36.400 59% | F:37.100, £:39.800, 1:38,800. H:37.500
JAL JAL | FUKITM | ITMHKD 33,000 59% | H:33,500, £ +:34,100, H:31,700
JAL JAL | HKDHND [ HNDFUK | 35,600 60% | F:36.100, A:38,500, £:39.200, £ H:36.900
JAL JAL | HKDITM | ITMFUK 31,300 61% | H:33,200, # H:32,500, £:31,100
B =% JAL JAL | FUKHND | HNDAOJ| 23,000 74% &1 H:23.800
JAL JAL | FUKITM | ITMAOJ 24,100 69% | F:24,600, A%:24,500, £:25200, H:24,900
JAL JAL | AOJHND | HNDFUK | 23,000 74% &+ H:23.800
JAL JAL | AOJITM | ITMFUK 13,500 83% | H:14,700, £ H:15,000, F:13200
JAL JAL | FUKHND | HNDMSJ| 21,000 76% &+ H:21.800
JAL JAL | MSUHND | HNDFUK | 21,000 76% +H:2138
JAL JAL | MSJITM [ ITMFUK 27,400 65% | F:28,400, &: . £:28.900,
1ER =#EA JAL JAL | FUKHND [ HNDAXT | 34,400 58% | F:34,600. 3 28,600,
JAL JAL | AXTHND [ HNDFUK | 32,700 60% | F:32,800. % 29,600,
JAL JAL | AXTITM | ITMFUK 22,000 70% | F:24,300, & 23,600, H:26,000
&=L JAL JAL | FUKHND | HNDGAJ 26,400 63% | F:26.600, 4 . £:29,200, 1:26,000. H:27.900
JAL JAL | FUKITM | ITMGAJ 24,900 65% | F:25400, %: . B:29,700
JAL JAL | GAJHND [ HNDFUK | 26,800 62%
JAL JAL | GAJITM | ITMFUK 26,400 63%
2R = /MR JAL JAL | FUKHND [ HNDKMQ|  26.700 66% | £:27.700
JAL JAL _|KMQHND| HNDFUK | 26,700 66%
EE=2% JTA _|JTA/RAC| FUKOKA [ OKAMMY| 26,800 55%
JTA/RAC| JTA |MMYOKA| OKAFUK| 26,800 55%
BRI =H1E JTA _|JTA/RAG| FUKOKA | OKAISG 26.600 60%
2 JTA/RAC| JTA | ISGOKA | OKAFUK| 26,600 60% | A%+ H:27,000
Zimpl =1t ( JAL JAL | MMBSPK | SPKHNA 27.300 56% K AE1:24.600
FFR)|  JAL JAL | HNASPK | SPKMMB| 27,300 56% |7K:24,600, £:25,600
iRl =Il& FHF®)|  JAL JAL | MMBSPK | SPKSDJ 25,100 62%
FFR)|  JAL JAL | SDJSPK [ SPKMMB| 25,100 62%
XiGR =i FHF®)|  JAL JAL | MMBSPK| SPKKIJ 26,300 61%
FFR)|  JAL JAL | KIJSPK | SPKMMB| 26,300 61%
iR = /M RCHHE)| JAL JAL _|MMBHND|HNDKMQ| 28,900 65%
IMRFE ROPHE)| JAL JAL _|KMQHND|HNDMMB| 29,000 65%
i A =& ESEES RCRME)| JAL JAL _|MMBHND | HNDOKJ 33,600 64%
[HIIE:S HCHA)|  JAL JAL | OKJHND [HNDMMB| 33,300 64% 35,700, 1:36,900, H:34,600
ZiGR =L ESELIES FCRE)| JAL JAL _|MMBHND| HNDHIJ 34,500 63% R . H:37.900
L&% RCRE)| JAL JAL | HIJHND [HNDMMB| 34,900 63% . K:35,800, £:37,700, +:38,900, H:36,500
ROHFR) | JAL JAL | HIJSPK [SPKMMB| 28,000 68% | H:30,500, A:28,900, £:29,800, £:29,600
Zimpl=tHE ESTES HCHEAE)|  JAL JAL _[MMBHND| HNDIZO 35,900 61%
HE RCHE)| JAL JAL | IZOHND [HNDMMB| 35,900 61%
ZimAl =40 SRk HCHEAE)| JAL JAL _[MMBHND| HNDMYJ| 41,000 57%
[N RCRA)|  JAL JAL | MYJHND [HNDMMB| 41,000 57%
Zimpl=FH18 ESEES RCRHE)|  JAL JAL _|MMBHND| HNDISG 45,000 65% | £:453800, 1:46,800, H:48,700
B =/ JENIES ROHHE)|  JAL JAL | AKUHND [HNDKMQ| 28,200 65% | F:28.600, A%+ H:29,900
IMRFE RCRE)| JAL JAL__|KMQHND| HNDAKJ | 29,300 64% | :31,500, £:34,100, 1:34,300, H:29,900
BII=miaE JBIIFE ROHHE)|  JAL JAL | AKJHND [ HNDSHM 28,000 69% | F:28.800, A:29,000, £ 1:31.400, H:29.100
FfCEUES [RECHA)| JAL JAL | SHMHND | HNDAKJ 36,300 60% | F:36,800, A% +:37,200, H:36,700
B =FeE L JBIIFE RCRA)|  JAL JAL | AKJHND | HNDOKJ 31,600 65% | F:32.400, A:33,600, % H:35300, 1:35.000
EES RCPHE)|[  JAL JAL | OKJHND | HNDAKJ 33,300 63% | A€ +:37.200, H:35,300
BIN=HE JENES ROHHE)|  JAL JAL | AKJHND | HNDIZO 35,900 60%
HE HCHA)|  JAL JAL | IZOHND | HNDAKJ 35,900 60%
TBIN=#21l JENIES RCPE)|[ JAL JAL | AKJHND | HNDMYJ 41,000 56%
NI HCRA)| JAL JAL | MYJHND | HNDAKJ 41,000 56%
BI=F1E JENIES RCRE)|[ JAL JAL | AKJHND | HNDISG 44,300 65% | F:44,700, #:46,000, £:46,400. 1:49,400. H:46,100
Sipg =/ a El e HCHA)|  JAL JAL [ KUHHND [HNDKMQ| 29,900 63% | A:31,100, & :33,500
IS RCPE)|[ JAL JAL | KMQHND [ HNDKUH 28,700 64% | FH:28.800, & :33,100
I5% =Rl L ElE3 HCHA)|  JAL JAL | KUHHND | HNDOKJ 34,600 62% [H:33,900, K: . £:32,700
B RCEE)| JAL JAL | OKJHND [ HNDKUH| 33,000 64% [F:33,100. K:33400, #: :34,300, H:36.400
SIR=1L58 El e FCHA)|  JAL JAL [ KUHHND | HNDHIJ 35,500 61% |/:36,700, £:37,300, £:33000, H:39,500
LE% HCHE)|  JAL JAL | HIJHND | HNDKUH 34,600 62% | F:34,700, #:35.400, £:36,600. 1:36,300. H:39,200
S =HhE ElEea FCRE)| JAL JAL [ KUHHND | HNDIZO 35,900 60%
HE RCRE)| JAL JAL | IZOHND | HNDKUH 35,900 60%
gpg =42l ElE3 FCRE)| JAL JAL [ KUHHND [ HNDMYJ| 41,000 56%
[N RCHE)| JAL JAL [ MYJHND | HNDKUH 41,000 56%
SE=FH18 S RCEE)| JAL JAL | KUHHND | HNDISG | 41,900 67% | %::42,700, £:47,100, H:44,300
L=/ LS RCRE)|  JAL JAL | OBOHND|HNDKMQ|  27.700 65% | F:27.900, A%£:29,800, 1:30.400, H:30.900
IR7E ROPE)|  JAL JAL _|KMQHND|HNDOBO| 31,800 60%
R =FE L LR HCER)| JAL JAL | OBOHND [ HNDOKJ 32,200 64% | F:31,500, #:34,000, £:35,100, +:33,700. H:35.800
[GIIE:S RCPHE)|[  JAL JAL | OKJHND [HNDOBO| 35,500 60% | H:35,600, A% +:37,200, H:36,700
FLR=HE LR HCER)| JAL JAL | OBOHND| HNDIZO 35,900 59%
HE HCRA)| JAL JAL | IZOHND [HNDOBO| 35,900 59%
L= LR HCER)| JAL JAL _|OBOHND| HNDMYJ| 41,000 55%
NI ZCREA)| JAL JAL | MYJHND [HNDOBO| 41,000 55%
Hh=H1E HILF HCEE)| JAL JAL | OBOHND| HNDISG 43,800 65% | F:44,000, A£:45900, 1:48,100, H:45,600
BAE=/MA AR S FCHA)|  JAL JAL | HKDHND [ HNDKMQ| 28,000 61% | AA£ 1 H:28.400
INRFE RCEE)| JAL JAL | KMQHND [ HNDHKD 27.800 61% |H:27.900, &1 H:28.41
EAE=FE Ll BAESE RCPHE)|  JAL JAL | HKDHND | HNDOKJ 32,000 61% [H:32,500, K:35,100, £
SIS RCRAE)|  JAL JAL | OKJHND [ HNDHKD |  31.100 62% | F:31.200, A:32,900, #:
HEE=LE8 BRAESE HCHEA)|  JAL JAL [ HKDHND | HNDHIJ 33,600 59% | F:34,100, A:36,500, &:
LB% RCRAE)|  JAL JAL | HIJHND [ HNDHKD| 32,700 60% | F:32.800, A:35,000, £:36.600. :
BHEE=HE S HCHA)| JAL JAL [ HKDHND | HNDIZO 34,800 56%
ABRGFFD|  JAL JAL | HKDITM | ITMIZO 30,000 60% | H:30,900. H:30,500
HE HCHA)| JAL JAL | IZOHND | HNDHKD 34,800 56%
ABR (R JAL JAL IZOITM | ITMHKD 32,000 58% |#1:33,100. H:31,000




BEE =L S HCHA)|  JAL JAL | HKDHND | HNDMYJ| 38,800 54%
ABRRFD | JAL JAL | HKDITM | ITMMYJ 29,400 60% | F:30.300, H:29.800
PATTES HCHEA)| JAL JAL | MYJHND | HNDHKD 38,800 54%
ABR(RF | JAL JAL | MYJITM | ITMHKD 31,400 58%  |£:32,500, £:32,900, H:30.400
EEE=dt M EAER |HS(PHE)| JAL JAL [ HKDHND | HNDKKJ 28,100 69%
dAMSE [RRCHE)| JAL JAL | KKJHND | HNDHKD 28,100 69%
BEE=K% WEX [EECHE)| JAL JAL [ HKDHND | HNDOIT 21,900 75% &+ H
ABR(RF | JAL JAL | HKDITM | ITMOIT 30.800 60% A3
K5 HCHA)| JAL JAL | OITHND | HNDHKD 21,900 75% |4
RER(RFD|  JAL JAL OITITM | ITMHKD 33.400 57%
HE=RI& S HCHAE)| JAL JAL [ HKDHND | HNDNGS| 22,400 76% |+ H:23,000
ABR(RF | JAL JAL | HKDITM | ITMNGS 32,300 62% | F:33.200, 7K:33,600, £:34,600, 1:33,600. H:34,700
RiE% |[EZ(BPH)| JAL JAL [ NGSHND | HNDHKD 22,400 76% |&+ H:23,000
ABR(RF | JAL JAL | NGSITM | ITMHKD 34,700 59% |7} 4,300, H:34,600
BEE=HEA EWEER [EZE(PE)| JAL JAL [ HKDHND | HNDKMJ| 22,400 75% H:23,000
ABR(RF | JAL JAL | HKDITM | ITMKMJ 32,700 60% 3:33,900, A:31.400, %:33,100, £:31,700
A% |[EmR@EE)| JAL JAL [ KMJHND [ HNDHKD | 22,400 75% %+ H:23,000
ABR(RF | JAL JAL | KMJITM | ITMHKD 34,700 58% 7k:33.800, A:33.900, H:33,700
=215 EWEER [EZE(PE)| JAL JAL [ HKDHND | HNDKMI 22,400 75% &+ H:23,000
ABR(RFD | JAL JAL | HKDITM | ITMKMI 33,700 59% 3:34,600, £ H:34.700
=R  |[ER(PE)| JAL JAL [ KMIHND [ HNDHKD | 22,400 75% |+ H:23,000
RBER(RFD|  JAL JAL | KMITM | ITMHKD 34,700 58%
HE=ERS EWEER [EZE(PE)| JAL JAL [ HKDHND | HNDKOJ 22,400 76% |+ H:23,000
ABR(RF | JAL JAL | HKDITM | ITMKOJ 31,100 64% | F:32.000, £:31,800, 1:31,200, H:33.200
BERES HCHA)| JAL JAL [ KOJHND [ HNDHKD | 22,400 76% %+ H:23,000
ABR(RF | JAL JAL | KOJITM [ ITMHKD 32,700 62% | £:34,700, 1:35.400, H:33.100
BEE=FH1E BRAESE RCPHE)|  JAL JAL | HKDHND | HNDISG 43,600 63% | F:44,100, A:44,700, £:45,000, 1 H:46,800
HFHR=/M EHFE FCRME)| JAL JAL | AOJHND [ HNDKMQ| 14,800 79% &+ H:15.500
IMRFE RCPHE)|  JAL JAL | KMQHND | HNDAOJ 15,300 78% &+ H:16,500
EHR—miLEE ERR FCRME)| JAL JAL | AOJHND [ HNDSHM| 29,600 62%
BitEES [RR(PE)| JAL JAL | SHMHND | HNDAOJ 29,600 62%
HFHR=MEL ERR FCRME)| JAL JAL | AOJHND | HNDOKJ 29,000 64% | F:28,300, £ H:29.600, +:27.800
[SIE:S HCHA)| JAL JAL | OKJHND | HNDAOJ 28,500 64% | F:28.600, A1:29,000, £ H:29,600
EHR=LB EH%E RCRME)| JAL JAL | AOJHND | HNDHIJ 30.400 62% | A%+ H:30,500
LB% RCPHE)|  JAL JAL | HIJHND | HNDAOJ 29,800 63% | AA#£+ H:30.500
EHFR=ILOF ERR ROHHE)|  JAL JAL | AOJHND | HNDUBJ 27,200 68% |A:29,800, £:30,800, £:29.400. H:32,100
WOFE%E [RRCEA)] JAL JAL | UBJHND | HNDAOJ 28,000 67% | A&+ H:32.200
EHR=-HE HEHRR FCRE)| JAL JAL | AOJHND | HNDIZO 29,600 62%
ABRFF] JAL JAL | AOJITM | ITMIZO 23,100 68% |£::23,500, +:24,200, H:25,100
HE HRECHE)| JAL JAL | IZOHND | HNDAOJ| 29,600 62%
RER(EFHD | JAL JAL 1ZOITM | ITMAOJ 23,100 68% 500, t H:24,200
EHR=E EH%  |HER(CEE)| JAL JAL | AOJHND | HNDTKS 20,300 74% 21,300
EHEFE [HFCAME)| JAL JAL | TKSHND [ HNDAOJ| 20,300 74% 21,300
EHR=mk Ex%  |HEZ(CHE)| JAL JAL | AOJHND | HNDTAK |  20.200 74% 20,500
Bi%  [FmE(EE)| JAL JAL | TAKHND [ HNDAOJ| 20,200 74% %+ H:20,500
A=A EHE ([ER(PRHE)| JAL JAL | AOJHND | HNDKCZ | 20,300 75% | %:21.300, £ H:24,100
BH% [HFCRME)| JAL JAL__| KCZHND [ HNDAOJ| 20,300 75% %+ H:24,000
HFHR=R1L EHE ([EE@H)| JAL JAL | AOJHND [ HNDMYJ| 20,000 76% %+ H:20,500
ABRRFD | JAL JAL | AOJITM | ITMMYJ 22,500 69% |£:22900, +:23,600, H:24,400
W% [ERRCRE)| JAL JAL | MYJHND [ HNDAOJ| 20,000 76% %+ H:20,500
RER(EFHD | JAL JAL | MYJITM | ITMAOJ 22,500 69% |4 900, +:24,000, H:23,600
HFHR=AAM EHE ([ER(CRE)| JAL JAL | AOJHND | HNDKKJ 21,800 75% |4 22,600
Jthms [HRGIAE)| JAL JAL | KKJHND | HNDAOJ 21,800 75% 22,600
EHR=KD EHRHE  |[Ezm@EE)| JAL JAL | AOJHND | HNDOIT 21,700 75% 22,500
RER(EFHD | JAL JAL [ AOJITM | ITMOIT 23,900 68% 5,200, %:27,400, +:26,300, H:26,700
Ao%E [EEREEH)| JAL JAL | OITHND | HNDAOJ|  21.700 75% &1 H:22.500
ABR(RFD | JAL JAL OITITM | ITMAOJ 25,900 65% | F:24,.800, 7K:24,600, :25,000, #:27,400, £ H:27,000
ER=RIK EHE ([EEH)| JAL JAL | AOJHND [ HNDNGS|  23.200 74% &1 H:24,000
KRER(EFH|  JAL JAL [ AOJITM | ITMNGS 25,400 69%  [7k:26,700. £:28,300, 1:27,800, H:29,800
RIER |[ERCHEH)| JAL JAL | NGSHND [ HNDAOJ|  23.200 74% &1 H:24,000
ABRRFD | JAL JAL [ NGSITM | ITMAOJ 27,000 67% 3:27,700, 7K:25.400, A:25,800, £:27,500, + H:27.800
EHRRE  [EZBHE)| JAL JAL | AOJHND [ HNDKMJ| 21,800 75% &1 H:22.600
ABRRFD | JAL JAL [ AOJITM | ITMKMJ 27,200 66% | F:27.800, £:27,600, 1 H:28.000
AEARSE  [ERE(ERHE)| JAL JAL | KMJHND [ HNDAOJ|  21.800 75% &1 H:22.600
KER(RFD|  JAL JAL | KMJITM | ITMAOJ 26,200 67% 4,900, K:25,400, £:26,400. + H:26,900
EH=2 EHER RCEE)| JAL JAL | AOJHND | HNDKMI 21,800 75% E 5:22,600
ABR(RF | JAL JAL | AOJITM | ITMKMI 27.300 66% 6,900, £:30,500, £:28,100. H:31,700
=R [EZ(PE)| JAL JAL [ KMIHND [ HNDAOJ| 21,800 75% H:22,600
AR (R | JAL JAL | KMITM | ITMAOJ 26,300 67% 6,700, £:29,000, 1:28,500, H:28,100
EH=ERS EHER RCEE)| JAL JAL | AOJHND [ HNDKOJ| 23,200 74% H:24,000
AR R | JAL JAL | AOJITM | ITMKOJ 25,000 70% |7 4,500, % 1:25400, H:27.800
ERBR [EzHA)| JAL JAL [ KOJHND [ HNDAOJ| 23,200 74% H:24,000
ABR(RFH)|  JAL JAL | KOJITM | ITMAOJ 23,800 72% | K:24,200, £:25,100, £:26,500, H:26,300
RS CRE)| JAL JAL | AOJHND | HNDISG | 40,400 65% |+ H:42,200
= )| JAL JAL | MSUHND [HNDKMQ| 14,800 79% &+ H:15500
= )| uAL JAL _|KMQHND|HNDMSJ| 15,300 78% £+ H:16,500
= )| uAL JAL | MSUHND [ HNDOKJ| 28,200 64% | F:27.500, £:29.600, £:27,000
= )| uAL JAL | OKJHND [ HNDMSJ| 26,300 67% | F:26.400, X2+ H:28,500
5 [ JAL JAL | MSJUHND | HNDHIJ 29,100 64% |£::30,200, £:27,300, H:29.800
= )| uAL JAL | HIJHND | HNDMSJ| 27,100 66% | FH:27.400, A% +:30,500, H:30,300
5 )| uAL JAL | MSUHND [ HNDUBJ| 26,400 69% | /:29,000, £:29,900, 1:28,600, H:30,400
5 )| uAL JAL__| UBJHND [ HNDMSJ| 26,800 68% | A€+ H:32.200
= )| uAL JAL | MSJHND | HNDIZO 29,600 62%
[ERECRE)| JAL JAL | IZOHND [ HNDMSJ| 29,600 62%
PN/ )| JAL JAL IZOITM | ITMMSJ 26,100 65% 00, £:28,200, H:26.700
RHCRE)| JAL JAL | MSUHND | HNDTKS| 19,300 75% 20,300
= )| uAL JAL | TKSHND [ HNDMSJ| 19,300 75% 20,300
= )| uAL JAL | MSUHND | HNDTAK| 19,200 75% 19,500
5 )| uAL JAL | TAKHND [ HNDMSJ| 19,200 75% 19,500
= )| JAL JAL | MSJHND | HNDKCZ | 19,300 76% 00, £ H:23,100
5 )| uAL JAL | KCZHND | HNDMSJ| 19,300 76%
5 )| JAL JAL | MSUHND [ HNDMYJ| 19,000 77%
)| uAL JAL | MYJHND | HNDMSJ| 19,000 77%
| uAL JAL | MYJITM [ ITMMSJ 25,500 65%
R%E  |HR(CHH)| JAL JAL | MSJHND | HNDKKJ 19,800 77%
dEAMSE [FECHE)| JAL JAL | KKJHND | HNDMSJ 19,800 77%
ZR=X% ZRE |[HR(PRHE)| JAL JAL | MSJHND | HNDOIT 19,700 77%
X% [EECHH)| JAL JAL | OITHND | HNDMSJ 19,700 77%
KRR RFD|  JAL JAL OITITM | ITMMSJ 28,900 62%




ZIR=FIK =IR%E )| JAL JAL | MSJHND | HNDNGS 21,200 76% |+ H:22,000
RIGH )| JAL JAL | NGSHND [ HNDMSJ|  21.200 76% %+ H:22.000
[ JAL JAL | NGSITM | ITMMSJ 29,700 65% |7k:27,600, K:27,100, £:30,000, +:32,000, H:30,300
ZiR% )| uAL JAL | MSUHND | HNDKMJ| 19,800 77% %+ H:20,600
REAS )| uAL JAL | KMJHND [ HNDMSJ| 19,800 77% %+ 8:20,600
D[ JAL JAL | KMJITM [ ITMMSJ 30,600 62% H:31,200, £:32,800, £:32,700
ZIR==1& ZIR% )| JAL JAL | MSJHND | HNDKMI 19,800 77% £+ H8:22,600
D[ JAL JAL | MSJITM | ITMKMI 29,300 64% |4::34,500, £:31,000, H:34.800
EEES | uAL JAL | KMIHND [ HNDMSJ| 19,800 77% &+ H:22,600
D[ JAL JAL | KMITM [ ITMMSJ 30,200 63% |4::34.400, £:34,100, H:31,800
ZIR=ERS ZIR% )| JAL JAL | MSJHND | HNDKOJ 21,200 76% &+ H:22,000
D[ JAL JAL | MSJITM [ ITMKOJ 27,900 67% |4::33.200, £:30,200, H:32,500
BERES )| JAL JAL | KOJHND | HNDMSJ 21,200 76% £+ H:22,000
| JAL JAL | KOJITM | ITMMSJ 29,200 66% 9,300, #1:31,400. H:29.900
=IR%E )| JAL JAL | MSJHND | HNDISG 39,600 66% |+ H:41,400
HWER )| JAL JAL | AXTHND [ HNDKMQ|  17.200 73% %1 H:18.300
MR FE )| JAL JAL | KMQHND | HNDAXT 17,100 73% £+ H:17,500
MHE=mREE FREFE )| JAL JAL | AXTHND [ HNDSHM|  26.300 63%
Bt RS ) JAL JAL [ SHMHND | HNDAXT| 26,300 63%
FhE =FE L HMER )| JAL JAL | AXTHND | HNDOKJ 26,300 64% 400, H:24.600
EES )| JAL JAL | OKJHND | HNDAXT 26,300 64%
MBE=LE HMER )| JAL JAL | AXTHND | HNDHIJ 28,000 62% 126,500
L% )| JAL JAL | HIJHND [ HNDAXT| 27,700 62% | H:27,600, A%:28,000, £:26,800, H:26,700
HME=LAFH HER )| JAL JAL | AXTHND | HNDUBJ 27.400 65% | A:29,600, £:30,300, £:25,000. H:26,800
WOFEFE )| JAL JAL__| UBJHND | HNDAXT | 27,600 65% | H:27,700, A%:30,500, £:28,100
ME=HE MER )| JAL JAL | AXTHND | HNDIZO 27,100 62% | A A:28.200, % H:27.900, 1:26.300
| JAL JAL | AXTITM [ ITMIZO 22,800 67% |7K:22,600, A:21,800, £:22 400, £:23,900, H:24,000
HE [ JAL JAL | IZOHND [ HNDAXT | 27,900 61% | F:28,300, A:28,000, £+ H:29.100
| JAL JAL | 1ZOITM | ITMAXT 21,800 68%  |7K:21,400, A:20,800, %:24,800. £:26,300
ME=fS HER )| JAL JAL | AXTHND | HNDTKS 20,200 72%
EEHE )| JAL JAL | TKSHND [ HNDAXT | 20,200 72%
ME=51k HER )| JAL JAL | AXTHND | HNDTAK |  20.200 72%
BF )| JAL JAL | TAKHND | HNDAXT 20,200 72%
ME=5 HMER )| JAL JAL | AXTHND | HNDKCZ | 20,300 73%
Sk )| JAL JAL | KCZHND | HNDAXT 20,300 73%
FE=1L PY:EES )| JAL JAL | AXTHND | HNDMYJ|  20.400 73% |4 20,900
)| JAL JAL | AXTITM [ ITMMYJ 21,400 68% |7K:20,800, A:20,100, £:21,800, £:21,900, H:23,300
PATTES )| JAL JAL | MYJHND | HNDAXT | 20.400 73% %1 H:20.900
)| JAL JAL | MYJITM [ ITMAXT 21,200 68% _|7K:20,800, A:20,200, %:24,200. £:27,200
FE=4LAM DS )| JAL JAL | AXTHND | HNDKKJ 30,500 62% | £:26.800, H:30.000
Jeh S )| JAL JAL | KKJHND [ HNDAXT | 29,700 63% | F£:30,500, 1:26,500, H:26.800
MBE=X% MER )| JAL JAL | AXTHND | HNDOIT 30,500 62% |+ H:26.200
| JAL JAL | AXTITM [ ITMOIT 22,500 68% | F:24,100, 7kK:21,500, £:25400, 1:24,600, H:25,600
P H)| JAL JAL | OITHND | HNDAXT|  30.100 62% | F:30.200, A%+ H:30,500
D] JAL JAL | OITITM [ ITMAXT 23,600 66% | H:25,300, 7K:24,200, £:28,700, +:31,000, H:25,600
ME=RIZ PY:EES H)| JAL JAL | AXTHND [ HNDNGS|  31.100 63% |A:30,800, £:32,000, £:27.000. H:26,300
)| JAL JAL | AXTITM [ ITMNGS 24,300 69% | /:23,000, £:27,000, +:26,800. H:28,700
RiEx |[EZR(PE)| JAL JAL | NGSHND | HNDAXT | 31,400 63% | H:31,500, A%:32,200, £:30,900, H:32,000
KER(FEFD] JAL JAL | NGSITM [ ITMAXT 25,400 67% |7K:22,900, A:21,800, £:26,500, £:31,200
ME=FEX PES HCHEA)| JAL JAL [ AXTHND [ HNDKMJ| 30,100 63% |A:31,200, %:32,200, & H:26,600
ABR(RF | JAL JAL | AXTITM | ITMKMJ 23,700 68% | H:25.800. 7 :25,500, 1:25.400, H:26.200
EARE [EZ(HE)| JAL JAL | KMJHND [ HNDAXT | 31,500 61% |F:31,600, A . £ H:30,100
KER(EFD] JAL JAL | KMJITM [ ITMAXT 26,300 65% | H:26,900, 7KA:25,300, %:29,300, +:31,900, H:26,600
ME==1 MEX [EERH)]| JAL JAL [ AXTHND | HNDKMI 29,000 64% | F:30,100, A £:30,600, 1:25,900, H:25,400
KBR(FFD] JAL JAL | AXTITM [ ITMKMI 27,400 63% _|7K:26.600, A:26.000, :29.400. +:28,500, H:30,600
=R |[ER(PE)] JAL JAL | KMIHND | HNDAXT | 29,400 64% | F:31,300, 7K:29,700, A £:32,200, + H:30,400
KBR(FED] JAL JAL | KMITM [ ITMAXT 26,900 64% _|7K:26.600, A:26.000, :31,000. £:32,200, H:27,900
HE=KERS MEX [EERH)]| JAL JAL [ AXTHND | HNDKOJ 19,700 76% |2+ H:20,800
ABR(RF | JAL JAL | AXTITM | ITMKOJ 25,100 68%  7K:24,400, #:23,600, £:24,600, +:25,700. H:26,700
BERER [EzGA)| JAL JAL | KOJHND | HNDAXT 19,700 76% &+ H:20,800
ABR(RF | JAL JAL | KOJITM | ITMAXT 25,500 68% 5:26,000, 7K A:23,900, £:27,300, £:28,900, H:27.100
E:E] i3 #MER [ER(PEHE)| JAL JAL | AXTHND | HNDISG 37.400 66% | F:38,000, £:38,900, + H:37,800
&= EEE | KRED| JAL JAL | HNAITM [ ITMIZO 29,100 59% | £:30.800, 1:26.500
HESR | XREFM)| JAL JAL IZOITM | ITMHNA 29,700 58% |H:27,200
TEE =l EE% (ARG JAL JAL | HNAITM | ITMMYJ 30,000 57% | /kA£:25.200
L% [ KREFFD|  JAL JAL | MYJITM | ITMHNA 25,900 63% |£::30,000, £:26,300
EE=XD EEE | KRED| JAL JAL | HNAITM | ITMOIT 31,400 57% A% H:31.700, kA:28,400, £:29,800
K% [ KRUFFD| JAL JAL OITITM | ITMHNA 31,700 56% | H:30,000
EE=RIK EEE | KRED| JAL JAL | HNAITM | ITMNGS 33,200 59% 7K:29.400, A:28,200, £ H:34.100. 1:30.500
RIG%E |[KREFD| JAL JAL | NGSITM | ITMHNA 34,100 58% | H:30,800
TEE=FEX EEE | KRED| JAL JAL | HNAITM | ITMKMJ 32,900 58% |+:28,900
BEAE |[KWRUEFD| JAL JAL [ KMJITM | ITMHNA 32,900 58% |H:34,700
EE=2K EER  ([RAREFD] JAL JAL | HNAITM | ITMKMI 32,900 58% |+:31,800
1B JAL JAL | HNAFUK | FUKKMI 34,400 60% _|7K:29,100
TR [ AREED| JAL JAL | KMITM | ITMHNA 32,900 58% | F:34,700
1 JAL JAL | KMIFUK | FUKHNA| 34,400 60% |A:29,900, £:31,500, H:35,500
EE=ER EEE | KRED| JAL JAL | HNAITM | ITMKOJ 33,600 59% |4 H:34,100, £:28,900
EREHE |[KWRUEFD| JAL JAL [ KOJITM [ ITMHNA 33,400 59% |4 +:34,100. H:34,700
Wife =i i} Z:3 ROHHE)|  JAL JAL | GAJHND [ HNDKMQ 18,900 64% :20,800, 1:20.600, H:20.700
IMRFE HCRA)| JAL JAL _[KMQHND [ HNDGAJ 18,800 64% 300, +:18,700, H:21,400
Wi =l Witz % FCRE)| JAL JAL | GAJHND | HNDOKJ 22,400 64% 124,100, £:23,900, H:23,200
SIS HCHEA)|  JAL JAL | OKJHND | HNDGAJ 21,700 66% 23,900, H:25,400
=58 ;23 FCRME)| JAL JAL | GAJHND | HNDHIJ 25,200 61% 6,700, B:24,200
) FCRE)| JAL JAL__| HIJHND [ HNDGAJ| 22,500 65% 26,000, £:25,800, H:27.500
Wiz=1LAFH iz RCPE)| JAL JAL | GAJHND | HNDUBJ 21,500 69% :25,900, 1:25.200, H:25.600
WOFE%E [ERGIE)| JAL JAL__| UBJHND [ HNDGAJ| 21,800 68% | A1:28,300, £:29.600, H:29.300
W =HE iZ3 FHCRE)| JAL JAL | GAJHND | HNDIZO 27,900 54%
ARURFD|  JAL JAL | GAJITM | ITMIZO 27,900 58%
HE HRECHE)| JAL JAL | IZOHND | HNDGAJ 27,900 54%
ABRRFD | JAL JAL 1ZOITM | ITMGAJ 24,500 64%  [7k:27,900. £ H:27,900
W= W% |HECHE)| JAL JAL | GAJHND | HNDTKS 26,500 57%
BE HRECHE)|  JAL JAL | TKSHND [ HNDGAJ| 26,500 57%
ik =an W% [EECHA)| JAL JAL | GAJHND | HNDTAK | 25,500 59%
ER% [ER(GEE)| JAL JAL | TAKHND [ HNDGAJ| 25,500 59%
Wiz =#21l Wiz |[EmCEE)| JAL JAL | GAJHND | HNDMYJ 28,800 56% £:29,100
AiR(RFD|  JAL JAL | GAJITM | ITMMYJ 26,300 60% 3,300
W% [ERCRE)| JAL JAL | MYJHND [ HNDGAJ 27.900 57% A%+ H:31.500
KER(EFH|  JAL JAL [ MYJITM | ITMGAJ 23,300 65% 3,900, +:23,700, H:26.300




w=xX% W% |"ECHEA)| JAL JAL | GAJHND | HNDOIT 24,800 64% | A:25,200, £+ H:26,700
ABR(RFD | JAL JAL | GAJITM | ITMOIT 28,600 58% | A1 H:29.600. 7KA:28,900, £:27,800
Aa%  |[EZ(EEH)| JAL JAL | OITHND | HNDGAJ 25,200 64% | F:25.300, A%+ H:29,600
ABR(RF | JAL JAL OITITM | ITMGAJ 26,700 61% | H:27.000, 7K:29,600, £:26.200. % H:29,600. 1:27,500
Wi =Rk Wk [ERERER)| JAL JAL | GAJHND | HNDNGS 25,200 66% |4 H:26,700, 1:27,500
ABR(RF | JAL JAL | GAJITM | ITMNGS 30.400 60%  |7k:31.700, £:31,500, £ H:32,200
RIGSE HCHEA)| JAL JAL | NGSHND | HNDGAJ 25,200 66% | FH:26,000, 7k:24,700, A +:30,700, £:31,300, H:32,200
ABR(EFD] JAL JAL | NGSITM [ ITMGAJ 28,100 63% | H:28,500. 7K:30,500, A:26,200, %:30,700, +:28,300, H:32,200
Wi =geX Wk [ERERER)| JAL JAL [ GAJHND [ HNDKMJ| 24,200 66% | A.25,600, £t H:27,100
ABR(RF | JAL JAL | GAJITM | ITMKMJ 29,000 61% | AsK& 1+ H:30,500. A:29.500
REAS HCHAE)| JAL JAL [ KMJHND | HNDGAJ 26,000 63% | FK:26,100, A% +:29,100, H:30,500
ABR(RF | JAL JAL | KMJITM | ITMGAJ 27,000 63%  |7K:30,000, A:25.800, % H:30,500, F:27.200
Wi ==k Wk [ERREA)| JAL JAL | GAJHND | HNDKMI 23,100 67% | F:24.200, A:24,400, £:25,900. 1:26,400, H:24,600
RER(RFD|  JAL JAL | GAJITM | ITMKMI 30,500 59%
=R  [ER(PEH)| JAL JAL | KMIHND | HNDGAJ 24,700 65% | F:25200, A% +:29.400, H:30.500
AR (R | JAL JAL | KMITM | ITMGAJ 28,600 61% 7k:30,500, % H:30,500, 1:30.400
Wk=ERS Wk [EREREA)| JAL JAL | GAJHND | HNDKOJ 22,500 70% | F:23.800, A:23,500, £:27.400. £:25,000, H:26,900
ABR(RF | JAL JAL | GAJITM | ITMKOJ 29,200 62%  |7K:30,000. £ H:32,200 .
ERBR [EzH)| JAL JAL | KOJHND [ HNDGAJ| 24,400 67% | H:26,500, 7K:25.200, A& 1:29.900. £:30,700. H:31.400
ABR(RFD | JAL JAL | KOJITM | ITMGAJ 27.200 65% | FH:27.700, 7K:30.600, 7:26.100, £:30,600, £:27,900, H:32.200
W =F18 W% [RRCHA)| JAL JAL | GAJHND | HNDISG 35,000 65%  |£:36,500, + H:38,300
iE=HE W& ABR (RFD | JAL JAL | SDJITM | ITMIZO 26,000 60% 7K:25.600, % 1 H:26.300
HE KBR (FFD| JAL JAL 1ZOITM | ITMSDJ 26,300 60%
i =21l & ABRURFD | JAL JAL | SDJITM | ITMMYJ 24,100 63% | A A:25.400, £ 1:26.600, H:27.000
RLFE | KREEFD | JAL JAL | MYJITM | ITMSDJ 24,700 62% | F:25.800, & +:28000, H:26,300
wE=xX% & AR R | JAL JAL | SDJITM | ITMOIT 25,500 62% | F:28.100, #:26,800, £:29.600 500, B:27,700
ABRRFD | JAL JAL OITITM | ITMSDJ 28,100 58% |H:24,800. 7k:24,600, AK:24,000, :29,600. H:26,700
XERED|[ JAL JAL | SDJITM [ ITMNGS 27,700 63% | F:28,400. 7K:26,300, A:26,000, %:31,100, +:31,600, H:31,500
ABRRFD | JAL JAL | NGSITM | ITMSDJ 29.400 61% | H:30,000, 7k:26,500, AK:26,300, £ +:32,200, H:31,900
AR R | JAL JAL | SDJITM | ITMKMJ 27.400 62% | F:29.000, £:30.500, 1:28,600. H:28.300
KER(RFHD | JAL JAL | KMJITM | ITMSDJ 29,800 59% [A#£+ H:30,500
AR R | JAL JAL | SDJITM | ITMKMI 28,800 60% | F:30.300, 7k:28.400, £:29,700. &+ H:32,200
ABRRFD | JAL JAL | KMITM | ITMSDJ 31,200 57% | FJKA:29.900, £+ H:32,200
AR R | JAL JAL | SDJITM | ITMKOJ 27,100 65% | F:27.700, JKA:25,600, %:32,200, +£:29.400, H:29.500
ABRRFD | JAL JAL | KOJITM | ITMSDJ 31,000 59% | F:29,600, 7K A:28,400, £:32,200, +:32,100, B:31.700
KR (B[ JAL JAL KIITM | ITMIZO 23,800 63% | F:23.000
KBR (FFD| JAL JAL 1ZOITM | ITMKIJ 23,800 63%
KR (B[ JAL JAL KIJITM | ITMMYJ 20,200 67% |7k A:20,400, £:21,700, £:19,500. H:20.600
KBR (FFD| JAL JAL | MYJITM | ITMKIJ 22,200 64% |7} E 900
KR (B[ JAL JAL KIJITM | ITMOIT 23,500 64% |&: 4,900, H:22,900
KBR (R JAL JAL OITITM | ITMKIJ 24,500 62% 3:25,300, 7K:22,700, K:22,100, £:28,000, 1:24,600
KRB JAL JAL KIJITM | ITMNGS 22,000 70%  |£:24,000, £:23.400, H:23,600
KRER(RFH | JAL JAL [ NGSITM | ITMKIJ 26,800 63% | F:27.800, 7K:24,200, K:22,900. #:29,100, H:28,300
AR R | JAL JAL KIITM | ITMKMJ 24,000 66% | H:25.300, £ :23.600
KRER(RFHD | JAL JAL [ KMJITM | ITMKIJ 27,300 61% [H:27,900, 7k 4 28,800, £:27,700
KRB JAL JAL KIJITM | ITMKMI 25,600 63% |7k A:25.200,
KBR (FFD| JAL JAL [ KMITM | ITMKIJ 28,600 59% |7k 7K:26,000. 4
KRB JAL JAL KIJITM | ITMKOJ 25,900 65% :24,600. .300, H:24,800
| KBR (FFD| JAL JAL [ KOJITM | ITMKIJ 26,200 65% 27, 7,600, 1:28,600, H:28,800
M =FE L INAFE RCRA)|  JAL JAL | KMQHND [ HNDOKJ 24,700 65% | F:24.000, 4
[GHIE:S RCPHE)|  JAL JAL | OKJHND [HNDKMQ| 23,800 66% | F:23.900, K
IMA=IEE AT RCHE)|  JAL JAL _|KMQHND| HNDHIJ 25,500 64%
INEES ROPHE)| JAL JAL | HIJHND [HNDKMQ| 25500 64%
IMA=ILAFER IS RCHE)|  JAL JAL | KMQHND [ HNDUBJ 22,000 71% | H:22,100, A:24,600, £:25,200, 1:24,100. H:27,100
WOFER%E "G JAL JAL | UBJHND [HNDKMQ| 22,500 70% | A£:28,600, 1
IMA=HE INAFE RCHE)| JAL JAL _|KMQHND| HNDIZO 27,100 60% A A:28.200, £ +£:28,000, H:27.900
HE FCRE)| JAL JAL | IZOHND [HNDKMQ| 27,900 59% | F:28,300, A:28,000, %+ H:29,100
IMA=TEE INAFE HCHE)|  JAL JAL | KMQHND [ HNDTKS 26,000 62% | A:26.500, +:25,900, H:25.700
EES RCRE)| JAL JAL | TKSHND [HNDKMQ| 26,200 62% | A%+ H:26,900
IR AN FE RCRA)|  JAL JAL _|KMQHND [ HNDTAK 25,300 63% | FH:25,000, £:25,600, 1:25.100
EnFE RCPHE)|[  JAL JAL | TAKHND [HNDKMQ| 25,100 64% | K€+ H:27,900
IMA=EH IS HOHHE)|  JAL JAL | KMQHND [ HNDKCZ 28,200 60% [£:28,300, £:27,900, H:28,600
1% ROEE)| JAL JAL | KCZHND [HNDKMQ| 28,400 60% | A%+ H:30,700
M= IS HOHHE)|  JAL JAL | KMQHND [ HNDMYJ 29,100 60%  [£:29.300, H:29.400
NITES HCHA)| JAL JAL | MYJHND [HNDKMQ| 28,600 60% [A£+ H:31,500
=LA IS ROHHE)|  JAL JAL | KMQHND | HNDKKJ 28,500 63% |&A: t:25,.900
FCRE)| JAL JAL | KKJHND [HNDKMQ| 26,300 66% & 26,700, H:27,200
IMNE=K5 = )| JAL JAL | KMQHND | HNDOIT 25,500 67% & 5,300, H:26,100
= )| JAL JAL | OITHND [HNDKMQ| 27,000 65% K- > £ H:29,400
M=K 5 )| JAL JAL _|KMQHND|HNDNGS|  27.100 66% A :27.900, £:27,700, H:26,900
3 )| JAL JAL | NGSHND [HNDKMQ| 26,300 67% . %:32,000, +:30,800, H:31,300
IMA=RER = )| JAL JAL | KMQHND | HNDKMJ 25,400 67% :25.600, A:25.900, & 5,700, H:27,500
= )| JAL JAL | KMJHND [HNDKMQ| 26,300 66% | H:27.100, 7K:26,500, A:
IME=E B = )| JAL JAL | KMQHND | HNDKMI 23,700 70% | F:24.600, A 1:25,000, £:25.500,
= )| JAL JAL | KMIHND [HNDKMQ| 25,000 68% | F:26,300, A:29,700, % +:29,800.
IMA=RER 5 )| JAL JAL | KMQHND [ HNDKOJ 17,500 78% &1 H:19.700
= JAL JAL | KOJHND [HNDKMQ| 18,500 77% + 8:20,500
IMA=EH JTA _|JTA/RAG| KMQOKA | OKAMMY | 34,500 55% | A H:34.600, A& 1:37,600
JTA/RAC| JTA |MMYOKA[OKAKMQ| 35000 54% | F H:35,300, A& t:
IMA=F1E JAL JAL _|KMQHND | HNDISG 35,200 67% | H£:35300, &
JTA _|[JTA/RAC|KMQOKA| OKAISG 35,100 58% | A% +:38,600
JTA/RAG| JTA | ISGOKA | OKAKMQ|  35.400 57% A
EL=2% JTA__|JTA/RAC| OKJOKA |OKAMMY | 33,300 51% |H
JTA/RAC| JTA |MMYOKA| OKAOKJ 33,300 51% |A
L =F1E JTA _|[JTA/RAC| OKJOKA | OKAISG 33,700 55% | A3
JTA/RAG| JTA | ISGOKA [ OKAOKJ| 33,700 55% [H:
EH=25 JAL JAL [ KCZFUK | FUKKMI 23,200 61% &
ElGES & JAL JAL | KMIFUK | FUKKCZ | 23,200 61% | H .
R =FF (ME@BR(EZRE)| JAL JAL [ OKAHND | HNDAOJ| 32,500 65% | F1:34,.600, K
ABR(RF | JAL JAL | OKAITM | ITMAOJ 34,400 63% |H:34.600, &
AR FCRE)| JAL JAL | AOJHND [HNDOKA| 33,100 64% |F:33,900, 1
| RBR (FFH | JAL JAL | AOJITM | ITMOKA 27,400 71%  [£:27,800, 1
SRR (RER) ==iR [ GRH) FE|RFCHE)|  JAL JAL [ OKAHND | HNDMSJ| 30,500 67% | F1:33,600, £:31,700, +:32,800, H:32,600
R¥E |HR(CHHE)| JAL JAL | MSJHND [ HNDOKA| 33,100 64% | £:33.700, H:32,300
HEGRR) =ME [HAE@BR(EZRE)| JAL JAL | OKAHND [ HNDAXT | 29,900 65% | /9:33,000, £:31,300, +:26,100, H:28,900
ABR(RF | JAL JAL | OKAITM | ITMAXT 33,200 62% | F:34.300, £:35.200, 1:32,800. H:37.200
HER HCHEA)| JAL JAL [ AXTHND [ HNDOKA| 33,400 61% | £:35500, +:29,800, H:28,500
ABR R JAL JAL | AXTITM [ ITMOKA 26,500 70% | H:27.500, £:27,000, 1:29,600




HEGRE) =15 [HE@B) R ARUEFD|  JAL JAL | OKAITM | ITMHNA 37.900 58% | +:37.500
12 JTA JAL | OKAFUK | FUKHNA| 37,900 60%
s [ XBREED] JAL JAL | HNAITM | ITMOKA 33,200 64% | A% H:34,000, kA:31,900, £:32,900
B i) JAL JTA | HNAFUK | FUKOKA 37.900 60%
HEGBR) =L [(AE@BR[(EZRE)|  JAL JAL | OKAHND | HNDGAJ 26,200 66% | A H:29,000, A:25,900, £:27,100, +:28,200
ABR(RFD | JAL JAL | OKAITM | ITMGAJ 35,800 59% | H:36.000, 7k:37.200, % H:37.200, £:34,200
i Z3 HCHAE)| JAL JAL | GAJHND | HNDOKA 27,500 64%  |£::30,000, £:29,600, H:29,000
KER(E| JAL JAL | GAJITM | ITMOKA | 29,200 66% ,
REGB) =WE [MRE@HRR_ERA JTA JAL | OKAFUK | FUKSDJ 33,500 64% | F:32,000, 7K:32,900, :36.400. % 1:36,500. H:39.200
x| JAL JAL | OKAITM [ ITMSDJ 39,100 54% | F:36,100, 7KA:35,500, % H:39,200, 1:32,400
(=3 JAL JTA | SDJFUK | FUKOKA 34,800 62% | FA:33,300, 7k:34,000, £:35400, 1:33,500. H:36,900
JAL JAL | SDJITM [ ITMOKA | 28,000 67% | F:28,500, £:28,300, 1:29,600, H:30,300
REGRE) =/Me [MER) R(E JAL JAL [ OKAHND [HNDKMQ| 27,400 67% | F:29.500., £:28400, +:27,700, H:29,900
IS JAL JAL [ KMQHND [ HNDOKA 28,600 65% | H:28,800, % 1:29,200. H:28.900
EAB) =2 ME@BR K| E@ JTA JAL | OKAFUK | FUKKGZ 25,900 62% | A&+ H:26.300
[SEE 8 JAL JTA | KCZFUK | FUKOKA 25,900 62%
REGE) =L ME@BR K| E@ JTA JAL | OKAFUK | FUKMYJ 24,500 62%
NS 2 JAL JTA | MYJFUK | FUKOKA | 24,500 62%
RERPE) =8XXB|RRCHE | _ER JAL JAL | HNDKOJ | KOJASJ 28,900 65% | F:31,200, A:30,800, £:31,700. £:31,900, H:31,500
ABRURF | JAL JAL | HNDITM | ITMASJ 37.300 52% | H:37.900, A£:37,700, £:37,200
BEREH | BR JAL JAL__| ASUKOJ [ KOJHND | 30,300 63% | H:31,200, 7k:31,100, &:35,400, £:37,400, + H:35,700
ABRURF | JAL JAL | ASJITM [ ITMHND 36.600 53% | £:36.900, +:34,000, H:36.400
FR(HB)=ERB|ZRPI X[ _ER JAL JAL [ HNDKOJ | KOJKKX 32,600 60% | F:34,100, A:35,300, £ +:35700, H:36,000
EXE | JAL JAL | HNDASJ | ASJKKX 39,500 45% |AA% 1 H:45.700
ERBR IR JAL JAL | KKXKOJ | KOJHND 35,700 56% | A:40,000, £ H:41,100, +:40.800
EIN JAL JAL | KKXASJ [ ASJHND 39,500 45% | AA#£ 1 H:45.700
FR(HB)=fzB|"RR (P X[ _ER JAL JAL [ HNDKOJ | KOJTKN 37,400 57% | FA:39,300, £:40,200, +:41.400, H:39,700
EEAS | JAL JAL | HNDASJ | ASJTKN 40,700 47% | AA£ 1 H:45.700
B BR ER JAL JAL | TKNKOJ | KOJHND | 38,800 55% | F:39,700. 7K:39,600, A: % £ H:44,200
REORE) =94k R RRCHE) | ER JAL JAL | HNDKOJ | KOJOKE 38,800 55% | FH:40.200, A:43.100, £ 42,800, H:41,800
Pk RERSE | EEIR JAL JAL [ OKEKOJ|KOJHND | 42,600 51% | F:41,100, 7K 46,300, 1+ H:45,600
RRCHE) =5 [RR(RE) | BR JAL JAL | HNDKOJ | KOJRNJ 39,900 55% | F:41.300, 4 44,000, H:41,900
#h ER JAL JAL__| RNJKOJ [ KOJHND | 41,300 54% |A:45,600, % . £:46,400
KB () =BERB| AR (FF) %] ER JAL JAL | ITMKOJ | KOJASJ 27,000 60% | F:27.600, 7K A:25,000, £:27.500, 1:26,700. H:27,700
EEAER | BER JAL JAL | ASJKOJ | KOJITM 27,100 59% | F:27.400, 7K:26,300, A:27,200, %:29,500, +:26,600, H:26.800
KR (B =ERB| KR (FFH | _ER JAL JAL | ITMKOJ | KOJKKX 32,200 51% | 7kA:30,900. £:33400, + H:32.800
BEAE | AL JAL | ITMASJ | ASJKKX | 35,800 39%
ERER ER JAL JAL | KKXKOJ | KOJITM 32,500 51% | F:32.800, 7k:31,700, A+ H:31.800, £:33.200
WEKXSE | JAL JAL | KKXASJ | ASJITM 31,700 46%
KR (B =B XR(EFMH| ER JAL JAL | ITMKOJ | KOJTKN 35,500 50% | F:36.100, 7kA:34,000, £:36,500. £ H:36.200
BB e R JAL JAL | TKNKOJ | KOJITM 35,600 50% | F:35.900, 7K:34,800, A:34,900, %:36,300, +:35,100, H:35.300
EERE | JAL JAL | TKNASJ | ASJITM 34,500 46%
KR () =k BE| KRR (FFH | BR JAL JAL | ITMKOJ | KOJOKE 36,700 49% _7k:35.400, A+ H:37.800, £:40.300
KRS | BER JAL JAL | OKEKOJ | KOJITM 38,700 46% | F:37.300, 7K:36,200, A:37,100. #:38,500. + H:36,300
AR (B =5# |KR(EHR_ER JAL JAL | ITMKOJ | KOJRNJ 37,800 49% |7k K:36,500, £+ H:39,000
EERE | JAL JAL | ITMASJ | ASJRNJ 41,300 42%
ki EER JAL JAL | RNJKOJ | KOJITM 38,100 49% | F:38.400, 7K:36,900, & H:37,400, %:38,800, 1:36,000
BE=EXKE L GES BR JAL JAL | FUKKOJ | KOJASJ 22,000 61% JKA£+:21,500. H:23,300
BEXEH | BR JAL JAL__| ASUKOJ | KOJFUK | 22,000 61% | A:22,400, £:23,700, + H:27.300
BEE=ER5 (RS ER JAL JAL | FUKKOJ | KOJKKX 27,400 51% | £:28.300, H:29.300
WEKXSE | JAL JAL | FUKASJ | ASJKKX | 31,400 42%
ERER | ®EXE | JAL JAL | KKXASJ | ASJFUK 31,400 42%
BRE=f28 [EEES IR JAL JAL | FUKKOJ | KOJTKN 30,500 50% |+ H:31,700
EERE | JAL JAL | FUKASJ | ASUTKN 34,200 42%
BeBR ER JAL JAL | TKNKOJ | KOJFUK | 30,500 50% |t H:31,700
EERE | JAL JAL | TKNASJ | ASJFUK 31,700 46%
FR(HB)=5RE|R=(HE) [ AR EBH)| JAL RAC | HNDOKA [ OKAOGN| 34,700 62% | F:35.900, A:31,800, £:34,800. 1:34,500. H:35.800
RiE JAL RAC | HNDISG | ISGOGN 32,500 64% | A€+ H:38,100
5;RESH [ h#EGRH)| RAC JAL | OGNOKA | OKAHND 34,700 62% | F:35.900, A:31,800, £:34,800. 1:34,500, H:35.800
hiE RAC JAL | OGNISG | ISGHND 32,500 64% | A€+ H:38,100
KR () =5 RE | XBR () S (BBE) | JAL RAC | ITMOKA | OKAOGN 38,200 54% | F1:38,400., £:37,600, 1:36,600, H:38,900
SHESH [ (EH;H)| RAC JAL | OGNOKA| OKAITM 38,200 54% | F:38,400, £:37,600, 1:36,600, H:38,900
KBz (B#E) =5 3RE | KBx (BITE) 50 (BE) | JTA RAC | KIXOKA | OKAOGN 38,900 53%
RiE JTA RAC | KIXISG | ISGOGN [ 39,300 49%
5RESH [ hEGERH)| RAC JTA | OGNOKA| OKAKIX 38,900 53%
RiE RAC JTA | OGNISG | ISGKIX 39,300 49%
B (PED) = SINE| a2 (PE) M GRE) | JTA RAC | NGOOKA|OKAOGN| 39,900 55%
RiE JTA RAC | NGOISG | ISGOGN | 40,300 51%
5;RESH [ hEGRH)| RAC JTA | OGNOKA| OKANGO 39,900 55%
RiE RAC JTA | OGNISG | ISGNGO | 40,300 51%
fElLL =5 ARE RS [ AEERE3)| JTA RAC | OKJOKA | OKAOGN 33,800 59% | A%:34,000
SHES [ (EH;H)| RAC JTA | OGNOKA| OKAOKJ| 34,000 59%
=i =5RE EBEE [HEEB)| JTA RAC | FUKOKA [ OKAOGN| 35,500 52% | F1:34,000, A
SHEFE G| RAC JTA | OGNOKA| OKAFUK 35,500 52% | F:34.000, 4
REE) =5MEFEAF | FHIE [ITA/RAC| RAC | OKAISG [ ISGOGN 13,000 70% | F:13,200, 4
S5HEFE | A\ RAC |JTA/RAC| OGNISG | ISGOKA 13,000 70%  [H:13.200, A :
RRCHE)=AXKS|[ERCRA) F[A48F:;) | JAL [JTA/RAC| HNDOKA | OKAUEO | 26,400 61% | F:28,100, A:24,700, #:
AK |48 (FRER) [mavorarac] JAL [ UEOOKA| OKAHND | 26.400 61% | F:28.100, A:24,700. #:
KR () = A KB XBR (FFD) %[44 (BF) | JAL [JTA/RAC| ITMOKA [ OKAUEO| 28,000 52% | F:28,600, A:28,200, %&:
AKEFE [ (FE) [avorvme]  JAL | UEOOKA [ OKAITM 28,000 52% | F:28,600, A:28,200, £:27,600. 3
KRR (BSTE) = A K & | ABR (B8 78) %448 (%) | JTA [JTA/RAG| KIXOKA [ OKAUEO| 31,800 46% | A%+ H:33,600
AXEFE [ GERE) [avravme]  JTA | UEOOKA [ OKAKIX 31,800 46% A%+ H:33,600
Z2HE () = AKE|[2HE (P ;P48 (BT | JTA [IJTA/RAC|NGOOKA| OKAUEO| 33,200 48% | F1:33.800. 7K:33.600. A% £:36,000. H:35,800
AXESE [ FRE) [avravme] JTA [UEOOKA|OKANGO| 33,200 48% [H:33.800. 7k:33,600, A +:36.000, H:35,800
BRE=AKE BE% [H@GRE)| JTA [JTA/RAC| FUKOKA | OKAUEO| 27,100 46% A&t
AXEZ |48 (FRE) [mvurarac] JTA | UEOOKA | OKAFUK 27,100 46% | K&+
FRCHE) =R [RRCER[KERWEFED|[ JAL JAL [ HNDITM | ITMOKI 25,800 55% | A A H:26,000, +:25.200
HE JAL JAL | HNDIZO | 1ZOOKI 29,000 46% | F:29.700, A:29.300, £:29,500. £:30.400, H:29,900
[Riks [ KBRGEFD| JAL JAL OKIITM | ITMHND 24,800 57% |+ H:24,100
HE JAL JAL | OKIIZO [ IZOHND 28,600 46% | F:30,700, A £:31,200, £:30.200, H:29.100
HER (BT =38 (FRER) [ KB (FFD) | JAL JAL [ OKAITM | ITMKIJ 35,800 57% |F:36,000, 7kAK:33,200, £:36,300, £:34,900, H:40,200
FRE [KARED] JAL JAL KIJITM | ITMOKA 27,000 68% | £:26.900, +:28,000, H:26.000




BRI =A% (FHF) |__EER 3 JAL JAL | FUKHND | HNDSPK | 38,300 58% | F1:38.900, A:40,300, #+:40,800, H:38,100
FLOR (37 F i) 3| JAL JAL | SPKHND | HNDFUK 37.200 59% | H:37.800, A:38.200, % H:40,800, 1:39.800
HH =5 BT JAL JAL | AOJSPK | SPKMMB 22,100 61%  [skAK:21,100, H:22,300
SRS JAL JAL | MMBSPK | SPKAOJ 22,100 61% kAF 1 H:22,500
ME=%#5 FUEF JAL JAL [ AXTSPK | SPKMMB| 22,500 63%
ESRE JAL JAL | MMBSPK | SPKAXT 22,500 63%
ZHE(FE) =F/h B aE (P %R JAL JAL _[NGOHND|HNDOBO| 30,400 50% |A%:32,100, £:33,000, H:30,300
L JAL JAL | OBOHND|HNDNGO| 25,800 66% | A<:28,100, £:28500, H:29.400
AR (FE) =18)I| & &2 (P % JAL JAL | NGOHND | HNDAKJ 29,300 62% |A:32,800, £:34,100, £:34,300, H
JENTE: JAL JAL | AKJHND [ HNDNGO 24,100 68% | A:25.800, 4 26,200
B =% 5] ST 5 JAL JAL | TAKHND [HNDMMB| 38,700 58% £:41,800, 1:43,000,
SR 5 JAL JAL _|MMBHND | HNDTAK 38,100 59% 39,400, H:41,300
EE=%wmR B 5 5 JAL JAL [ TKSHND [HNDMMB| 40,000 57% 42,500, £:43,700, B:41,400
SR 5 JAL JAL _|MMBHND | HNDTKS 39,800 57% . £:40,600, 1:39,600, H:42,300
K =%iwmR] Nk 5 JAL JAL | OITHND [HNDMMB| 23,400 77% 4 :24,400
S 5 JAL JAL _|MMBHND | HNDOIT 23,400 77% 400
RIG =25 RIGH 5 JAL JAL _[NGSHND [HNDMMB| 23,900 77% ,000
i Bl 5 JAL JAL _|MMBHND [ HNDNGS 23,900 77% .000
BEAR=%ER] REA S 5 JAL JAL [ KMJHND [HNDMMB| 23,900 76% ,000
ESE 5 JAL JAL _|MMBHND [ HNDKMJ 23,900 76% 5,000
B =% R =I5 5 5 JAL JAL [ KMIHND [HNDMMB| 23,900 76% 5,000
i Bl 5 JAL JAL _[MMBHND | HNDKMI 23,900 76% ,000
BRE=%5| BERESR 5 JAL JAL [ KOJHND [HNDMMB| 23,900 77% ,000
i Bl 5 JAL JAL _[MMBHND [ HNDKOJ 23,900 77% :25,000
AMFFR) =BERS AR FHTFR) %[ R5 JAL JAL | SPKHND | HNDASJ| 49,100 53% A:54,100, % £:54,400, B:54,200
EEIN-THES JAL JAL | ASJHND | HNDSPK | 48,000 54% | F:53.000, A&:53,800, £ H:54.400, 1:52.100
EH=EEXE BEHFE 5 JAL JAL [ AOJHND | HNDASJ 45,200 55% | A +:51,000, A% H:50,200
EESN-THES JAL JAL | ASJHND | HNDAOJ| 45,200 55% | F:51,000, A1:50,200, £ H:51,900
ME=EXXE FEF 5 JAL JAL [ AXTHND | HNDASJ 46,500 50% | F:51,500, A:51,200, £:51,100, £ H:46,600
EESN-THES JAL JAL | ASJHND | HNDAXT | 43,400 53% | F%:49400, A:48400, 1 H:45400
IMA=BEXE MR FE 5 JAL JAL | KMQHND | HNDASJ 40,800 54% | F%:45900. K:453800. 1 H:45,700
EESN-THES JAL JAL | ASUHND [HNDKMQ| 40,900 54%
Ein=4l% EnFE 5 JAL JAL | TAKHND | HNDKUH 38,400 57% 42,900
ElEES 5 JAL JAL | KUHHND | HNDTAK | 39,100 57% 43,400
R =1 EES 5 JAL JAL | TKSHND | HNDKUH 39,700 56% 43,700
Bl 5 JAL JAL | KUHHND | HNDTKS | 40,800 55% 44,400
K= N 5 JAL JAL | OITHND | HNDKUH 22,400 77%
ElEES 5 JAL JAL | KUHHND | HNDOIT 22,400 77%
RIG=2% IG5 5 JAL JAL [ NGSHND | HNDKUH 22,900 77%
ElEES 5 JAL JAL | KUHHND [ HNDNGS| 22,900 77%
A= REAS 5 JAL JAL [ KMJHND | HNDKUH 22,900 77%
EllZE 5 JAL JAL | KUHHND [ HNDKMJ| 22,900 77%
EE=3% EI5F 5 JAL JAL | KMIHND | HNDKUH 22,900 77%
Bl 5 JAL JAL | KUHHND | HNDKMI 22,900 77%
FEEEST BERE%R 5 JAL JAL [ KOJHND | HNDKUH 22,900 77%
Bl 5 JAL JAL | KUHHND | HNDKOJ 22,900 77%
LB=%Ik LE% 5 JAL JAL | HIJHND [HNDOBO| 37,900 58% £:40,500, +:41,400, H:38,400
LR 5 JAL JAL | OBOHND| HNDHIJ 33,100 63% ,700, £:34,000, H:37.400
B =k EHAE 5 JAL JAL | TAKHND [HNDOBO| 41,700 53% 44,600, £:45500, H:42,800
L 5 JAL JAL [ OBOHND | HNDTAK 36,800 59% 7,200, :39,000, £:39,500, +:39,400, H:40,800
BE=%k EES 5 JAL JAL [ TKSHND [HNDOBO| 43,000 52% 45,300, £:46,200, B:43,500
LR 5 JAL JAL | OBOHND [ HNDTKS 38,500 57% 700, 7A:41.100, £:40,700, £:40,900, H:41,800
AA=%Ik xS 5 JAL JAL [ OITHND [HNDOBO| 22,000 77%
LR 5 JAL JAL | OBOHND | HNDOIT 22,000 77%
RIBG=%Ik RIGSE 5 JAL JAL _[NGSHND [HNDOBO| 22,500 78%
LR 5 JAL JAL _|OBOHND|HNDNGS| 22,500 78%
BAR=%L BEAS 5 JAL JAL [ KMJHND [HNDOBO| 22,500 77%
LR 5 JAL JAL | OBOHND| HNDKMJ| 22,500 77%
BE=%5 EIEF 5 JAL JAL [ KMIHND [HNDOBO| 22,500 77%
LR 5 JAL JAL | OBOHND | HNDKMI 22,500 77%
BERE=%IL ERE%R 5 JAL JAL [ KOJHND [HNDOBO| 22,500 78%
LR 5 JAL JAL | OBOHND [ HNDKOJ 22,500 78% 123,500
BI=E JENIES 5 JAL JAL | AKJHND | HNDTAK 37.300 59% :37.900, 7K:38,600, £:40,200, +:40,700, H:40,900
EIRE 5 JAL JAL | TAKHND | HNDAKJ 39,000 57% | A:44.600, &
EHEE=ER BEEF 5 JAL JAL | HKDHND | HNDTAK| 37,200 54% | F:37.700, K
ERR 5 JAL JAL | TAKHND [ HNDHKD | 37.200 54% | A:38.700, &
=S BAESE 5 JAL JAL [ HKDHND | HNDTKS 38,900 52% | F:39.400, K
BER = JAL JAL | TKSHND | HNDHKD | 38,600 52% | A:39.500, £
FR(ER)=2R [ER(PHE) % JAL JAL | HNDHKD | HKDOIR 25,000 59% [H:25,500, K: 28,500, :30,100, H:26,300
RFR R JAL JAL | OIRHKD | HKDHND 25,000 59% |H:25,500, K . £:26,200, 1:26,600, H:28,200
AR () =B8R R JAL JAL | OIRHKD | HKDITM 27.400 61% | H:28,300, £ H:28,700
REORE) =RE MR8 % JTA JAL | OKAFUK | FUKTKS 28,700 58% | F:27.200, A%+ H:28,800
EEF JAL JTA | TKSFUK | FUKOKA | 28,800 58%
BIN=fE8 BINFE |[HR )| JAL JAL | AKJHND | HNDTKS 39,000 57% | F:39.400. A&+ 0:40,500
#Ee% |®Hs5 )| JAL JAL | TKSHND | HNDAKJ 39,600 56% | A H:40,200, A% +:40,500
BIN=K5 JENEES: )| JAL JAL | AKJHND | HNDOIT 21.400 78% |1 H:22.400
A% |®E3 )| JAL JAL | OITHND | HNDAKJ | 21,400 78% &+ H:22,400
FIR(EX) =B8R (LR (F3) JAL JAL | OKDHKD | HKDOIR 17,600 56% 14,600
HR%E | EE JAL JAL | OIRHKD | HKDOKD 17,600 56% 17,100, H:14,600
ElEEET SlExFE [FLR(EER| JAL JAL | KUHOKD | OKDHKD 19,700 59%
BfER  [FIR(EX)| JAL JAL | HKDOKD | OKDKUH 19,700 59%
fiEx==iR &) FLIR(E3) | JAL JAL [KUHOKD | OKDMSJ| 23,700 57% | H:21.900
3 JAL JAL | MSJOKD | OKDKUH| 23,700 57%




FIR =t JAL JAL | RISOKD | OKDHKD 23,700 53% |£:21,700
JAL JAL | HKDOKD | OKDRIS 23,700 53% |H:20,500
FR=8% E JAL JAL [ KUHOKD | OKDRIS 23,700 57% | F:20,500, H:21,700
= MER B JAL JAL | MSJOKD | OKDRIS 23,600 59%
BERE=RJI EREHR 5 JAL JAL | KOJHND | HNDAKJ 21,900 79% ,900
5 JAL JAL | AKJHND [ HNDKOJ| 21,900 79% 2,900
RIG=1HeJI| 5 JAL JAL | NGSHND| HNDAKJ| 21,900 79% 2,900
5 JAL JAL | AKJHND [HNDNGS| 21,900 79% ,900
A= 5 JAL JAL | KMJHND | HNDAKJ | 21,900 78% ,900
5 JAL JAL | AKJHND [ HNDKMJ| 21,900 78% 22,900
B =8I 5 JAL JAL | KMIHND | HNDAKJ | 21,900 78% 22,900
= JAL JAL | AKJHND | HNDKMI | 21,900 78% ,900
FR(HB)=XE [ER(PHE) R JAL JAL [ HNDKMJ | KMJAXJ 21,700 64% | A& :23,100
XEH JAL JAL | AXJKMJ [ KMJHND | 22,700 62% | FA:23500, 7K:22,200, ARt H:26.600
R CRE) % JAL JAL | HNDFUK | FUKAXJ | 27,600 58% :30,400, +:29,000, H:28,200
REHE JAL JAL | AXJFUK [ FUKHND | 31,100 53% | F:31,300, £:32,800, 1:30,300, H:30,900
KB (FFH =XE [ KRR (P % JAL JAL | ITMKMJ | KMJAXJ 20,500 53% | F:21.100
KEH JAL JAL | AXJKMJ | KMJITM 20,500 53% |H:21,100
KB (R F1) 5 JAL JAL [ ITMFUK | FUKAXJ 19,600 59% | JKAH:19,500
XER JAL JAL | AXJFUK | FUKITM 20.400 57% | £:21.600, H:21.200
FLIRFFR) =XKE [4LR G T%) % = JAL JAL | SPKFUK | FUKAXJ 34,100 59% |F:35.400,
JAL JAL | AXJFUK | FUKSPK | 34,100 59% | FH:35,400, +:36,700
BEAE=/PKRE| BEEXER JAL JAL | ASJTKN | TKNOKE 11,900 60%
JAL JAL | OKETKN | TKNASJ 11,900 60%
E2BE=RNE) | _Bre% JAL JAL | TKNOKE | OKEOKA| 15,600 59%
JAL JAL | OKAOKE [ OKETKN | 15,600 59%
FROHB)=BFB([Ex(PHE) % JAL JAL [ HNDKOJ | KOJTNE 31,000 53% |/k:34,000, £:36,400, £:35.000. H:36,000
B JAL JAL | TNEKOJ [ KOJHND | 31,500 53% [%:34,000. H:35.000
FR(HB)=BAB|[EZ(PAH) % I JAL JAL | HNDKOJ|KOJKUM| 36,000 47% | F:35,000, 7k:37,000, A:39,500, £ +:41,000
A5 U JAL JAL | KUMKOJ[KOJHND | 35,000 48% | F:39,000, 7KA:32,000, £:38,000, +:34,000, H:41,000
KR (B =B S F U5 JAL JAL [ ITMKOJ [ KOJKUM 28,000 47% | A:30,000. £:32,500, 1:31,500, H:29,000
25 I3 JAL JAL | KUMKOJ | KOJITM 27,500 48% 28,000, £:31,000, 1:29,000, H:33.000
EX JAL JAL | OKAASJ | ASJKOJ| 32,000 48% £:33,700
I3 JAL JAL | FUKKOJ [ KOJKUM| 18,000 58%
JAL JAL__| KUMKOJ| KOJFUK | 18,500 57%
EE=EF5 JAL JAL | FUKKOJ | KOJTNE 17,000 59%
JAL JAL__| TNEKOJ | KOJFUK | 17,500 58%
RE=1I JAL JAL | HIJHND | HNDAKJ 36,700 60% £:43,100, H:36,200
JAL JAL | AKJHND | HNDHIJ 33,200 64% 36,400, 1:35,300, H:37,200
B =21 JAL JAL | MYJFUK | FUKKMI 20,300 63% | F:19.600, &: 21,700, H:20,600
JAL JAL | KMIFUK | FUKMYJ| 17,900 68% |2 H:19,200, £:19,600
PRI =BEXE JAL _|RAG/JAL| ASJRNJ | RNJOKA 22,400 48%
BR =K JAL JAL | OIROKD | OKDHKD| 18,000 61% |t H:15,000
JAL JAL | HKDOKD | OKDOIR 18,000 61% |+ H:15,000
SHR=8XAE JAL/RAC] JAL | RNJOKA [ OKAASJ 17,200 65%
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